Notice for appointment of Regular / Rural Retail Outlet Dealerships

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	Minimum [Dimension (in site (in Sq. N	M.)/Area of		be arranged applicant	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			- ·	MS+HSD in Kls	SC, SC CC-1, SC CC-2, SC PH, ST, ST CC- 1, ST CC2, ST PH, OBC, OBC CC-1, OBC CC-2, OBC PH, OPEN OPEN CC -1, OPEN CC -2, OPEN PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO	of	Draw of Lots / Bidding		
1	Village-Lamba Hari Singh, Tehsil-Malpura	ТОЛК	RURAL	85	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
2	VILLAGE 32-F, TEHSIL SRIKARANPUR	SRI GANGANAGAR	RURAL	30	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
3	SABALPUR, Tehsil -Makrana	NAGAUR	RURAL	90	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
4	Village Jethliya Tehsil Peepalkhoont	PRATAPGARH	RURAL	156	ST	CFS	35	35	1225	0	0	Draw of Lots	0	2
5	VILLAGE AKOLA TEHSIL BHINDER	UDAIPUR	RURAL	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
6	Village Karanpur Tehsil-Sapotara	KARAULI	RURAL	40	ST	CFS	35	35	1225	0	0	Draw of Lots	0	2
7	Between Village Dikolikala and Dabara on Kudgaon to Sapotara road	KARAULI	RURAL	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	2
8	PAGARIA TO AWAR ROAD (BETWEEN AWAR TIRAHA & AAHU NADI),TEHSIL-GANGDHAR	JHALAWAR	RURAL	55	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
9	Within 3 KM from Hasteda towards Malikpur, RHS while moving from Hasteda to Malikpur	JAIPUR	RURAL	80	ST	CFS	35	35	1225	0	0	Draw of Lots	0	2
10	Between Padasoli to Shakun on Shakun Road	JAIPUR	RURAL	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	2
11	Between Naraina to Roopangarh on MDR 85 (Within Jaipur district)	JAIPUR	RURAL	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
12	Nimod	SIKAR	RURAL	80	ST	CFS	35	35	1225	0	0	Draw of Lots	0	2
13	Village Kerwa Jat, Tehsil Alwar	ALWAR	RURAL	110	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
14	Village: Paladi Parsa, Tehsil- Sanganer	JAIPUR	RURAL	105	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2

Bharat Petroleum Corporation Limited proposes to appoint Retail Outlet dealers in Rajasthan as per following details:

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		Dimension (in site (in Sq. M	· ·		be arranged applicant	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7		8		9a	9b	10	11	12
15	Village Bhairana, Post Bichon, Tehsil Mozmabad	JAIPUR	RURAL	130	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
16	Village Besroli Tehsil Makrana	NAGAUR	RURAL	65	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
17	Village mokanpura within 1 km from lions eye hospital on RHS on rani to mundara road.	PALI	RURAL	65	ST	CFS	35	35	1225	0	0	Draw of Lots	0	2
18	WITHIN 2 KM FROM PSC RAMPURIYA DADIYA HOSPITAL ON KOTA - SAWAI MADHOPUR ROAD,TEHSIL-PIPALDA	КОТА	RURAL	75	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
19	Village Tora, Teh-Bamanwas	SAWAIMADHOPUR	RURAL	110	ST	CFS	35	35	1225	0	0	Draw of Lots	0	2
20	VILL BHATWARA ON MDR 12 Tehsil Dhariawad , DHARIYAWAD SALUMBER ROAD	PRATAPGARH	RURAL	120	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
21	4 kms from Govt.Upper primary school, Village Santha, Toward Nithar	DAUSA	RURAL	95	ST	CFS	35	35	1225	0	0	Draw of Lots	0	2
22	Upto 5KM from Malakhera Tiraha towards Laxmangarh on SH-44 (LHS)	ALWAR	REGULAR	103	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
23	Between km stone no. 128-135 on LHS(While travelling from Delhi to Jaipur Road) on NH8	ALWAR	REGULAR	160	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
24	Village Maid Rajsinghpura, Jamwa Ramgarh to Andhi Road (SH55)	JAIPUR	REGULAR	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
25	On NH-458(old NH-65A) towards Degana upto 10 KM on either side (from intersection of NH-89)	NAGAUR	REGULAR	155	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
26	Degana on SH-60 towards Ajmer	NAGAUR	REGULAR	105	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
27	kalwa SH-2B upto 5KM either side Tehsil Makrana	NAGAUR	REGULAR	110	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
28	Mau on SH-37	SIKAR	REGULAR	130	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
29	Shiv Singhpura on SH-8	SIKAR	REGULAR	130	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
30		BARMER	REGULAR	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
31	BETWEEN KM STONE NO. 35 TO 40 ON LHS ON NH 25 ON BARMER- JODHPUR ROAD	BARMER	REGULAR	152	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
32	On LHS of Bikaner- Jaisalmer Road (NH no. 11) between 345 to 339 km stone	BIKANER	REGULAR	154	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
33	On either side of NH 52 (Rajgarh- Fatehpur Road) between 80 to 85 km stone	CHURU	REGULAR	156	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
34	ON either SIDE OF SH-7 FROM KM STONE 420 TO 406(SANGRIA HANUMANGARH ROAD)	HANUMANGARH	REGULAR	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
35	SETRAWA ON PHALODI -SANCHORE MEGA HIGHWAY	JODHPUR	REGULAR	105	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
36	BETWEEN KM STONE 280 & 285 ON NH 62 (JODHPUR NAGAUR ROAD RHS)	JODHPUR	REGULAR	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
37	NH-162, BETWEEN STONE NO. 66 TO 76 ON JAIPUR PALI ROAD ON LHS.	PALI	REGULAR	195	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
38	Village Raipur on NH 162 ON LHS FROM PALI TO AJMER.	PALI	REGULAR	168	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		Dimension (in site (in Sq. M	· · · · · · · · · · · · · · · · · · ·		be arranged applicant	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7		8	-	9a	9b	10	11	12
39	WITHIN 5 KMS FROM JADAN TOLL ON EITHER SIDE ON NH 162.	PALI	REGULAR	184	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
40	ON EITHER SIDE OF NH-62 BETWEEN KM STONE 190 TO 185,(SRI GANGANAGAR - SURATGARH ROAD)	SRI GANGANAGAR	REGULAR	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
41	BHADRA WITHIN MUNICIPAL LIMITS	HANUMANGARH	REGULAR	100	ST	CFS	18	15	270	0	0	Draw of Lots	0	3
42	ANOOPGARH WML, ON BIKANER ROAD FROM RAILWAY STATION TO SH-3 INTERSECTION	SRI GANGANAGAR	REGULAR	100	ST	CFS	18	15	270	0	0	Draw of Lots	0	3
43	Village- Azadnagar, Between Indergarh Toll Plaza and Babai on Kota- Lalsot Mega Highway	BUNDI	REGULAR	120	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
44	VILLAGE TASIMO ON NH 123	DHOLPUR	REGULAR	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
45	RHS ON PIPLIYA TO JHALAWAR WITHIN 2KM FROM SINGAHNIYA TOLL ON SH 19 A TOWARDS JHALAWAR	JHALAWAR	REGULAR	140	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
46	Between KM stone 87 to 91 on NH-11 B	KARAULI	REGULAR	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
47	Village-Chandsen on SH-12 (Malpura to Jaipur) RHS	ТОЛК	REGULAR	170	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
48	Village-Shri Rooppura on Kothun-Lalsot NH-11 A Extension	τονκ	REGULAR	180	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
49	Between KM stone no 39-45 on SH 39 A	BHILWARA	REGULAR	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
50	FROM KM STONE 926 TO 929 LHS ON NH-27 (CHITTORGARH - KOTA ROAD)	CHITTORGARH	REGULAR	168	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
51	On Chittorgarh to Bhilwara main road through Chanderiya,WML of Chittorgarh	CHITTORGARH	REGULAR	762	SC	CFS	18	15	270	0	0	Draw of Lots	0	3
52	FROM KM STONE 175 TO 178 NH-79 LHS (on Chittorgarh- Bhilwara Road)	CHITTORGARH	REGULAR	162	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
53	BAGORA (Within 5 Kms of Bagora on MDR-16)	JALORE	REGULAR	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
54	Shri sai dham to Bedana Bus Stop on NH 325, Tehsil Ahore	JALORE	REGULAR	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
55	Between km stone no 688 to 695 on LHS on NH 62 (Pali to Pindwara highway)	SIROHI	REGULAR	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
56	Government hospital to HDFC bank on college road, sheoganj (within municipal limits)	SIROHI	REGULAR	100	ST	CFS	18	15	270	0	0	Draw of Lots	0	3
57	Between Iswal To Saira Road district udaipur	UDAIPUR	REGULAR	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
58	Between KM Stone 289-292 on Ahemdabad- Udaipur Road LHS	UDAIPUR	REGULAR	340	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
59	MADRI CHAURAHA TO EKLINGPURA CHAURAHAA RHS DISTRICT UDAIPUR	UDAIPUR	REGULAR	270	SC	CFS	18	15	270	0	0	Draw of Lots	0	3
60	Village Panwara to kherwada on NH 927A	UDAIPUR	REGULAR	180	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
61	LEFT HAND SIDE FROM LAKE CITY MALL TO THOKAR CHAURAHA	UDAIPUR	REGULAR	300	SC	CFS	18	15	270	0	0	Draw of Lots	0	3
62	Between Chandlai and Kumhariyawas, Tehsil Chaksu	JAIPUR	RURAL	80	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
63	Within 4 km of junction of Bagar Road and Chirawa Road on Mandrella-Chirawa Road	JHUNJHUNU	RURAL	40	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*)imension (in site (in Sq. M			be arranged applicant	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7		8		9a	9b	10	11	12
64	VILLAGE : BALIYA TEHSIL : DIDWANA	NAGAUR	RURAL	65	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
65	Village chitawa tehsil kuchaman	NAGAUR	RURAL	75	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
66	From Vatika to Kumhariyawas on Kumhariyawas Road, Tehsil Sanganer	JAIPUR	RURAL	80	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
67	Within 1 km of Palsana Bus Stand on Khandela Road	SIKAR	RURAL	45	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
68	BETWEEN BENARWITH DAULATPURA AND JAIRAMPURA ON JAIRAMPURA MARG, JAIPUR	JAIPUR	RURAL	140	ST	CFS	35	35	1225	0	0	Draw of Lots	0	2
69	On Sumel Road, Within 3 KM from Agra Road and Sumel Road Intersection	JAIPUR	RURAL	120	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
70	Village Jalniyasar Tehsil Jayal	NAGAUR	RURAL	75	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
71	Village Panchla sidha , Tehsil-Khinvsar	NAGAUR	RURAL	52	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
72	From JCB Circle to NH08 (LHS), On 160 Feet SEZ Road (West Entry)	JAIPUR	RURAL	250	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
73	Village Divrala Tehsil Shrimadhopur	SIKAR	RURAL	50	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
74	VILLAGE : BADOO TEHSIL : PARBATSAR	NAGAUR	RURAL	90	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
75	ON KANOTA-SAMBHARIA ROAD ,2 KMS FROM JEETAWALA RAILWAY CROSSING TOWARDS SAMBHARIA	JAIPUR	RURAL	100	OPEN CC 1	DC	35	35	1225	12	30	Draw of Lots	5	4
76	Village Baori, Baori-Mansa Rampura Road, Jaipur	JAIPUR	RURAL	120	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
77	VILLAGE : BHOORTHAL, TEHSIL: AMER, JAIPUR	JAIPUR	RURAL	85	ST	CFS	35	35	1225	0	0	Draw of Lots	0	2
78	Pundlu on Gotan road upto 4Km either side	NAGAUR	RURAL	100	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
79	BETWEEN NIWARU AND LALCHANDPURA ON NIWARU ROAD	JAIPUR	RURAL	130	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
80	VILLAGE MANSA RAMPURA, JAIPUR	JAIPUR	RURAL	130	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
81	GACHHIPURA , TEHSIL DEGANA	NAGAUR	RURAL	65	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
82	Village Baay on MDR-46 (3 kms either side)	SIKAR	RURAL	50	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
83	Between Neemera and Begus on MDR 81	JAIPUR	RURAL	100	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
84	VILLAGE DOOTHWA, TEHSIL CHITALWANA	JALORE	RURAL	115	OPEN CC 2	DC	35	35	1225	12	30	Draw of Lots	5	4
85	Village Tankla, TEHSIL- NAGAUR	NAGAUR	RURAL	65	OBC CC 1	DC	35	35	1225	12	30	Draw of Lots	5	3
86	Village Baroda to Village Rooppura on MDR 111, Tehsil Sapotara	KARAULI	RURAL	35	ST CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	2
87	BETWEEN KHADI BAGH (CHOMU) AND SIRSALI ON BIHARIPUR ROAD/STATION ROAD	JAIPUR	RURAL	100	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
88	Village Gagwana, TEHSIL- NAGAUR	NAGAUR	RURAL	85	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
89	Village-Kalladwas	UDAIPUR	RURAL	130	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
90	Village Thothi	JHUNJHUNU	RURAL	80	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		Dimension (in site (in Sq. M	· ·		be arranged applicant	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7		8		9a	9b	10	11	12
91	WITHIN 2 KM RADIUS OF RENWAL, TEHSIL KISHANGARH-RENWAL (NOT ON SH)	JAIPUR	RURAL	100	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
92	village Kherat Tehsil Jayal	NAGAUR	RURAL	75	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
93	Village Harnawa tehsil Parbatsar	NAGAUR	RURAL	75	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
94	Village Tank, Tehsil- Vallabhnager	UDAIPUR	RURAL	90	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
95	Kanota to Sambhariya Road	JAIPUR	RURAL	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	2
96	Village:Padampura, On Goner Road	JAIPUR	RURAL	80	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
97	Bhandana village, Tehsil- Nagaur	NAGAUR	RURAL	65	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
98	Village Nechwa Tehsil Lakshmangarh	SIKAR	RURAL	50	OPEN CC 1	DC	35	35	1225	12	30	Draw of Lots	5	4
99	village hanmannagar tehsil nagaur	NAGAUR	RURAL	75	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
100	Between village Palwas and Dugoli (Both Village Included)on MDR	SIKAR	RURAL	30	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
101	SANJHARIA, TEHSIL: SANGANER, JAIPUR	JAIPUR	RURAL	110	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
102	Village Mathurawala, On Mahal Road, Tehsil: Sanganer	JAIPUR	RURAL	100	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
103	Between Singhana and Buhana on MDR 92	JHUNJHUNU	RURAL	65	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
104	Village Chanwra Tehsil Udaipurwati	JHUNJHUNU	RURAL	60	ST	CFS	35	35	1225	0	0	Draw of Lots	0	2
105	Village Semari	UDAIPUR	RURAL	70	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
106	Between Begus and Boraj on Begus-Boraj Marg	JAIPUR	RURAL	70	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
107	upto 5 kms from chenar school towards sadokan (on nagaur -Sadokan road)	NAGAUR	RURAL	80	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
108	Village: Bagawas, Tehsil: Kishangarh Renwal (Jaipur Rural)	JAIPUR	RURAL	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
109	Gram-Fatehpura on Vatika Chaksu Road, Tehsil-Chaksu	JAIPUR	RURAL	100	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
110	village karloo tehsil nagaur	NAGAUR	RURAL	75	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
111	VILLAGE TANTOTI	AJMER	RURAL	40	OBC PH	DC	35	35	1225	12	30	Draw of Lots	5	3
112	Village Bhoodol Tehsil Ajmer	AJMER	RURAL	80	SC PH	CFS	35	35	1225	0	0	Draw of Lots	0	2
113	Village Siroli, Tehsil Sanganer	JAIPUR	RURAL	100	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
114	Within 2 KM from 0 KM Jiloi Milestone towards Maheshwas Road, Tehsil: Amer	JAIPUR	RURAL	110	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
115	Village Kalru towards Merta city	NAGAUR	RURAL	115	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
116	TALANPUR , TEHSIL MERTA	NAGAUR	RURAL	75	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
117	Village : Nayla, Tehsil: Jamwa Ramgarh	JAIPUR	RURAL	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	2
118	Village Jankinathpura, Tehsil: Phagi	JAIPUR	RURAL	80	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		Dimension (in site (in Sq. M	· ·		be arranged applicant	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7		8		9a	9b	10	11	12
119	Between Km Stone no. 3 & 5 on LHS of Kalyanpura Stand to Kanchanpur	SIKAR	RURAL	60	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
120	village Mamdoli tehsil Makrana	NAGAUR	RURAL	75	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
121	village kurli tehsil Didwana	NAGAUR	RURAL	75	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
122	village Bhojas dist Nagaur	NAGAUR	RURAL	75	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
123	village Tadawas tehsil khinvsar	NAGAUR	RURAL	75	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
124	Village Thedi	SIKAR	RURAL	100	OPEN CC 1	DC	35	35	1225	12	30	Draw of Lots	5	4
125	Village Bharni, Tehsil Shri Madhopur	SIKAR	RURAL	130	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
126	Village Rahlana Tehsil - Dudu	JAIPUR	RURAL	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
127	Village Gagrana Tehsil Merta	NAGAUR	RURAL	95	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
128	Village Sanjaynagar Tehsil Khetri	JHUNJHUNU	RURAL	30	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
129	village Meras block Mundwa	NAGAUR	RURAL	75	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
130	Village Bhanpur Kalan, Tehsil: Jamwa Ramgarh	JAIPUR	RURAL	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	2
131	Village Jaswantgarh, TEHSIL-LADNUN	NAGAUR	RURAL	80	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
132	Between Km stone no.8 to 12 (ON DADIYA-KHURI ROAD MDR-87)	SIKAR	RURAL	50	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
133	Village muwana Tehsil -Nawa	NAGAUR	RURAL	70	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
134	Village Bhorki Tehsil Udaipurwati	JHUNJHUNU	RURAL	100	OBC CC 1	DC	35	35	1225	12	30	Draw of Lots	5	3
135	Village -Nandera, tehsil - kaman	BHARATPUR	RURAL	35	ST CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	2
136	Village-CHHALI , Tehsil- Gogunda	UDAIPUR	RURAL	90	OPEN PH	DC	35	35	1225	12	30	Draw of Lots	5	4
137	village mandal deva tehsil Degana	NAGAUR	RURAL	75	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
138	Between Village Luttu and Kolinda (including both villages)	илингилн	RURAL	30	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
139	Village: Rampura Unti on Bagru-Jhag Road, On RHS while moving from Bagru to Jhag.	JAIPUR	RURAL	120	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
140	VILLAGE UDAIPURIA, TEHSIL AMER	JAIPUR	RURAL	100	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
141	Within 1 km from Atmaram Dharam Kanta on Hathideh-Ajmeri Road	SIKAR	RURAL	100	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
142	VILLAGE : KILKIPURA, TEHSIL CHAKSU	JAIPUR	RURAL	100	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
143	Birloka	NAGAUR	RURAL	60	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
144	VILLAGE LAKHANA, TEHSIL: SANGANER	JAIPUR	RURAL	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	2
145	Between Khejroli to Singod Khurd	JAIPUR	RURAL	100	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
146	village Kharesh tehsil Didwana	NAGAUR	RURAL	75	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*)imension (in site (in Sq. M	· · · · · · · · · · · · · · · · · · ·		be arranged applicant	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7		8		9a	9b	10	11	12
147	Village Garinda Tehsil Fatehpur	SIKAR	RURAL	50	OPEN CC 1	DC	35	35	1225	12	30	Draw of Lots	5	4
148	Anywhere on Mundwa -Roll road between Didwana highway and Ajmer highway	NAGAUR	RURAL	90	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
149	Village Khorabeesal, Tehsil: Chomu	JAIPUR	RURAL	100	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
150	village lawadar Tehsil Degana	NAGAUR	RURAL	75	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
151	RIYAN BADI , TEHSIL RIYAN BADI	NAGAUR	RURAL	100	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
152	Village Manda Bhimsingh, Tehsil: Phullera	JAIPUR	RURAL	100	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
153	Village Idwa, TEHSIL- DEGANA	NAGAUR	RURAL	85	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
154	PALARI KALAN , TEHSIL DEGANA	NAGAUR	RURAL	65	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
155	Within 3 KM from Neota towards Muhana on 250 SEZ Road, Jaipur	JAIPUR	RURAL	130	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
156	Village Harsauli, Tehsil-Kotkasim	ALWAR	RURAL	75	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
157	From Sambhariya to Kotkhawda on Sambhariya Kotkhawda Road	JAIPUR	RURAL	50	ST	CFS	35	35	1225	0	0	Draw of Lots	0	2
158	Village-Hirawala, on Kanota-Nayla road (RHS)	JAIPUR	RURAL	100	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
159	WITHIN 5 KM FROM RALAWATA TOWARDS DEVA KA BAS ON RALAWATA-DEVA KA BAS ROAD, TEHSIL- RENWAL	JAIPUR	RURAL	110	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
160	Village-Naukh, Distt-BARMER	BARMER	RURAL	40	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
161	VILLAGE 37-NGC, TEHSIL HANUMANGARH	HANUMANGARH	RURAL	30	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
162	VILLAGE JOGA	JAISALMER	RURAL	35	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
163	VILLAGE MAJAL	BARMER	RURAL	35	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
164	VILLAGE-LAKHA, DISTT-JAISALMER	JAISALMER	RURAL	40	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
165	VILLAGE-SANKARA	JAISALMER	RURAL	60	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
166	Village MAHELA, TEHSIL RAWATSAR	HANUMANGARH	RURAL	25	ST	CFS	35	35	1225	0	0	Draw of Lots	0	2
167	Marudi, Tehsil Barmer	BARMER	RURAL	75	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
168	VILLAGE ODHANIYA	JAISALMER	RURAL	35	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
169	Village CHHAYAN-I TEHSIL- POKHRAN	JAISALMER	RURAL	45	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
170	VILLEGE JETHWAI, TEHSIL-JAISALMER	JAISALMER	RURAL	71	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
171	VILLAGE SANSIYON KI BASTI (NOT ON NH)	BARMER	RURAL	35	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
172	From Vijay Stambh Circle to Sam bus stand on BRO Road (Jasailmer to Sam Road)	JAISALMER	RURAL	160	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*)imension (in site (in Sq. M	1 A A A A A A A A A A A A A A A A A A A		be arranged applicant	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7		8		9a	9b	10	11	12
173	Village- Bagawas, Tehsil Balotra	BARMER	RURAL	55	OPEN CC 1	DC	35	35	1225	12	30	Draw of Lots	5	4
174	VILLAGE DHANAU ON MDR 17, TEHSIL CHOHTAN	BARMER	RURAL	55	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
175	VILLAGE CHAK 5 A, ON PADAMPUR ROAD	SRI GANGANAGAR	RURAL	45	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
176	VILLAGE JHALAMAND; TEHSIL JODHPUR	JODHPUR	RURAL	34	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
177	Mungeriya, Tehsil Sheo	BARMER	RURAL	55	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
178	Vill. Sawau Padam Singh , Tehsil Baytu	BARMER	RURAL	45	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
179	VILLAGE-PHALSUND, DISTT-JAISALMER	JAISALMER	RURAL	55	ST	CFS	35	35	1225	0	0	Draw of Lots	0	2
180	Adarsh Chuli, Tehsil Barmer	BARMER	RURAL	64	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
181	VILLAGE GIDA	BARMER	RURAL	45	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
182	From Ramaniya Chauraha to Kundal Choraha on Ramaniya-Kundal Road, Tehsil Siwana	BARMER	RURAL	48	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
183	CHAK 3 MDWM, TEHSIL CHATTARGARH	BIKANER	RURAL	63	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
184	Kuchera	NAGAUR	RURAL	75	SC CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	2
185	MINDA,TEHSIL NAWA	NAGAUR	RURAL	85	OPEN CC 2	DC	35	35	1225	12	30	Draw of Lots	5	4
186	VILLAGE KHUIYAN, TEHSIL NOHAR	HANUMANGARH	RURAL	25	OBC CC 1	DC	35	35	1225	12	30	Draw of Lots	5	3
187	VILLAAGE ADSAR (TEHSIL: DUNGARGARH)	BIKANER	RURAL	42	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
188	VILLAGE GANDHAV (NOT ON NH)	BARMER	RURAL	77	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
189	VILLAGE RAWAR ; TEHSIL BILARA	JODHPUR	RURAL	40	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
190	VILLAGE DESALSAR PUROHITAN(TEHSIL : NOKHA)	BIKANER	RURAL	31	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
191	From 132 to 135 Km stone on Sattasar - Bajju Road (BRO GREF ROAD)	BIKANER	RURAL	56	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
192	Within 3 KM either side from Ramsar bus stand on Balewa Road	BARMER	RURAL	48	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
193	Village kharadi tehsil jaitaran.	PALI	RURAL	45	ST	CFS	35	35	1225	0	0	Draw of Lots	0	2
194	VILLAGE BAJJU (TEHSIL : KOLAYAT)(NOT ON NH AND SH)	BIKANER	RURAL	88	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
195	EITHER SIDE ON BROB ROAD FROM KM STONE 15 TO 18 (DANDI - SATTASAR ROAD)	BIKANER	RURAL	72	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
196	Harsani, Tehsil Shiv	BARMER	RURAL	78	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
197	IN TOWN SERWA ON MDR 17, Tehsil Chohtan	BARMER	RURAL	55	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
198	Village Ranjeetpura (TEHSIL KOLAYAT) (NOT ON NH AND SH)	BIKANER	RURAL	60	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
199	VILLAGE NAPASAR(NOT ON NH AND SH)	BIKANER	RURAL	80	OPEN CC 1	DC	35	35	1225	12	30	Draw of Lots	5	4
200	CHERAI VILLAGE ON MDR 32 (TINWARI-CHIRAI-CHAMU ROAD)	JODHPUR	RURAL	65	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		Dimension (in site (in Sq. M	· ·		be arranged applicant	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7		8		9a	9b	10	11	12
201	Village - Bawri Kalan, Tehsil Chohtan	BARMER	RURAL	68	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
202	VILLAGE MALASI (NOT ON NH AND SH) (TEHSIL SUJANGARH)	CHURU	RURAL	37	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
203	VILLAGE RANASAR (TEHSIL SARDARSHAHAR)	CHURU	RURAL	52	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
204	VILLAGE SIRIYARI.	PALI	RURAL	90	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
205	VILLAGE LALANA, TEHSIL NOHAR	HANUMANGARH	RURAL	25	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
206	VILLAGE MUNDARA, TEHSIL BALI.	PALI	RURAL	41	ST	CFS	35	35	1225	0	0	Draw of Lots	0	2
207	VILLAGE PARASALA ON OSIYAN AAU ROAD	JODHPUR	RURAL	45	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
208	VILLAGE SINLA	PALI	RURAL	40	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
209	ON RHS BETWEEN SHATABDI CIRCLE TO DANGIAWAS INTERSECTION ON BRO (JODHPUR BYE PASS ROAD)	JODHPUR	RURAL	170	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
210	VILLAGE 72 GB ON ANOOPGARH ROAD, TEHSIL ANOOPGARH	SRI GANGANAGAR	RURAL	25	ST PH	CFS	35	35	1225	0	0	Draw of Lots	0	2
211	VILLAGE CHABA TEHSIL SHERGARH	JODHPUR	RURAL	30	OBC PH	DC	35	35	1225	12	30	Draw of Lots	5	3
212	BETWEEN KM STONE 0 AND 5 ON VR 730 (JHANWAR TO ROHILLA KALLAN ROAD)	JODHPUR	RURAL	35	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
213	VILLAGE SATA	BARMER	RURAL	30	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
214	VILLAGE SARUNDA(TEHSIL:NOKHA)	BIKANER	RURAL	67	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
215	VILLAGE KISHNASAR (TEHSIL NOKHA)	BIKANER	RURAL	30	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
216	JHANWAR VILLAGE ON BORANADA DOLI CHICHARLI ROAD	JODHPUR	RURAL	75	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
217	VILLAGE ANGOR ON JAWAI BANDH ROAD.	PALI	RURAL	116	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
218	VILLAGE MANAFARSAR (TEHSIL: LUNKARANSAR)(NOT ON NH AND SH)	BIKANER	RURAL	73	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
219	VILLAGE 20 JRK, TALUKA PILIBANGA	HANUMANGARH	RURAL	30	ST	CFS	35	35	1225	0	0	Draw of Lots	0	2
220	Maharaja Jassa Singh Marg, Chak 3 A Chotti on LHS from SriGanganagar towards Padampur Road	SRI GANGANAGAR	RURAL	85	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
221	VILLAGE CHAK 4 ML, ON SURATGARH ROAD	SRI GANGANAGAR	RURAL	40	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
222	VILLAGE CHAK 4 E CHHOTI, ON SSB ROAD CONNECTING BSF HEADQUARTER TO NH-62	SRI GANGANAGAR	RURAL	65	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
223	within 3 km from Pugal Police station on either side of Bikaner- Khajuwala road (NOT ON NH)	BIKANER	RURAL	81	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
224	VILLAGE BHAKRI	JAISALMER	RURAL	36	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
225	VILLAGE SHEKHASAR TEHSIL PHALODI	JODHPUR	RURAL	40	OPEN CC 1	DC	35	35	1225	12	30	Draw of Lots	5	4
226	KARNISAR (TEHSIL PUGAL)(NOT ON NH AND SH)	BIKANER	RURAL	42	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
227	VILLAGE 33 GB, ON BILOCHIYA ROAD	SRI GANGANAGAR	RURAL	32	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		Dimension (in site (in Sq. M	· · · · · · · · · · · · · · · · · · ·		be arranged applicant	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7		8		9a	9b	10	11	12
228	VILLAGE CHANOD	PALI	RURAL	75	ST	CFS	35	35	1225	0	0	Draw of Lots	0	2
229	VILLAGE CHAK 11 LNP, ON 100ft ROAD	SRI GANGANAGAR	RURAL	30	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
230	VILLAGE KHURI (TEHSIL SUJANGARH)	CHURU	RURAL	33	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
231	VILLAGE CHAK 19 HMH, ON HANUMANGARH - KALIBANGA ROAD	HANUMANGARH	RURAL	35	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
232	VILLAGE 9TK on KARARWALI ROAD	SRI GANGANAGAR	RURAL	25	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
233	Village boya tehsil bali.	PALI	RURAL	30	SC CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	2
234	VILLAGE 3 LGW, TEHSIL PILIBANGA	HANUMANGARH	RURAL	35	OBC CC 1	DC	35	35	1225	12	30	Draw of Lots	5	3
235	VILLAGE KANOI JAISALMER-SAM ROAD, TEHSIL JAISALMER	JAISALMER	RURAL	50	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
236	Village Dhanapa Tehsil Merta	NAGAUR	RURAL	100	OPEN PH	DC	35	35	1225	12	30	Draw of Lots	5	4
237	VILLAGE SANWRIZ TEHSIL PHALODI	JODHPUR	RURAL	40	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
238	IN VILLAGE RAJMATHAI	JAISALMER	RURAL	55	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
239	VILLAGE KANANA, BLOCK BALOTRA	BARMER	RURAL	35	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
240	VILLAGE BARA TEHSIL OSIYAN	JODHPUR	RURAL	60	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
241	Village Udasar (Tehsil Bikaner)	BIKANER	RURAL	58	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
242	VILLAGE LUDRADA	BARMER	RURAL	50	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
243	IN VILLAGE SINER ON SIWANA-PADRU ROAD, Tehsil Siwana	BARMER	RURAL	50	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
244	VILLAGE BHATA, BLOCK SINDHARI	BARMER	RURAL	38	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
245	VILLAGE BEERAWAS TEHSIL BILARA	JODHPUR	RURAL	40	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
246	VILLAGE 3 KWD, TEHSIL RAWATSAR	HANUMANGARH	RURAL	25	ST	CFS	35	35	1225	0	0	Draw of Lots	0	2
247	VILLAGE BHADRESH	BARMER	RURAL	76	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
248	VILLAGE JILAWARA, TEHSIL NASIRABAD	AJMER	RURAL	60	OPEN CC 1	DC	35	35	1225	12	30	Draw of Lots	5	4
249	ON MDR-17(HADECHA ROAD), WITHIN 5KMS FROM INTERSECTION OF (MDR-17 AND NH-68(OLD NH-15))	JALORE	RURAL	120	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
250	VILLAGE KANERA ON MDR 20 TEHSIL NIMBAHERA	CHITTORGARH	RURAL	167	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
251	VILLAGE GUDAHEMA TEHSIL CHITALWANA	JALORE	RURAL	80	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
252	VILLAGE BHINCHRON KI DHANI,ON GANDHAV-BAKHASAR ROAD, TEHSIL CHITALWANA	JALORE	RURAL	115	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
253	VILLAGE BHAGAL BHIM ON MDR-26, TEHSIL BHINMAL	JALORE	RURAL	80	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
254	VILLAGE BICHHAWARI, TEHSIL SANCHORE, ON MDR-17	JALORE	RURAL	100	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
255	Village Bardod Tehsil Bhilwara	BHILWARA	RURAL	60	ST	CFS	35	35	1225	0	0	Draw of Lots	0	2

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		Dimension (in site (in Sq. M	· · · · · · · · · · · · · · · · · · ·		be arranged applicant	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7		8		9a	9b	10	11	12
256	VILLAGE PIPALKHUT TEHSII PEEPALKHONT ON PRATAPGARH ROAD	PRATAPGARH	RURAL	97	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
257	Village BHACHUNDALA, TEHSIL-ARNOD	PRATAPGARH	RURAL	115	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
258	Village BAGOL,TEHSIL-NATHDWARA	RAJSAMAND	RURAL	100	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
259	VILLAGE HARNATHPURA ON ODR 06 TEHSIL RASHMI CHITTORGARH	CHITTORGARH	RURAL	110	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
260	Dhariyawad Town tehsil Dhariawad, OML (on Dhariyawad-Salumber Road)	PRATAPGARH	RURAL	112	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
261	Village Padardi Badi, Tehsil Saagwara	DUNGARPUR	RURAL	100	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
262	VILLAGE 9 KND-A, ON RAWLA TO 365 HEAD ROAD	SRI GANGANAGAR	RURAL	25	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
263	Village manda tehsil bali.	PALI	RURAL	41	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
264	VILLAGE SEWARI, TEHSIL BALI.	PALI	RURAL	45	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
265	Vill. Kanba on Dungarpur - Bichiwara Road, Tehsil Bichiwara	DUNGARPUR	RURAL	100	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
266	Dungarpur City (OML) on Dungarpur - Bichiwara Road, Tehsil Dungarpur	DUNGARPUR	RURAL	100	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
267	Vill. Pawda (on Dungarpur-Bichhiwara Road)	DUNGARPUR	RURAL	120	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
268	VILLAGE RAYYANWALI, TEHSIL SURATGARH	SRI GANGANAGAR	RURAL	25	ST	CFS	35	35	1225	0	0	Draw of Lots	0	2
269	Between Badgi Choraha to Khargoda on Sagwara- Ghaliakot Road, Tehsil Sagwara	DUNGARPUR	RURAL	100	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
270	Between Village Kadila and Bhagwan Pura on MDR	TONK	RURAL	42	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
271	VILLAGE KHERWA	PALI	RURAL	55	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
272	Village Dhatana (Aspur Faloj Road)	DUNGARPUR	RURAL	100	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
273	Village chamunderi tehsil bali.	PALI	RURAL	40	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
274	VILLAGE CHAK 5 PSD-A, ON RAWLA to GHARSANA ROAD	SRI GANGANAGAR	RURAL	30	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
275	VILLAGE NANA, TEHSIL BALI.	PALI	RURAL	115	OPEN CC 1	DC	35	35	1225	12	30	Draw of Lots	5	4
276	Village-Thikariya, Tehsil-Anta	BARAN	RURAL	42	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
277	Village Nareli Tehsil Ajmer	AJMER	RURAL	80	ST	CFS	35	35	1225	0	0	Draw of Lots	0	2
278	VILLAGE BAJUWALA(1 NZPA), ON RAISINGHNAGAR ROAD	SRI GANGANAGAR	RURAL	25	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
279	Village-Panwad, Tehsil-Deoli	ТОЛК	RURAL	48	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
280	VILLAGE 68 L.N.P. ON BRO ROAD, from 32 ML TOWARDS RIDMALSAR	SRI GANGANAGAR	RURAL	30	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
281	Village Dewas District Udaipur	UDAIPUR	RURAL	130	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
282	VILLAGE 3 BMM, TEHSIL SURATGARH	SRI GANGANAGAR	RURAL	25	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*)imension (in site (in Sq. M	· · · · · · · · · · · · · · · · · · ·		be arranged applicant	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7		8		9a	9b	10	11	12
283	Village Andheri Deori Tehsil Masuda	AJMER	RURAL	80	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
284	Village Daudsar (Tehsil Ratangarh)	CHURU	RURAL	36	OPEN CC 2	DC	35	35	1225	12	30	Draw of Lots	5	4
285	Village Soniyana Tehsil Gangrar	CHITTORGARH	RURAL	134	OBC CC 1	DC	35	35	1225	12	30	Draw of Lots	5	3
286	Village Satkhanda Tehsil Nimbahera	CHITTORGARH	RURAL	156	ST CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	2
287	Village Ganahera Tehsil Ajmer	AJMER	RURAL	65	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
288	Village BHINAI, Tehsil Bhinai	AJMER	RURAL	45	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
289	Village Makarwali Tehsil Ajmer	AJMER	RURAL	80	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
290	Village PHAGALWA TEHSIL- DHOD	SIKAR	RURAL	50	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
291	Vill. Sagwariya (on Sundani-Talwara Road)	BANSWARA	RURAL	100	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
292	Village Mahendragarh Tehsil Sahara	BHILWARA	RURAL	45	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
293	Village Derathoo Tehsil Nasirabad	AJMER	RURAL	60	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
294	VILLAGE KARWADA TEHSIL RANIWARA	JALORE	RURAL	110	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
295	Village Obri, Tehsil Sagwara	DUNGARPUR	RURAL	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	2
296	VILLAGE PATOLIA, FATEHNAGAR TO AKOLA ROAD ON MDR 33	CHITTORGARH	RURAL	100	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
297	VILLAGE RAIPUR	BHILWARA	RURAL	60	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
298	VILLAGE RATTEWALA, TEHSIL PADAMPUR	SRI GANGANAGAR	RURAL	27	OPEN CC 1	DC	35	35	1225	12	30	Draw of Lots	5	4
299	VILLAGE TETROL TEHSIL SANCHORE	JALORE	RURAL	120	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
300	Village Bankora, Tehsil Aspur	DUNGARPUR	RURAL	100	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
301	VILLAGE GHOSUNDA	CHITTORGARH	RURAL	130	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
302	VILLAGE UNCHA TEHSIL JAHAZPUR	BHILWARA	RURAL	80	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
303	Village Bansen Tehsil Bhadesar	CHITTORGARH	RURAL	95	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
304	BETWEEN POWER HOUSE DEBARI TO VILLAGE KHEMLI	UDAIPUR	RURAL	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	2
305	Village Sargaon on MDR 80	BHILWARA	RURAL	60	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
306	VILLAGE SANDGAON TEHSIL MANDALGARH	BHILWARA	RURAL	50	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
307	Village Nangawali Tehsil Dungla	CHITTORGARH	RURAL	144	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
308	VILLAGE 12 MLD, GHARSANA - RAWLA MANDI ROAD	SRI GANGANAGAR	RURAL	32	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
309	Luhariya to Bhagwanpura Road District Bhilwara	BHILWARA	RURAL	40	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
310	Village Jhalar Baori on nuclear power plant road Tehsil Rawatbhata	CHITTORGARH	RURAL	153	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		Dimension (in site (in Sq. M	· · · · · · · · · · · · · · · · · · ·		be arranged applicant	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7		8		9a	9b	10	11	12
311	WITHIN 2 KM RADIUS OF LOHARWADA GRAM PANCHAYAT OFFICE, TEHSIL: CHOMU	JAIPUR	RURAL	100	OBC PH	DC	35	35	1225	12	30	Draw of Lots	5	3
312	Village Bandar Seendri Tehsil Kishangarh	AJMER	RURAL	80	SC PH	CFS	35	35	1225	0	0	Draw of Lots	0	2
313	Village Badauli Madho Singh Tehsil Nimbahera	CHITTORGARH	RURAL	178	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
314	Village Bhanoojon MDR182, Tehsil Badisadri	CHITTORGARH	RURAL	114	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
315	Village Ghatiyawali tehsil Chittorgarh	CHITTORGARH	RURAL	126	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
316	village Bamania (3 km from shambhoopura to gilund road)	CHITTORGARH	RURAL	130	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
317	Village Chala Block Neem Ka Thana	SIKAR	RURAL	60	ST	CFS	35	35	1225	0	0	Draw of Lots	0	2
318	Vill. Anop-pura (On Kundwa-Anjna Road)	RAJSAMAND	RURAL	180	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
319	Village Bedsa, Tehsil Simalwara	DUNGARPUR	RURAL	100	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
320	VILLAGE TANWARI TEHSIL SIROHI	SIROHI	RURAL	100	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
321	Village Reechher, Tehsil Kumbhalgarh	RAJSAMAND	RURAL	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
322	Village - Badala, Tehsil-Kherwara District Udaipur	UDAIPUR	RURAL	100	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
323	VILLAGE MORAS, TEHSIL PINDWARA	SIROHI	RURAL	100	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
324	Village Sihar Tehsil Dhariawad	PRATAPGARH	RURAL	156	OPEN CC 1	DC	35	35	1225	12	30	Draw of Lots	5	4
325	Village Vishma	UDAIPUR	RURAL	90	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
326	Village - Siswi on Ghodaghati to Mawli Road, Tehsil Nathdwara	RAJSAMAND	RURAL	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
327	Village- Dang, Tehsil - Kotda	UDAIPUR	RURAL	90	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
328	Village - Bichadi, Tehsil - Girwa	UDAIPUR	RURAL	100	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
329	Village Sarada	UDAIPUR	RURAL	100	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
330	Village Khiror Tehsil Nawalgarh	липнии	RURAL	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	2
331	Village Kumawato Ka Guda	UDAIPUR	RURAL	100	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
332	VILLAGE BHABARNA	UDAIPUR	RURAL	100	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
333	Village- Prasad , Tehsil- Lasadia	UDAIPUR	RURAL	130	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
334	Village, Palpadar, Tehsil Dungarpur	DUNGARPUR	RURAL	100	OBC CC 1	DC	35	35	1225	12	30	Draw of Lots	5	3
335	Village Bari Tehsil Nimbahera	CHITTORGARH	RURAL	156	ST CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	2
336	VILLAGE SIHIDA	JODHPUR	RURAL	36	OPEN PH	DC	35	35	1225	12	30	Draw of Lots	5	4
337	Village Adkiya , Tehsil Railmagra	RAJSAMAND	RURAL	100	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
338	Village Lasadiya	UDAIPUR	RURAL	90	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		Dimension (in site (in Sq. M	· · · · · · · · · · · · · · · · · · ·		be arranged applicant	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7		8		9a	9b	10	11	12
339	VILLAGE 13-SD, TEHSIL SURATGARH	SRI GANGANAGAR	RURAL	25	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
340	Village - Alsaigarh, Tehsil - Girwa	UDAIPUR	RURAL	100	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
341	Village- Aatma, Tehsil Rajsamand	RAJSAMAND	RURAL	100	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
342	VILLAGE BINAUTA	CHITTORGARH	RURAL	150	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
343	Within 1km from Kanore railway Station on Udaipur Road	UDAIPUR	RURAL	100	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
344	Village Bhungda, Tehsil Ghatol	BANSWARA	RURAL	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	2
345	Village Sakroda	UDAIPUR	RURAL	120	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
346	VILLAGE ANGRAWALI, TEHSIL KAMAN	BHARATPUR	RURAL	58	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
347	Village Chetawala on Rajawas to Khorashyamdaspura road,Tehsil- Amber	JAIPUR	RURAL	100	OPEN CC 1	DC	35	35	1225	12	30	Draw of Lots	5	4
348	Village Kotkasim, Tehsil Kotkasim	ALWAR	RURAL	70	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
349	Village Ghoomana on MDR 63(Baharwanda Road), Tehsil Sikrai	DAUSA	RURAL	30	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
350	Village-Darda Turki on MDR-1	TONK	RURAL	48	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
351	Village Mirzapur, Tehsil-Mundawar, Dist-Alwar	ALWAR	RURAL	76	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
352	VILLAGE CHIKSANA	BHARATPUR	RURAL	45	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
353	Village - Jhiri, Tehsil - Thanagazi	ALWAR	RURAL	90	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
354	Village Gadpur,Tehsil-Tijara	ALWAR	RURAL	65	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
355	Village-Tahtara,Tehsil- Reni	ALWAR	RURAL	75	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
356	Village Hathiya kheri, Tehsil Khairabad,	КОТА	RURAL	40	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
357	Village-Ballunda	TONK	RURAL	48	ST	CFS	35	35	1225	0	0	Draw of Lots	0	2
358	ITAWA BYPASS ROAD (BETWEEN INTERSECTION WITH SH 70 AND POWER HOUSE),TEHSIL-PIPALDA	КОТА	RURAL	60	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
359	Village-Jamitpura	BUNDI	RURAL	60	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
360	Village-Luniyawas, Tehsil-Chomu	JAIPUR	RURAL	100	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
361	Village-Bamboli, Tehsil-Ramgarh	ALWAR	RURAL	77	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
362	Julmi to Pipliya Rd, 3 Kms from Julmi Village, Tehsil-Ramganjmandi.	КОТА	RURAL	50	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
363	VILLAGE RENWAL (MINDA-DEWALI RD) TEHSIL RENWAL	JAIPUR	RURAL	100	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
364	Mandha	SIKAR	RURAL	50	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
365	Within 4 km of Agrasen Circle on Mandrella Bypass Road	липнил	RURAL	40	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
366	Village - Ismailpur, Tehsil - Kishangarh Bas	ALWAR	RURAL	79	ST	CFS	35	35	1225	0	0	Draw of Lots	0	2

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		Dimension (in site (in Sq. M			be arranged applicant	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7		8		9a	9b	10	11	12
367	Village- Choroti Pahar, Tehsil-Ramgarh, Dist-Alwar	ALWAR	RURAL	72	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
368	Village Jajod on MDR 2	SIKAR	RURAL	60	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
369	Between Khatushyamji and Lamiya	SIKAR	RURAL	60	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
370	Village Heengi,Tehsil- Sangod	КОТА	RURAL	45	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
371	Within 3km from Junction of Khairthal-Pehal and Tatarpur-Mundawar roads,on Tatarpur-Mundwar road	ALWAR	RURAL	72	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
372	Village Patan Block Neem Ka Thana	SIKAR	RURAL	85	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
373	Upto 2km from Virat Nagar Municipal Limits on Virat Nagar-Bhabhru Road	ALWAR	RURAL	90	OPEN CC 1	DC	35	35	1225	12	30	Draw of Lots	5	4
374	VILLAGE: MAMANA, TEHSIL: DUDU (ON MDR 85) (LHS WHILE MOVING FROM NARAINA TO MAMANA)	JAIPUR	RURAL	100	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
375	Village-Siswali on Anta Road	BARAN	RURAL	75	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
376	Village -Bardod (not on SH), Tehsil - Behror	ALWAR	RURAL	88	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
377	BALARAN	SIKAR	RURAL	60	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
378	Between Jobner and Phulera On MDR 59	JAIPUR	RURAL	80	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
379	Within 3km radius of Jasai Post office on Sodawas Ajaraka Road(Not via Mundawar)	ALWAR	RURAL	102	ST	CFS	35	35	1225	0	0	Draw of Lots	0	2
380	Between Khoor and Losal on MDR 24	SIKAR	RURAL	100	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
381	Within 1km of Sajada Dham Mundana on Tijara Kotkasim road	ALWAR	RURAL	83	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
382	Within 5 KM from Neota towards Kalwada Village, Jaipur	JAIPUR	RURAL	130	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
383	Village Jharli Block Khandela	SIKAR	RURAL	50	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
384	VILLAGE KARANPURA, TEHSIL BHADRA	HANUMANGARH	RURAL	25	SC CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	2
385	Village-Namana	BUNDI	RURAL	84	OPEN CC 2	DC	35	35	1225	12	30	Draw of Lots	5	4
386	Village-Alpha Nagar	BUNDI	RURAL	40	OBC CC 1	DC	35	35	1225	12	30	Draw of Lots	5	3
387	MP Boder to Village Dudhaliya, Tehsil-Gangdhar	JHALAWAR	RURAL	45	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
388	Kalwar to Mundota, Tehsil: Amer	JAIPUR	RURAL	80	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
389	Village Peepla on Peepla-Gopalpura Road, Tehsil Phagi	JAIPUR	RURAL	80	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
390	Village-Sundana,Tehsil-Kathoomer,Dist-Alwar	ALWAR	RURAL	60	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
391	Village-Gordhanpura, Tehsil-Kotputli, Dist-Jaipur	JAIPUR	RURAL	60	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
392	Anywhere on Chaksu Lalsot Link Road (Within Jaipur District)	JAIPUR	RURAL	150	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
393	Village Gogunda to village Ogana Road. District udaipur	UDAIPUR	RURAL	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	2

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		Dimension (in site (in Sq. M	· ·		be arranged applicant	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7		8		9a	9b	10	11	12
394	Village-Sonkhari, Tehsil-Kathoomer, Dist-Alwar	ALWAR	RURAL	65	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
395	MP Border to Village Dhatooriya, Tehsil-Gangdhar	JHALAWAR	RURAL	48	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
396	From Harsooliya Stand to Chittora, Chittora Road, Jaipur Rural	JAIPUR	RURAL	200	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
397	VILLAGE 57 GB, TEHSIL ANOOPGARH	SRI GANGANAGAR	RURAL	32	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
398	Within 2km radius of Reni Police Station on Reni-Rajgarh road	ALWAR	RURAL	80	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
399	Village Bhagwatgarh, Teh-Chouth Ka Barwada	SAWAIMADHOPUR	RURAL	47	OPEN CC 1	DC	35	35	1225	12	30	Draw of Lots	5	4
400	Lalpura Pachar Bus Stand to Hingonia, On Hingoniya Road	JAIPUR	RURAL	60	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
401	Village Jailalpura on Diggi to Bonli Road	SAWAIMADHOPUR	RURAL	80	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
402	VILLAGE BEEDASAR, TEHSIL-LAXMANGARH (NON NH/SH)	SIKAR	RURAL	60	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
403	Village - Churimiyan on Lachhmangarh - Navalgarh road	SIKAR	RURAL	100	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
404	Village-Khanpur Jat, Tehsil-Alwar, Dist-Alwar	ALWAR	RURAL	75	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
405	Anywhere in Village Dhod	SIKAR	RURAL	85	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
406	Between Mehandipur Balaji temple and Govt. Senior Secondary school Todabhim	KARAULI	RURAL	55	ST	CFS	35	35	1225	0	0	Draw of Lots	0	2
407	Village - Jamroli, Tehsil - Rajgarh	ALWAR	RURAL	75	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
408	Village-Vijaysingh Pura, Tehsil-Neemrana, Dist-Alwar	ALWAR	RURAL	85	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
409	RATLAI TO BHALTA ROAD (BETWEEN VILLAGE RATLAI & RECHWA)	JHALAWAR	RURAL	80	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
410	BAJOLI, TEHSIL- MAKRANA	NAGAUR	RURAL	45	ST PH	CFS	35	35	1225	0	0	Draw of Lots	0	2
411	BESWA	SIKAR	RURAL	60	OBC PH	DC	35	35	1225	12	30	Draw of Lots	5	3
412	Village-Bamaniya	ТОМК	RURAL	64	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
413	Village Basai Tehsil Khetri	JHUNJHUNU	RURAL	50	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
414	Village-Chhapura khurd,Tehsil-Shahpura,Dist-Jaipur	JAIPUR	RURAL	60	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
415	Village-Bhojpur,Tehsil-Kishangarh Bas,Dist-Alwar	ALWAR	RURAL	72	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
416	Bakani on Bakani to MP Border	JHALAWAR	RURAL	105	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
417	Between KM Stone 9 to 13 on Sawaimadhopur to Sapotra Road	SAWAIMADHOPUR	RURAL	80	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
418	VILLAGE MANDANA, TEHSIL-LADPURA	КОТА	RURAL	75	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
419	Village Dharakheri,Tehsil-Pirawa	JHALAWAR	RURAL	37	ST	CFS	35	35	1225	0	0	Draw of Lots	0	2
420	Village Bhandrej, Bhandarej - Garh Road, Tehsil Dausa	DAUSA	RURAL	45	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
421	Village Badau Tehsil Khetri	илингилн	RURAL	100	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		Dimension (in site (in Sq. M	· · · · · · · · · · · · · · · · · · ·		be arranged applicant	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7		8		9a	9b	10	11	12
422	Village Niradhanu Tehsil Malsisar	JHUNJHUNU	RURAL	150	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
423	Village-Mubarikpur, Tehsil-Ramgarh, Dist-Alwar	ALWAR	RURAL	75	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
424	VILLAGE BUSI, TEHSIL PALI.	PALI	RURAL	37	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
425	VILLAGE DAGAR	UDAIPUR	RURAL	100	OPEN CC 1	DC	35	35	1225	12	30	Draw of Lots	5	4
426	Village-Gandhi Nagar,Tehsil-Mundawar,Dist-Alwar	ALWAR	RURAL	75	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
427	Village-Paota, Tehsil-Paota	JAIPUR	RURAL	110	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
428	Village-Babeli, Tehsil-Reni, Dist-Alwar	ALWAR	RURAL	70	ST	CFS	35	35	1225	0	0	Draw of Lots	0	2
429	Village-Guwara Sadaram, Tehsil-Thanagazi, Dist-Alwar	ALWAR	RURAL	60	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
430	On Sultanpur-Mandawara Rd (within 3 Kms of Barod to Mandawara junction point)	КОТА	RURAL	55	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
431	Village-Bhonawas, Tehsil-Kotputli, Dist-Jaipur	JAIPUR	RURAL	60	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
432	Village Daulatpura, Tehsil Sapotara	KARAULI	RURAL	30	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
433	Village Khawas (Not on SH), Tehsil kekri	AJMER	RURAL	70	SC CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	2
434	Village Bahadurpur,Tehsil-Alwar	ALWAR	RURAL	75	OBC CC 1	DC	35	35	1225	12	30	Draw of Lots	5	3
435	Within 2km radius of Tatarpur Chauraha on Kishangarh- Kotputli road	ALWAR	RURAL	75	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
436	Village Baler, Tehsil Khandar	SAWAIMADHOPUR	RURAL	35	OPEN PH	DC	35	35	1225	12	30	Draw of Lots	5	4
437	TILASWAN (SALAWATIA - KANSYA ROAD)	BHILWARA	RURAL	60	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
438	Village - DEOPURA, Tehsil- Sarada DISTRICT UDAIPUR	UDAIPUR	RURAL	95	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
439	Vill. Lakhmawaton Ka Gurha (Banswara- Kumbhalgarh Road), Tehsil Kumbhalgarh	RAJSAMAND	RURAL	100	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
440	Village BHABHANA, Tehsil Mandal	BHILWARA	RURAL	60	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
441	Village Churi Chatarpura Tehsil Jhunjhunu	ІНИЛІНИЛИ	RURAL	50	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
442	Village-Dhowra, Tehsil-Hindoli	BUNDI	RURAL	65	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
443	Village-Gugor, Tehsil-Chhabra	BARAN	RURAL	45	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
444	Village-Jhilai, Tehsil-Newai	TONK	RURAL	65	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
445	VILLAGE BANSI PAHADPUR, TEHSIL RUPBAS	BHARATPUR	RURAL	95	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
446	Village Kanchanpura, Tehsil-Baswa	DAUSA	RURAL	40	ST	CFS	35	35	1225	0	0	Draw of Lots	0	2
447	Village Kodyai on Bonli to Jastana Road	SAWAIMADHOPUR	RURAL	80	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
448	Village Pachgaon (Not on NH/SH), tehsil Dholpur	DHOLPUR	RURAL	50	OPEN CC 1	DC	35	35	1225	12	30	Draw of Lots	5	4
449	Village-Deori (Not on NH), Tehsil-Shahabad	BARAN	RURAL	55	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		Dimension (in site (in Sq. M	1 A A A A A A A A A A A A A A A A A A A		be arranged applicant	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7		8		9a	9b	10	11	12
450	VILLAGE HELAK, TEHSIL KUMHER	BHARATPUR	RURAL	25	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
451	Village Kundera on Sawaimadhopur to Sapotara road	SAWAIMADHOPUR	RURAL	80	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
452	VILLAGE KANAKHEDI (BETWEEN MP BORDER AND NARAYAN KHEDA TIRAHA),TEHSIL -PACHPAHAR	JHALAWAR	RURAL	90	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
453	Village-Khandela	BARAN	RURAL	42	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
454	Village Mitrapura on Mitrapura Datwas Road	SAWAIMADHOPUR	RURAL	60	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
455	Village Mandrayal	KARAULI	RURAL	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	2
456	Village Khirni on Bhadoti to Bonli Road	SAWAIMADHOPUR	RURAL	80	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
457	VILLAGE NAYAPURA, TEHSIL BASERI	DHOLPUR	RURAL	30	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
458	Village-Palaitha, Tehsil-Anta	BARAN	RURAL	58	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
459	VILLAGE JANOOTHAR, TEHSIL DEEG	BHARATPUR	RURAL	45	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
460	Village-Kishanganj, Tehsil-Kishanganj	BARAN	RURAL	100	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
461	VILLAGE SINGHORA, tehsil Saipau	DHOLPUR	RURAL	55	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
462	VILLAGE TIMAWA, TEHSIL NADOTI	KARAULI	RURAL	40	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
463	Village Seekri Chak no. 1(Not on SH), tehsil - Nagar	BHARATPUR	RURAL	35	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
464	Village-Hameerpur, Tehsil-Todarai Singh	TONK	RURAL	68	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
465	Village-Arniya (Near Bandikui), Tehsil Bandikui	DAUSA	RURAL	28	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
466	Village-Banetha	TONK	RURAL	65	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
467	VILLAGE MALONI, TEHSIL DHOLPUR	DHOLPUR	RURAL	30	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
468	VILLAGE AGOLAI ON AGOLAI KALYANPUR ROAD	JODHPUR	RURAL	66	ST	CFS	35	35	1225	0	0	Draw of Lots	0	2
469	Village-Dei on Bansi Road	BUNDI	RURAL	105	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
470	Village-Dhanao on Alod-Bundi Road	BUNDI	RURAL	90	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
471	Village Sarsop on Sawaimadhopur to Shiwar road	SAWAIMADHOPUR	RURAL	95	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
472	Village-Golada (Mandawar-Bandikui Rd), Tehsil-Bandikui	DAUSA	RURAL	50	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
473	Village Khatwa, Tehsil Lalsot	DAUSA	RURAL	65	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
474	VILLAGE UCHHAIN (NOT ON SH), TEHSIL - RUPBAS	BHARATPUR	RURAL	40	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
475	Within 3km from Bandiya bag Balaji Mandir,On Bhawani Mandi to Bhanpura Road,Tehsil-Pachpahar	JHALAWAR	RURAL	65	OPEN CC 1	DC	35	35	1225	12	30	Draw of Lots	5	4
476	Village-Hadi Khurd on MDR-1	TONK	RURAL	48	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
477	ON LHS WITHIN 5 KMs FROM SH 61 INTERSECTION TOWARDS DANGIAWAS ON JODHPUR BYE PASS ROAD	JODHPUR	RURAL	140	ST	CFS	35	35	1225	0	0	Draw of Lots	0	2

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		Dimension (in site (in Sq. M	· ·		be arranged applicant	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7		8		9a	9b	10	11	12
478	Village- Anwa	TONK	RURAL	48	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
479	Village-Karwar	BUNDI	RURAL	85	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
480	Village-Nohta on MDR-1	TONK	RURAL	70	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
481	Within 4 KM from Govt. Sr Secondary School,Village Bamanwas, on Bamanwas Garhmora Road	SAWAIMADHOPUR	RURAL	70	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
482	Village-Arnetha (Not on SH)	BUNDI	RURAL	60	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
483	village- Badha, tehsil - Nadbai	BHARATPUR	RURAL	30	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
484	VILLAGE ANANTPURA, TEHSIL: CHOMU	JAIPUR	RURAL	100	OPEN CC 2	DC	35	35	1225	12	30	Draw of Lots	5	4
485	Village-Saidpura (Ucchain-Rupwas Road)	BHARATPUR	RURAL	35	OBC CC 1	DC	35	35	1225	12	30	Draw of Lots	5	3
486	Village Tain	JHUNJHUNU	RURAL	60	ST CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	2
487	Village-Vanasthali, Tehsil-Newai	TONK	RURAL	42	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
488	WITH IN 3 KM FROM MP BORDER TOWARDS UNHEL,TEHSIL- GANGDHAR	JHALAWAR	RURAL	80	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
489	Village-Garh, Tehsil - Sikrai	DAUSA	RURAL	45	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
490	VILLAGE BERASAR (TEHSIL NOKHA)	BIKANER	RURAL	35	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
491	WITHIN 3 KM FROM OLD BUS STAND : DUG ON DOBRA ROAD, TOWARDS MP BORDER	JHALAWAR	RURAL	80	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
492	WITHIN 3 KM FROM PANCHMUKH RAILWAY CROSSING (NEAR BANDIKUI) ON MANDAWAR ROAD(MDR48), TEHSIL BANDIKUI	DAUSA	RURAL	55	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
493	Village-Talwas	BUNDI	RURAL	60	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
494	Village-Kawai (Not on NH/SH), Tehsil-Atru	BARAN	RURAL	45	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
495	Village-Khareda, Tehsil-Todarai Singh	TONK	RURAL	35	ST	CFS	35	35	1225	0	0	Draw of Lots	0	2
496	Village-Kishorepura, Tehsil-Chhabra	BARAN	RURAL	45	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
497	village Paprera, tehsil - Kumher	BHARATPUR	RURAL	25	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
498	village - Jatpura, tehsil - Baseri	DHOLPUR	RURAL	50	OPEN CC 1	DC	35	35	1225	12	30	Draw of Lots	5	4
499	village Umreh, tehsil Bari	DHOLPUR	RURAL	40	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
500	Village-Botunda, Tehsil-Todarai Singh	TONK	RURAL	66	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
501	Village-Leelera Byasan, Tehsil-Talera	BUNDI	RURAL	40	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
502	Village-Sameedhi, Tehsil-Nainwa	BUNDI	RURAL	26	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
503	Village-Islampura, Tehsil-Tonk	TONK	RURAL	40	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
504	Village Atewa, Tehsil Karauli	KARAULI	RURAL	75	ST	CFS	35	35	1225	0	0	Draw of Lots	0	2

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*)imension (in site (in Sq. M	· · · · · · · · · · · · · · · · · · ·		be arranged applicant	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7		8		9a	9b	10	11	12
505	Between Village Ekra and Chouth Ka Barwada railway crossing	SAWAIMADHOPUR	RURAL	70	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
506	village Mania , tehsil - Dholpur (NOT ON NH/SH)	DHOLPUR	RURAL	35	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
507	Village-Natwara, Tehsil-Newai	ТОЛК	RURAL	55	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
508	Village Kanwarpura Mandwal, Tehsil-Khanpur	JHALAWAR	RURAL	45	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
509	VILLAGE GURADIYA MANA, ON BHAWANIMANDI TO MP BORDER ROAD, TEHSIL- PACHPAHAR	JHALAWAR	RURAL	70	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
510	Village-Sorana, Tehsil-Kishanganj	BARAN	RURAL	75	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
511	FROM AHINSHA CIRCLE TO VILLAGE KOORA ON GUDAMALANI- JALORE ROAD	BARMER	RURAL	105	OBC PH	DC	35	35	1225	12	30	Draw of Lots	5	3
512	Village-Ramderiya (Kasmir), Tehsil-Shiv	BARMER	RURAL	30	SC PH	CFS	35	35	1225	0	0	Draw of Lots	0	2
513	Village-Nanakpuriya, Tehsil-Bundi	BUNDI	RURAL	110	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
514	Village-Palai, Tehsil-Newai	TONK	RURAL	42	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
515	Village khardi, tehsil sojat.	PALI	RURAL	40	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
516	Village-Bansthuni, Tehsil-Kishanganj	BARAN	RURAL	55	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
517	Village-Beejwar, Tehsil-Deoli	TONK	RURAL	42	ST	CFS	35	35	1225	0	0	Draw of Lots	0	2
518	Village-Mathani, Tehsil-Baran	BARAN	RURAL	45	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
519	Between Village Sukar and Village Bhanwra, Tehsil Bamanwas	SAWAIMADHOPUR	RURAL	28	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
520	Village Khajuri,Panchayat-Naloi ,Teshil- Pirawa	JHALAWAR	RURAL	35	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
521	Village Jeera Pur, On MDR 55, Tehsil Khanpur	JHALAWAR	RURAL	40	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
522	Village udaipura, Tehsil Sikrai	DAUSA	RURAL	30	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
523	Village Chandrapuriya,Panchayat -Hathiyakheri,Tehsil-Ramganjmandi	КОТА	RURAL	40	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
524	Village Notara,Block-Sultanpur(not on Sultanpur-Mandawara Road)	КОТА	RURAL	43	OPEN CC 1	DC	35	35	1225	12	30	Draw of Lots	5	4
525	Village-Jarkhoda, Tehsil-Nainwa	BUNDI	RURAL	55	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
526	Village Chureliya, Tehsil Manohar Thana	JHALAWAR	RURAL	32	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
527	Village -Semliya,Tehsil-Sunel	JHALAWAR	RURAL	30	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
528	Village Morpa, Tehsil-Sultanpur	КОТА	RURAL	45	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
529	Village Kishanpura Takiya ,On Road Connectinng SH-33 And NH 27	КОТА	RURAL	50	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
530	Village-Baroli, Tehsil-Dooni	TONK	RURAL	42	ST	CFS	35	35	1225	0	0	Draw of Lots	0	2
531	Village Pundrapara on Abhaneri Road, Tehsil Baswa	DAUSA	RURAL	25	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
532	VILLAGE BHOLAPURA, TEHSIL WEIR	BHARATPUR	RURAL	29	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*)imension (in site (in Sq. M	· · · · · · · · · · · · · · · · · · ·		be arranged applicant	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7		8		9a	9b	10	11	12
533	Village-Chandsinghpura, Tehsil-Dooni	ТОЛК	RURAL	48	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
534	Village Parli(Not on NH), Tehsil Sikrai	DAUSA	RURAL	30	OBC CC 1	DC	35	35	1225	12	30	Draw of Lots	5	3
535	Village-Siwana,Tehsil-Kishangarh Bas,Dist- Alwar	ALWAR	RURAL	60	ST CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	2
536	village Silora Tehsil Kishangarh	AJMER	RURAL	115	OPEN PH	DC	35	35	1225	12	30	Draw of Lots	5	4
537	Village Alod, ON MDR 110, Tehsil- Ramganj mandi	КОТА	RURAL	46	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
538	Village Nangal Sherpur, Tehsil Todabhim	KARAULI	RURAL	32	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
539	Village Looloj, Tehsil Sapotara	KARAULI	RURAL	45	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
540	Village-Begna, Tehsil-Baran	BARAN	RURAL	30	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
541	Village Rel,Tehsil- Sultanpur	КОТА	RURAL	37	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
542	Village Liwali, Tehsil Bamanwas	SAWAIMADHOPUR	RURAL	28	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
543	Village Karnawar(Not on SH), Tehsil Baswa	DAUSA	RURAL	30	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
544	Between Harinagar and Panbeda on Hindaun to Gudhachandraji road	KARAULI	RURAL	40	ST	CFS	35	35	1225	0	0	Draw of Lots	0	2
545	Village Salotiya ,On Sunel- Jhalarapatan Road,Tehsil Pirawa	JHALAWAR	RURAL	55	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
546	VILLAGE ALIPUR, TEHSIL WEIR	BHARATPUR	RURAL	44	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
547	Village Khawarawji on MDR 63	DAUSA	RURAL	25	OPEN CC 1	DC	35	35	1225	12	30	Draw of Lots	5	4
548	Village Abhaneri, Tehsil Baswa	DAUSA	RURAL	25	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
549	Village Gudha katla on kundal to Bandikui road	DAUSA	RURAL	30	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
550	Village Khilchipur on MDR111, Tehsil Sawaimadhopur	SAWAIMADHOPUR	RURAL	60	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
551	Village Jasota, Tehsil Dausa	DAUSA	RURAL	27	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
552	Village Kalwan, Tehsil Sikrai	DAUSA	RURAL	25	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
553	Village Dheenwa on Nimbahera to Mangalwar road LHS when moving from Nimbahera to Mangalwar	CHITTORGARH	RURAL	245	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
554	Village Sainthal Tehsil Dausa	DAUSA	RURAL	27	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
555	within 2 kms of Badi Masjid, Amrooka on Kaman - pahadi Road	BHARATPUR	RURAL	44	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
556	Village Bhainsa on Santha Todabhim Road, Tehsil Todabhim	KARAULI	RURAL	45	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
557	Village Garhmora, Tehsil Nadhoti	KARAULI	RURAL	30	ST	CFS	35	35	1225	0	0	Draw of Lots	0	2
558	jatmasi to Roopwas road	BHARATPUR	RURAL	46	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
559	Between Village Panwadera to Village Chouth Ka barwara on Chouth Ka Barwara to Shiwad road	SAWAIMADHOPUR	RURAL	45	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
560	Village Shyampura on MDR111, tehsil Sawaimadhopur	SAWAIMADHOPUR	RURAL	45	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*)imension (in site (in Sq. M	· ·		be arranged Ipplicant	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7		8		9a	9b	10	11	12
561	Village Pakhand , Tehsil Nathdwara	RAJSAMAND	RURAL	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
562	village Seh, tehsil Kumher	BHARATPUR	RURAL	27	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
563	Village Gangadwari on Bhandrej Sikandara Road, Tehsil Sikrai	DAUSA	RURAL	25	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
564	Village Akpura, tehsil Baseri	DHOLPUR	RURAL	30	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
565	Village Sarkana, tehsil Saipau	DHOLPUR	RURAL	30	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
566	Village Sengarpura, Tehsil Karauli	KARAULI	RURAL	30	ST	CFS	35	35	1225	0	0	Draw of Lots	0	2
567	Village Mahariya to Village Dausada, Tehsil Lalsot (Not on SH)	DAUSA	RURAL	29	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
568	VILLAGE SHAHJADPURA, TEHSIL BHUSAWAR	BHARATPUR	RURAL	44	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
569	village Gobra, tehsil Nadbai	BHARATPUR	RURAL	39	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
570	Village Rathanzana Tehsil Pratapgarh	PRATAPGARH	RURAL	89	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
571	Village Sinsini, Tehsil Deeg	BHARATPUR	RURAL	28	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
572	Between village Akola and village Tana including both villages Tehsil Bhupalsagar	CHITTORGARH	RURAL	105	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
573	Village Tilora Tehsil Pisangan	AJMER	RURAL	95	OPEN CC 1	DC	35	35	1225	12	30	Draw of Lots	5	4
574	Village Sarani Kheda, tehsil - Dholpur	DHOLPUR	RURAL	60	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
575	Within 10KM from Kapasan on Kapasan Rajsamand Road	CHITTORGARH	RURAL	126	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
576	Village Dhaadamgara (Jalandhar Khera) Tehsil Arnod	PRATAPGARH	RURAL	96	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
577	Village Kanti tehsil Gangrar on Rashmi-Chanderiya road LHS when moving from Rashmi to Chanderiya	CHITTORGARH	RURAL	69	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
578	Village Dabal Tehsil Sanchore	JALORE	RURAL	100	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
579	Within 2 Kms from Chainpur police Chouki, On Chainpur to Masalpur road, Tehsil Karauli	KARAULI	RURAL	40	ST	CFS	35	35	1225	0	0	Draw of Lots	0	2
580	VILLAGE DANTRA ,TEHSIL PEESANGAN	AJMER	RURAL	40	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
581	Village Chatwara on Chatwara Vandar road , Tehsil raniwara	JALORE	RURAL	100	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
582	Village Jaliya-2, Tehsil Masuda	AJMER	RURAL	60	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
583	Between Village Bordi and Chiklad on MDR-12 (Pratapgarh- Dhariyawad Road) Tehsil Pratapgarh	PRATAPGARH	RURAL	99	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
584	Village Hemra, Tehsil- Pirawa	JHALAWAR	RURAL	40	SC CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	2
585	Village Lahri Ka Was, Tehsil Dausa	DAUSA	RURAL	70	OPEN CC 2	DC	35	35	1225	12	30	Draw of Lots	5	4
586	Village Ajaysar Tehsil Ajmer	AJMER	RURAL	100	OBC CC 1	DC	35	35	1225	12	30	Draw of Lots	5	3
587	Village Badanwari Tehsil Jalore	JALORE	RURAL	90	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*)imension (in site (in Sq. M	· ·		be arranged applicant	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7		8		9a	9b	10	11	12
588	Within 10KM from Pratapgarh on Paratpgarh Neemuch Road	PRATAPGARH	RURAL	94	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
589	Village Kushlapura Tehsil Bhinmal	JALORE	RURAL	100	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
590	Village Dakatra Tehsil Jalore	JALORE	RURAL	100	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
591	Village Rampura Khera Tehsil Reodar	SIROHI	RURAL	100	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
592	Village Mer Mandwara Tehsil Sirohi	SIROHI	RURAL	100	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
593	village Sarmathura(Not on NH), tehsil Sarmathura	DHOLPUR	RURAL	50	ST	CFS	35	35	1225	0	0	Draw of Lots	0	2
594	VILLAGE NIMBAJ TEHSIL REODAR	SIROHI	RURAL	90	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
595	Within 5KM from Mangalwar Circle on Mangalwar to Nikumbh road	CHITTORGARH	RURAL	160	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
596	Within 10KM from Pratapgarh on Paratpgarh Ratlam Road	PRATAPGARH	RURAL	127	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
597	Within 4 KM from SH-09 on Chittorgarh Bhimgarh Road	CHITTORGARH	RURAL	131	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
598	Village Charan ki garli on Banswara - Kushal garh road, Tehsil Kushalgarh	BANSWARA	RURAL	80	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
599	JAHAZPUR TO DEOLI ROAD upto 5 KM from Jahazpur on MDR 7	BHILWARA	RURAL	90	OPEN CC 1	DC	35	35	1225	12	30	Draw of Lots	5	4
600	VILLAGE JAKHARI TEHSIL RANIWARA	JALORE	RURAL	110	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
601	Within 1 KM towards Intali Road from Fatehnagar .	UDAIPUR	RURAL	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
602	Village Padra on Sagwara - Punjpur Road , Tehsil Sagwara	DUNGARPUR	RURAL	80	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
603	From bhopalpura to bhatewar Road.District Udaipur	UDAIPUR	RURAL	45	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
604	Village Junjani Tehsil Bhinmal	JALORE	RURAL	100	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
605	VILLAGE BARODIYA TEHSIL BHINDER DISTRICT UDAIPUR	UDAIPUR	RURAL	100	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
606	VILLAGE SAKHWARA, TEHSIL DHOLPUR	DHOLPUR	RURAL	25	ST	CFS	35	35	1225	0	0	Draw of Lots	0	2
607	Village Talaiyan within 2 km of Nagphani Temple, Tehsil Dungarpur	DUNGARPUR	RURAL	80	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
608	VILLAGE BADGAON TEHSIL RANIWARA	JALORE	RURAL	125	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
609	VILLAGE KOTRA TEHSIL KOTRA DISTRICT UDAIPUR	UDAIPUR	RURAL	135	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
610	Village-Jorpura, Tehsil-Phulera	JAIPUR	RURAL	100	ST PH	CFS	35	35	1225	0	0	Draw of Lots	0	2
611	Village siyat tehsil sojat.	PALI	RURAL	73	OBC PH	DC	35	35	1225	12	30	Draw of Lots	5	3
612	Village Sakarawas , Tehsil Relmagra	RAJSAMAND	RURAL	100	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
613	Village Kalyan kala Tehsil Jhallara District Udaipur	UDAIPUR	RURAL	120	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
614	Within 3 KM from Baldiya Bus Stand towards Dungarpur on Dungarpur-Bichhiwara road	DUNGARPUR	RURAL	90	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		Dimension (in site (in Sq. M	· · · · · · · · · · · · · · · · · · ·		be arranged applicant	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7		8		9a	9b	10	11	12
615	Village Dindoli on Dindoli to Kapasan road Tehsil Rashmi	CHITTORGARH	RURAL	64	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
616	VILLAGE ALASAN TEHSIL SAYLA	JALORE	RURAL	100	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
617	Village Katisour (Aspur to Sagwara Road within 2 Kms of Katkeshwar Temple)	DUNGARPUR	RURAL	80	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
618	Village Kanoj Tehsil Kekri	AJMER	RURAL	35	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
619	VILLAGE KANETI, TEHSIL TODABHIM	KARAULI	RURAL	65	ST	CFS	35	35	1225	0	0	Draw of Lots	0	2
620	VILLAGE SIYAWA, TEHSIL ABU ROAD on MDR-49(RTO circle abu road to Ambaji Road)	SIROHI	RURAL	80	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
621	Village bijapur, tehsil sumerpur.	PALI	RURAL	45	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
622	ON EITHER SIDE BETWEEN ANA JHARNA CIRCLE AND HOTEL GARH GOVIND CIRCLE ON JODHPUR BYE PASS ROAD	JODHPUR	RURAL	180	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
623	VILLAGE RAILA, TEHSIL BANERA	BHILWARA	RURAL	60	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
624	Village kudki, tehsil jaitaran.	PALI	RURAL	45	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
625	Village Arnoda Tehsil Nimbahera	CHITTORGARH	RURAL	156	OPEN CC 1	DC	35	35	1225	12	30	Draw of Lots	5	4
626	Vill Bhinmal B, tehsil Bhinmal on Bhinmal-Dapsa road	JALORE	RURAL	120	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
627	Village biratiya khurd, tehsil jaitaran.	PALI	RURAL	45	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
628	Village Baloti, Tehsil Sapotara	KARAULI	RURAL	45	ST	CFS	35	35	1225	0	0	Draw of Lots	0	2
629	ON JAITSAR ROAD BETWEEN VILLAGES 2-MSD AND 2-BGM	SRI GANGANAGAR	RURAL	35	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
630	VILLAGE 23 FF, TEHSIL RAISINGHNAGAR	SRI GANGANAGAR	RURAL	25	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
631	VILLAGE 29 NP, TEHSIL RAISINGHNAGAR	SRI GANGANAGAR	RURAL	25	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
632	FROM MUKLAWA POLICE STATION 4 KM TOWARDS RAISINGHNAGAR ON RAISINGHNAGAR ROAD	SRI GANGANAGAR	RURAL	27	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
633	DR. AMBEDKAR GOVT. PG COLLEGE TO KALIYAN ON HINDUMALKOT ROAD, tehsil SRI GANGANAGAR	SRI GANGANAGAR	RURAL	60	SC CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	2
634	VILLAGE VERIYA ON GANDHAV TO BAKHASAR ROAD	BARMER	RURAL	36	OBC CC 1	DC	35	35	1225	12	30	Draw of Lots	5	3
635	CHAK 6 V(DHANOOR), TEHSIL SRI KARANPUR	SRI GANGANAGAR	RURAL	25	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
636	Village Rani Khera Tehsil Nimbahera	CHITTORGARH	RURAL	156	OPEN PH	DC	35	35	1225	12	30	Draw of Lots	5	4
637	VILLAGE NAHRO KI NARI, ON DHANAU TO DHORIMANNA ROAD	BARMER	RURAL	55	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
638	VILLAGE 2 DOA, TEHSIL SURATGARH	SRI GANGANAGAR	RURAL	27	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
639	VILLAGE 18 ML, TEHSIL SRIGANGANAGAR	SRI GANGANAGAR	RURAL	27	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
640	VILLAGE BHOPALGARH (NOT ON SH); TEHSIL BHOPALGARH	JODHPUR	RURAL	100	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
641	SAAWA TO BURHAAN KA TALA, TEHSIL CHOHTAN	BARMER	RURAL	35	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		Dimension (in site (in Sq. M	· · · · · · · · · · · · · · · · · · ·		be arranged applicant	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7		8		9a	9b	10	11	12
642	VILLAGE 5 LK, TEHSIL HANUMANGARH	HANUMANGARH	RURAL	27	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
643	VILLAGE 2 SNM, TEHSIL HANUMANGARH	HANUMANGARH	RURAL	25	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
644	VILLAGE 4 LNP, TEHSIL SRI GANGANAGAR	SRI GANGANAGAR	RURAL	30	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
645	Village denda, tehsil pali.	PALI	RURAL	34	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
646	Between Haro puliya and village delwara Lokiya , Tehsil Ghatol	BANSWARA	RURAL	55	ST	CFS	35	35	1225	0	0	Draw of Lots	0	2
647	Village chopra(not on SH/NH), tehsil sojat.	PALI	RURAL	32	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
648	VILLAGE SARENCHA ON SALAWAS DHUNDHARA ROAD	JODHPUR	RURAL	40	OPEN CC 1	DC	35	35	1225	12	30	Draw of Lots	5	4
649	VILLAGE CHAK 25 PS(A), RAISINGHNAGAR TO LIKHMEWALA ROAD	SRI GANGANAGAR	RURAL	35	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
650	Village narlai, tehsil desuri(Not on SH/NH)	PALI	RURAL	41	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
651	VILLAGE RORA ON PROPOSED NOKHA BY-PASS(TEHSIL : NOKHA)	BIKANER	RURAL	108	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
652	IN DEVIKOT ON PHALSUND- JAISALMER ROAD, Tehsil Jaisalmer	JAISALMER	RURAL	50	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
653	VILLAGE DHIGANA ON GUDA-ROHAT ROAD; TEHSIL LUNI	JODHPUR	RURAL	36	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
654	VILLAGE MANAKLAO ON JODHPUR RING ROAD	JODHPUR	RURAL	70	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
655	VILLAGE- GADRIYA KA GURHA TEHSIL GIRWA DISTRICT UDAIPUR	UDAIPUR	RURAL	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	2
656	FROM VILLAGE 3-RBA TO 3-PS ON PADAMPUR-JAITSAR ROAD	SRI GANGANAGAR	RURAL	25	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
657	FROM BAMBLOO CHAURAHA UPTO SRERA PHANTA ON RANISAR ROAD	BIKANER	RURAL	33	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
658	VILLAGE UNDKHA,BARMER	BARMER	RURAL	33	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
659	FROM 32GB (VIJAYNAGAR) TOWARDS RAISINGHNAGAR UPTO 4 KMS on SRI VIJAYNAGAR-RAISINGHNAGAR ROAD	SRI GANGANAGAR	RURAL	40	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
660	Village bhawnagar, tehsil Pali.	PALI	RURAL	40	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
661	BETWEEN SARUPE KA TALA TO CHOHTAN TOWARDS CHOHTAN	BARMER	RURAL	33	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
662	WITHIN 10 KM FROM SULTANA ON SULTANA-PTM ROAD	JAISALMER	RURAL	33	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
663	VILLAGE JEGLA PANNA DAROGA(TEHSIL NOKHA)	BIKANER	RURAL	33	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
664	VILLAGE 12 KND, TEHSIL GHARSANA	SRI GANGANAGAR	RURAL	25	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
665	40 RD BABARAMDEV UPSAKHA JMR TO ASU TAR ROAD, JAISALMER	JAISALMER	RURAL	35	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
666	BETWEEN KM STONE NO. 42 TO 48 ON JAISALMER RAMGARH ROAD (OLD BRO ROAD)	JAISALMER	RURAL	100	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
667	VILLAGE SHEIKHSAR (TEHSIL LUNKARANSAR)	BIKANER	RURAL	30	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		Dimension (in site (in Sq. M	· · · · · · · · · · · · · · · · · · ·		be arranged applicant	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7		8		9a	9b	10	11	12
668	Village Ratanpura Tehsil Sanchore	JALORE	RURAL	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	2
669	Village mokanpura within 1 km from lions eye hospital on RHS on rani to mundara road.	PALI	RURAL	104	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
670	WITHIN 10 KMS OF DIN DAYAL UPADHAYA CHORAHA towards Dhariyawad ON DHARIYAWAD ROAD DISTT PARTAPGARH	PRATAPGARH	RURAL	97	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
671	VILLAGE SUIN (TEHSIL : LUNKARANSAR)	BIKANER	RURAL	30	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
672	Between Village Badi sadri and village Bansi on MDR 182	CHITTORGARH	RURAL	115	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
673	Vilage Sundra to village robiya towards Rani vijaynagar border. Tehsil - Kherwada	UDAIPUR	REGULAR	130	OPEN	DC	35	35	1225	25	45	Draw of Lots	15	5
674	WITHIN 5 KMS ON BOTH SIDES OF SAYLA ON EITHER SIDE OF THE ROAD ON SH-16	JALORE	REGULAR	115	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
675	BETWEEN KM STONE NO. 62 TO 67 ON NH 68 (JAISALMER-BARMER ROAD)	JAISALMER	REGULAR	160	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
676	UPTO 4 KM FROM BALWANTA TIRAHA ON AJMER NASIRABAD ROAD TOWARDS AJMER	AJMER	REGULAR	170	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
677	BETWEEN KM STONE 26 TO 30 ON SH-7E	AJMER	REGULAR	120	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
678	IN BETWEEN KM STONE 166-169 RHS ON NH 27/76 (CHITTORGARH TO UDAIPUR)	CHITTORGARH	REGULAR	214	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
679	FROM KM STONE 194 TO 200 NH-79 RHS (on CHITTORGARH- NEEMUCH ROAD)	CHITTORGARH	REGULAR	265	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
680	Village-AOU, 30 to 31 milestone, Tehsil - Deeg, District - Bharatpur	BHARATPUR	REGULAR	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
681	BETWEEN KM STONE NO 263-268 ON NH-68 OLD NH-15(RADHANPUR- JAISALMER ROAD)	JALORE	REGULAR	160	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
682	BETWEEN BEAWAR AND JAWAJA ON NH-08 , LHS WHEN MOVING FROM BEAWAR TO UDAIPUR	AJMER	REGULAR	200	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
683	FROM CA CIRCLE TO UDAIPOLE BUS STAND	UDAIPUR	REGULAR	170	OPEN	DC	18	15	270	25	60	Draw of Lots	15	5
684	DECHU ON EITHER SIDE OF NH 125(JODHPUR JAISALMER ROAD)	JODHPUR	REGULAR	160	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
685	BHEELORA TEHSIL SAGWARA DISTRICT DUNGARPUR	DUNGARPUR	REGULAR	105	OBC	DC	35	35	1225	25	45	Draw of Lots	15	4
686	DUNGARPUR CITY WML -ON DUNGARPUR -BICHIWARA ROAD	DUNGARPUR	REGULAR	160	OPEN CC 1	СС	18	15	270	25	10	Bidding	30	5
687	FROM UDAIPUR TOWARDS PALANPUR)	SIROHI	REGULAR	160	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
688	BETWEEN BEAWAR AND JAWAJA ON NH-08 , RHS WHEN MOVING FROM BEAWAR TO UDAIPUR	AJMER	REGULAR	200	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
689	Gilund tehsil Railmagra	RAJSAMAND	REGULAR	123	OBC	DC	18	15	270	25	45	Draw of Lots	15	4
690	BETWEEN KM STONE NO 275-280 ON NH-68 OLD NH-15(RADHANPUR- JAISALMER ROAD)	JALORE	REGULAR	170	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
691	VILLAGE ADARSH NAGAR WITHIN MUNICIPAL LIMITS	UDAIPUR	REGULAR	105	OPEN	DC	18	15	270	25	45	Draw of Lots	15	5
692	BETWEEN KM STONE 235 & 240 ON NH 62(JODHPUR NAGAUR ROAD LHS)	JODHPUR	REGULAR	157	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		Dimension (in site (in Sq. M	· · · · · · · · · · · · · · · · · · ·		be arranged applicant	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7		8		9a	9b	10	11	12
693	Between KM stone No.642-652 on NH-27 RHS (WHILE MOVING FROM UDAIPUR TOWARDS PALANPUR)	SIROHI	REGULAR	160	OBC	СС	35	45	1575	25	10	Bidding	30	4
694	within 3 KMs of Sanwariya Ji Hospital on Chittorgarh Udaipur road WML of Chittorgarh	CHITTORGARH	REGULAR	143	OPEN	сс	18	15	270	25	10	Bidding	30	5
695	On RHS of Bikaner- Jaisalmer Road (NH no. 11) between 407 to 402 km stone	BIKANER	REGULAR	158	OPEN CC 2	DC	35	45	1575	25	75	Draw of Lots	15	5
696	BETWEEN KM STONE 345-349 LHS UDAIPUR AHEMDABAD ROAD ON NH-8/48	UDAIPUR	REGULAR	150	OBC CC 1	DC	35	45	1575	25	75	Draw of Lots	15	4
697	Rashmi town on Dindoli-Rashmi Road	CHITTORGARH	REGULAR	120	ST CC 1	CFS	18	15	270	0	0	Draw of Lots	0	3
698	Partapgarh City (WML)	PRATAPGARH	REGULAR	119	OPEN	СС	18	15	270	25	10	Bidding	30	5
699	From Gagwana to Kishangarh on NH-08 , LHS when moving from Ajmer to Kishangarh	AJMER	REGULAR	250	OPEN	СС	35	45	1575	25	10	Bidding	30	5
700	KANPUR TOWN TEHSIL GIRWA	UDAIPUR	REGULAR	110	OBC	DC	35	35	1225	25	45	Draw of Lots	15	4
701	IN BETWEEN KM STONE 185-195 RHS ON NH 27/76 (CHITTORGARH TO UDAIPUR)	CHITTORGARH	REGULAR	211	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
702	WITHIN 5 KMS FROM AHORE TOWARDS JALORE ON NH-325(OLD SH- 16)	JALORE	REGULAR	160	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
703	BETWEEN KM STONE 350-354 VILLAGE BADLA LHS UDAIPUR AHEMDABAD ROAD ON NH-8/48	UDAIPUR	REGULAR	190	OPEN	СС	35	45	1575	25	10	Bidding	30	5
704	Chhoti Sadri Town Tehsil Chhoti Sadri	PRATAPGARH	REGULAR	146	OBC	DC	18	15	270	25	45	Draw of Lots	15	4
705	BETWEEN KM STONE 240-260 RHS ON UDAIPUR JAIPUR ROAD NH8/48	UDAIPUR	REGULAR	150	OPEN	СС	35	45	1575	25	10	Bidding	30	5
706	Begun Town on Begun to Palanpur road Tehsil Begun	CHITTORGARH	REGULAR	124	ST	CFS	18	15	270	0	0	Draw of Lots	0	3
707	Between Km stone no 660-672 on NH 27 RHS (WHILE MOVING FROM UDAIPUR TOWARDS PALANPUR)	SIROHI	REGULAR	200	OPEN	СС	35	45	1575	25	10	Bidding	30	5
708	AHORE WITHIN TOWN AREA LIMITS(NOT ON SH)	JALORE	REGULAR	140	OBC	DC	18	15	270	25	45	Draw of Lots	15	4
709	FROM KM STONE 192 TO 197 NH-79 LHS (on CHITTORGARH- NEEMUCH ROAD)	CHITTORGARH	REGULAR	285	OPEN CC 1	СС	35	45	1575	25	10	Bidding	30	5
710	FROM KM STONE 212 TO 218 NH-79 RHS (on CHITTORGARH- NEEMUCH ROAD)	CHITTORGARH	REGULAR	265	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
711	BETWEEN SUKHER CHAURAHA TO PRATAPNAGAR CHAURAHA LHS	UDAIPUR	REGULAR	160	OBC	DC	18	15	270	25	60	Draw of Lots	15	4
712	Village-Peepalya on Bundi-Nainwa Road	BUNDI	REGULAR	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
713	Village Samogar, Tehsil Bayana (on SH -01)	BHARATPUR	REGULAR	105	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
714	BETWEEN PRATPNAGAR CHAURAHA TO SUKHER CHAURAHA LHS	UDAIPUR	REGULAR	160	OBC	DC	18	15	270	25	60	Draw of Lots	15	4
715	FROM KM STONE 943 TO 948 LHS ON NH-27 (CHITTORGARH - KOTA ROAD)	CHITTORGARH	REGULAR	175	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
716	Between Aayappa Temple to Royal Paras Hotel WML of Nimbahera	CHITTORGARH	REGULAR	163	OPEN	СС	18	15	270	25	10	Bidding	30	5
717	Sirohi City (within Municipal Limits)	SIROHI	REGULAR	160	OPEN	СС	18	15	270	25	10	Bidding	30	5
718	Bhainsrorgarh Town Tehsil Rawatbhata	CHITTORGARH	REGULAR	153	OBC	DC	18	15	270	25	45	Draw of Lots	15	4

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		Dimension (in site (in Sq. N	· ·		be arranged applicant	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7		8		9a	9b	10	11	12
719	KARANPUR TOWN ON VALLABHNAGAR KARANPUR ROAD , DISTRICT UDAIPUR TEHSIL VALLABHNAGAR	UDAIPUR	REGULAR	100	SC	CFS	18	15	270	0	0	Draw of Lots	0	3
720	Sanchore Within Town Area Limits	JALORE	REGULAR	170	OPEN	СС	18	15	270	25	10	Bidding	30	5
721	FROM KM STONE 216 TO 220 NH-79 LHS (on CHITTORGARH- NEEMUCH ROAD)	CHITTORGARH	REGULAR	287	OPEN	СС	35	45	1575	25	10	Bidding	30	5
722	Between KM stone 352-357 Udaipur Ahemdabad road RHS on NH8 district DUNGARPUR	DUNGARPUR	REGULAR	160	OBC PH	СС	35	45	1575	25	10	Bidding	30	4
723	BARAL TO BIJAYNAGAR (FROM 27 MEEL CHAURAHA TO RAJNAGAR TIRAHA ON SH39)	AJMER	REGULAR	150	SC PH	CFS	35	35	1225	0	0	Draw of Lots	0	3
724	Raniwara (Within City Limits)NOT ON SH	JALORE	REGULAR	120	OPEN	СС	18	15	270	25	10	Bidding	30	5
725	FROM KM STONE 202 TO 205 NH-79 LHS (on CHITTORGARH- NEEMUCH ROAD)	CHITTORGARH	REGULAR	287	OPEN	СС	35	45	1575	25	10	Bidding	30	5
726	Gangrar Town Tehsil Gangrar and not on NH	CHITTORGARH	REGULAR	158	OBC	DC	18	15	270	25	45	Draw of Lots	15	4
727	Between KM Stone 726-738 NH-62 LHS when moving from Pali to Pindwara road.	SIROHI	REGULAR	200	OPEN	СС	35	45	1575	25	10	Bidding	30	5
728	JHADOL TO PHALASIYA ROAD ON NH 58	UDAIPUR	REGULAR	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
729	SAYLA WITHIN MUNICIPAL LIMITS (NOT ON SH-16)	JALORE	REGULAR	120	OPEN	DC	18	15	270	25	45	Draw of Lots	15	5
730	WML of Chittorgarh on Chittorgarh Nimbahera road	CHITTORGARH	REGULAR	143	OBC	DC	18	15	270	25	45	Draw of Lots	15	4
731	BETWEEN KM STONE 240-260 LHS UDAIPUR -JAIPUR ROAD ON NH8	UDAIPUR	REGULAR	350	OPEN	СС	35	45	1575	25	10	Bidding	30	5
732	Kapasan on Kapasan town to Kapasan Railway station road and not on SH	CHITTORGARH	REGULAR	100	SC	CFS	18	15	270	0	0	Draw of Lots	0	3
733	Village Mishroli,On NH 52,Tehsil Jhalarapatan	JHALAWAR	REGULAR	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
734	VILLAGE RISHABDEV WITH IN MUNICIPAL LIMITS	UDAIPUR	REGULAR	150	OPEN	DC	18	15	270	25	45	Draw of Lots	15	5
735	BETWEEN KM STONE 345-349 RHS UDAIPUR AHEMDABAD ROAD ON NH-8/48	UDAIPUR	REGULAR	170	OPEN CC 1	DC	35	45	1575	25	75	Draw of Lots	15	5
736	Village Garnawad ,On SH 19A, Tehsil Pachpahar	JHALAWAR	REGULAR	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
737	BETWEEN RUPAWATI AND BAMANWADA ON SH-11	JALORE	REGULAR	105	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
738	Within 2 KM of Maloo Hospital , Bhilwara City	BHILWARA	REGULAR	250	OPEN	СС	18	15	270	25	10	Bidding	30	5
739	Between Inox mall to Mohan lal Sukhadiya University road near bekni Puliya Circle.	UDAIPUR	REGULAR	250	OPEN	DC	18	15	270	25	60	Draw of Lots	15	5
740	Village Bojunda on Chittorgarh Udaipur road	CHITTORGARH	REGULAR	148	OBC	DC	35	35	1225	25	45	Draw of Lots	15	4
741	BOTH LHS & RHS Village Devla after Gogunda Udaipur - Pindwara Road NH-27,	UDAIPUR	REGULAR	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
742	BETWEEN FATEHSAGAR LAKE TO TIGER HILLS DISTRICT UDAIPUR	UDAIPUR	REGULAR	160	OPEN	DC	18	15	270	25	45	Draw of Lots	15	5
743	BHILWARA -CHITTORGARH MAIN CITY ROAD, WML OF BHILWARA	BHILWARA	REGULAR	250	OPEN	СС	18	15	270	25	10	Bidding	30	5
744	FROM KM STONE 8 TO 10 LHS (When moving from Nimbahera to Choti Sadri) ON NH-113	CHITTORGARH	REGULAR	172	OPEN	СС	35	45	1575	25	10	Bidding	30	5

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		Dimension (in site (in Sq. M	· · · · · · · · · · · · · · · · · · ·		be arranged applicant	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7		8		9a	9b	10	11	12
745	VEER BABA TEMPLE TO JAVAI LAKE ON GURU SHIKHAR ROAD , MOUNT ABU	SIROHI	REGULAR	110	OBC CC 1	DC	35	35	1225	25	45	Draw of Lots	15	4
746	Village Khawas Tehsil Kekri on SH-12	AJMER	REGULAR	120	ST CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
747	FROM CHETAK CIRCLE TO COURT CHAURAHA UDAIPUR CITY	UDAIPUR	REGULAR	200	OPEN PH	СС	18	15	270	25	10	Bidding	30	5
748	BETWEEN KM STONE 96 TO 98 ON EITHER SIDE OF SH-31(BHINMAL- RANIWARA ROAD)	JALORE	REGULAR	120	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
749	DABOK TO DEBARI ON NH 76(27) LHS FROM CHITTORGAH TO UDAIPUR	UDAIPUR	REGULAR	160	OPEN	СС	35	45	1575	25	10	Bidding	30	5
750	VILLAGE Bhinder withh in municipal limits	UDAIPUR	REGULAR	100	SC	CFS	18	15	270	0	0	Draw of Lots	0	3
751	On Ashoknagar Main road Udaipur CITY	UDAIPUR	REGULAR	250	OPEN	CC	18	15	270	25	10	Bidding	30	5
752	Within 3 Km from BHARUDI towards Bhinmal on SH-31 (Ramsin- Bhinmal Road)	JALORE	REGULAR	140	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
753	Udaipur City (Sobhagpura Choraha to Hotel Ambience)	UDAIPUR	REGULAR	170	OPEN	DC	18	15	270	25	60	Draw of Lots	15	5
754	NH-79 BETWEEN AATUN CHOURAHA TO SANGAM UNIVERSITY ON LHS WHEN MOVING FROM BHILWARA TO CHITTORGARH	BHILWARA	REGULAR	250	OPEN	сс	35	45	1575	25	10	Bidding	30	5
755	WITHIN 3 KM OF TIJWADA CHOURAHA (DUNGARPUR TO ASPUR ROAD), DUNGARPUR CITY WML	DUNGARPUR	REGULAR	160	ST	CFS	18	15	270	0	0	Draw of Lots	0	3
756	Bhinmal on SH-31 upto 2 Kms towards Jalore	JALORE	REGULAR	160	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
757	Between Rupaheli & Gulabpura on NH 79 (LHS when moving from Bhilwara to Ajmer)	BHILWARA	REGULAR	250	OPEN	CC	35	45	1575	25	10	Bidding	30	5
758	BETWEEN KM STONE 235-239 RHS ON UDAIPUR JAIPUR ROAD	UDAIPUR	REGULAR	150	OPEN CC 1	DC	35	45	1575	25	75	Draw of Lots	15	5
759	Within 6 Km from Ghatol on Ghatol-Ganoda road	BANSWARA	REGULAR	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
760	RANIWADA ON SH-11	JALORE	REGULAR	130	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
761	ON GANGAPUR ROAD, WML OF BHILWARA CITY	BHILWARA	REGULAR	250	OPEN	СС	18	15	270	25	10	Bidding	30	5
762	Between KM stone 36-41 on NH-758, LHS when moving from Bhilwara to Rajsamand	BHILWARA	REGULAR	180	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
763	FROM KM STONE 148 TO 158 LHS (When moving from Bhilwara to Chittorgarh ON NH-79	CHITTORGARH	REGULAR	194	OBC	CC	35	45	1575	25	10	Bidding	30	4
764	IN BETWEEN KM STONE 168-172 ON RHS OF NH-8 WHILE MOVING FROM AJMER TO UDAIPUR	RAJSAMAND	REGULAR	180	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
765	UPTO 10 KM FROM TOLL PLAZA NEAR PIPLAZ,BEAWAR ON NH-08, ON LHS WHEN MOVING FROM BEAWAR TO AJMER	AJMER	REGULAR	170	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
766	Pragati Nagar Marg , Kotra ,Ajmer City	AJMER	REGULAR	250	OPEN	CC	18	15	270	25	10	Bidding	30	5
767	VILLAGE INTALI KHERA DISTRICT UDAIPUR	UDAIPUR	REGULAR	100	OBC	DC	35	35	1225	25	45	Draw of Lots	15	4
768	AKODIA (SARWAR - KISHANGARH ROAD SH7E)	AJMER	REGULAR	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		Dimension (in site (in Sq. M	· · · · · · · · · · · · · · · · · · ·	Finance to by the a	be arranged applicant	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7		8		9a	9b	10	11	12
769	JAIPUR ROAD WITHIN CITY LIMITS OF AJMER, RHS WHEN MOVING FROM AJMER TO JAIPUR	AJMER	REGULAR	250	OPEN	СС	18	15	270	25	10	Bidding	30	5
770	Baran City WML-1	BARAN	REGULAR	220	OPEN	DC	18	15	270	25	45	Draw of Lots	15	5
771	Village Bhatewar within municipal limits	UDAIPUR	REGULAR	100	OBC	DC	18	15	270	25	45	Draw of Lots	15	4
772	JAIPUR ROAD WITHIN CITY LIMITS OF AJMER, LHS WHEN MOVING FROM AJMER TO JAIPUR	AJMER	REGULAR	200	SC	CFS	18	15	270	0	0	Draw of Lots	0	3
773	WITH IN 2 KMS FROM BAJRANG CHOWK NEAR SHAHEED GARDEN ON UDAIPUR - DUNGARPUR BY PASS ROAD	DUNGARPUR	REGULAR	160	OPEN	сс	18	15	270	25	10	Bidding	30	5
774	VILLAGE Salumber with in municipal limits	UDAIPUR	REGULAR	100	OBC	DC	18	15	270	25	45	Draw of Lots	15	4
775	Within 2 KM of 9 Mile Choraha on SH-15, Mangalwar-Neemuch Highway Distt. Partapgarh	PRATAPGARH	REGULAR	144	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
776	Village BAROLIYA (On Rawatbhata - kota road)	CHITTORGARH	REGULAR	189	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
777	Bhilwara Kota Byepass on NH 758 between KM STONE 93 TO KM STONE 103- RHS When moving towards Ladpura	BHILWARA	REGULAR	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
778	BETWEEN CELEBRATION MALL TO SUKHER CHAURAHA	UDAIPUR	REGULAR	190	OBC	DC	18	15	270	25	60	Draw of Lots	15	4
779	In Between Turakdi to Borebawdi on SH 9A (Begun - Singoli road)	CHITTORGARH	REGULAR	155	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
780	KM stone 4 to 8 on SH -39 , Beawar Bijaynagar road	AJMER	REGULAR	150	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
781	BETWEEN KEKRI TO SAWAR ON SH26	AJMER	REGULAR	180	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
782	FROM VILLAGE NAGDA TO EKLINGJI TEMPLE ON EKLINGJI DELWARA ROAD	UDAIPUR	REGULAR	100	OBC	DC	35	35	1225	25	45	Draw of Lots	15	4
783	VILLAGE JASWANTGARH ON SH 32	UDAIPUR	REGULAR	150	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
784	Begun Town on Begun to Khermaliya road Tehsil Begun	CHITTORGARH	REGULAR	125	OPEN CC 1	DC	18	15	270	25	45	Draw of Lots	15	5
785	Within 1 KM of Nimbahera Railway station on Nimbahera railway station road WML of Nimbahera	CHITTORGARH	REGULAR	166	OBC	СС	18	15	270	25	10	Bidding	30	4
786	BHILWARA AJMER ROAD MAIN ROAD,LHS TOWARDS AJMER, WML OF BHILWARA	BHILWARA	REGULAR	150	SC	CFS	18	15	270	0	0	Draw of Lots	0	3
787	TITARDI ON SH32 UDAIPUR BANSWADA ROAD	UDAIPUR	REGULAR	220	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
788	BETWEEN KM STONE 790-799 Pindwara to Udaipur on NH 27Â on LHS Districtt Udaipur	UDAIPUR	REGULAR	180	OPEN	CC	35	45	1575	25	10	Bidding	30	5
789	FROM KM STONE 184 TO 186 LHS (When moving from Bhilwara to Chittorgarh ON NH-79	CHITTORGARH	REGULAR	195	OBC	СС	35	45	1575	25	10	Bidding	30	4
790	Between KM stone 41-49 on NH-758, RHS when moving from Bhilwara to Rajsamand	BHILWARA	REGULAR	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
791	BETWEEN UDAIPOLE CHOURAHA TO BALICHA CHAURAHA ON RHS VIA GOVERDHAN VILAS	UDAIPUR	REGULAR	170	OPEN	DC	18	15	270	25	60	Draw of Lots	15	5
792	IN BETWEEN KMSTONE 219 TO 216 ON LHS NH-8 WHILE MOVING FROM NATHDWARA TO GOMATI	RAJSAMAND	REGULAR	155	OPEN	СС	35	45	1575	25	10	Bidding	30	5
793	Between KM stone 145-150 ON LHS UDAIPUR CHITTORGARH ROAD at NH 27	UDAIPUR	REGULAR	170	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*)imension (in site (in Sq. M	· · · · · · · · · · · · · · · · · · ·		be arranged applicant	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7		8		9a	9b	10	11	12
794	On Chittorgarh to Bassi road (nearby Chittorgarh Fort) WML of Chittorgarh	CHITTORGARH	REGULAR	143	OPEN	DC	18	15	270	25	45	Draw of Lots	15	5
795	BETWEEN KM STONE 50 & 55 ON SH 86 A (RATRI ASOP ROAD)	JODHPUR	REGULAR	100	SC CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
796	Jhunjhunu on SH-41 towards Alsisar upto 10 kms	JHUNJHUNU	REGULAR	100	OPEN CC 2	DC	35	35	1225	25	60	Draw of Lots	15	5
797	FROM PANNADHAY CIRCLE TO MEWAR GIRLS COLLEGE WITHIN CHITTORGARH WML	CHITTORGARH	REGULAR	190	OBC CC 1	СС	18	15	270	25	10	Bidding	30	4
798	Between KM stone 921 to 924 RHS on NH-27/76 (CHITTORGARH - KOTA ROAD)	CHITTORGARH	REGULAR	216	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
799	(KM STONE NO 28-31) MAVLI to NATH DWARA LHS on NH 162 E.	UDAIPUR	REGULAR	180	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
800	BETWEEN ARJUNPURA AND LAMANA ON NH08 , LHS WHEN MOVING FROM AJMER TO BEAWAR	AJMER	REGULAR	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
801	Upto 3 KM from Rajmata Vijaya Raje Scindia Medical College on LHS when moving towards Bhilwara	BHILWARA	REGULAR	200	OPEN	сс	18	15	270	25	10	Bidding	30	5
802	IN BETWEEN KM STONE 214-217 RHS ON NH 27/76 (CHITTORGARH TO UDAIPUR)	CHITTORGARH	REGULAR	274	OPEN	СС	35	45	1575	25	10	Bidding	30	5
803	UPTO 2 KM OF PARBATPURA CHOURAHA TOWARDS AJMER CITY ON AJMER-NASIRABAD MAIN ROAD	AJMER	REGULAR	250	OBC	СС	18	15	270	25	10	Bidding	30	4
804	Within 10 Km Kherwada to Swaroop Ganj on 927A LHS	UDAIPUR	REGULAR	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
805	NIMBAHERA (WML)	CHITTORGARH	REGULAR	460	OPEN	СС	18	15	270	25	10	Bidding	30	5
806	DHARIYAWAD TOWN (WML)	PRATAPGARH	REGULAR	140	OPEN	DC	18	15	270	25	45	Draw of Lots	15	5
807	Vaishalinagar ,Ajmer City	AJMER	REGULAR	300	OBC	СС	18	15	270	25	10	Bidding	30	4
808	IN BETWEEN KM STONE 168-172 ON LHS OF NH-8 WHILE MOVING FROM AJMER TO UDAIPUR	RAJSAMAND	REGULAR	180	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
809	Vill. Dalot on SH 81 B	PRATAPGARH	REGULAR	100	OPEN	СС	35	35	1225	25	10	Bidding	30	5
810	BETWEEN KM STONE 235-240 LHS ON UDAIPUR JAIPUR ROAD	UDAIPUR	REGULAR	150	OPEN CC 1	DC	35	45	1575	25	75	Draw of Lots	15	5
811	DUNGARPUR CITY WML -ON DUNGARPUR BYPASS ROAD,WIHIN 2 KMS OF GOVT. HOSPITAL DUNGARPUR	DUNGARPUR	REGULAR	160	OBC	сс	18	15	270	25	10	Bidding	30	4
812	In B/w Km Stone 385 and 387, On NH08 LHS while moving from Bichhiwara to Ahmedabad	DUNGARPUR	REGULAR	210	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
813	Gangapur City Within Municipal Limits	BHILWARA	REGULAR	200	OPEN	DC	18	15	270	25	45	Draw of Lots	15	5
814	NASIRABAD to JHARWASA ON NH 79 (LHS when moving from NASIRABAD to BANDHANWARA)	BHILWARA	REGULAR	175	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
815	Shahpura on SH-12	BHILWARA	REGULAR	120	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
816	KARANPURA Near Mandalgarh ON NH 758	BHILWARA	REGULAR	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
817	In b/w KM Stone 20 and 22, SH-49,either side of Mavli to Nathwara	RAJSAMAND	REGULAR	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
818	On SH26 Between KM Stone No. 41 to 43 (LHS when moving from Nasirabad to Kekri)	AJMER	REGULAR	180	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		Dimension (in site (in Sq. M	· ·		be arranged applicant	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7		8		9a	9b	10	11	12
819	5KM FROM MAVLI TO VALLABH NAGAR ROAD	UDAIPUR	REGULAR	110	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
820	BETWEEN KM STONE 988-993 ON NH 27 (LHS WHILE MOVING FROM CHITTORGARH TO KOTA)	BHILWARA	REGULAR	250	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
821	Between Village Nikumbh and village Khardeola on Nikumbh- Badisadri road	CHITTORGARH	REGULAR	130	ST PH	CFS	35	35	1225	0	0	Draw of Lots	0	3
822	DUNGARPUR CITY WML-ON DUNGARPUR AHMEDARAD BY PASS	DUNGARPUR	REGULAR	160	OBC PH	СС	18	15	270	25	10	Bidding	30	4
823	Between 27 meel chowraha to Bandhanwara on NH 79 on LHS while moving from Bhilwara to Ajmer	AJMER	REGULAR	250	OPEN	СС	35	45	1575	25	10	Bidding	30	5
824	WITHIN 5 KM of Bijay Niwas Palace on SH 39 , Bijaynagar	AJMER	REGULAR	150	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
825	IN BETWEEN KM STONE 1 AND 5 ON NH 758 WHILE MOVING FROM PIPARDA TO BHAWA (Either Side)	RAJSAMAND	REGULAR	150	OBC	СС	35	45	1575	25	10	Bidding	30	4
826	Within 2 km to Mala tallai chowk	UDAIPUR	REGULAR	300	SC	CFS	18	15	270	0	0	Draw of Lots	0	3
827	On NH-8 (LHS Ajmer- to Beawar) within 2 KM of Saradhna HPC Depot	AJMER	REGULAR	250	OPEN	сс	35	45	1575	25	10	Bidding	30	5
828	Between Km stone 389 to 394 on NH-08 , LHS when moving from Aimer to Kishangarh	AJMER	REGULAR	250	OPEN	сс	35	45	1575	25	10	Bidding	30	5
829	WITHIN 4 KM OF SARDARGARH CHORAHA ON SH56 WHILE MOVING FROM SARDARGARH TO MADRI	RAJSAMAND	REGULAR	150	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
830	IN BETWEEN MILESTONE 670-660 ON NH-27, ON LHS (WHILE MOVING FROM UDAIPUR TOWARDS PALANPUR)	SIROHI	REGULAR	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
831	On SH 7 Kishangarh Rupangarh road , between KM Stone 7 to 11	AJMER	REGULAR	150	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
832	Between KM stone no 1007- 1011 on NH-27 , LHS (MOVING FROM KOTA TO CHITTORGARH)	BHILWARA	REGULAR	250	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
833	Beawer City from Chandgate to Rajmahal Hotel (WML)	AJMER	REGULAR	250	OPEN	DC	18	15	270	25	45	Draw of Lots	15	5
834	Deogarh WML	RAJSAMAND	REGULAR	130	OBC	DC	18	15	270	25	45	Draw of Lots	15	4
835	JASWANTPURA WITHIN TOWN AREA LIMITS	JALORE	REGULAR	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
836	5	BHILWARA	REGULAR	120	OPEN CC 1	DC	35	35	1225	25	60	Draw of Lots	15	5
837	WML	DUNGARPUR	REGULAR	162	OBC	DC	18	15	270	25	45	Draw of Lots	15	4
838	JAISAMAND (IN BETWEEN MILESTONE 140-155) ON SH-32 UDAIPUR- BANSWARA ROAD RHS	UDAIPUR	REGULAR	190	OPEN	СС	35	35	1225	25	10	Bidding	30	5
839	BETWEEN KISHANGARH TO SILORA ON NH 79A , LHS WHEN MOVING FROM KISHANGARH TO NASIRABAD	AJMER	REGULAR	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
840	UDAIPUR CITY IN BETWEEN PRATAP NAGAR CHORAHA AND THOKAR CHOURAHA	UDAIPUR	REGULAR	240	OPEN	СС	18	15	270	25	10	Bidding	30	5
841	Within 3 Km of Aspur Tiraha on SH32 (while moving from Aspur Tiraha to Banswara)	DUNGARPUR	REGULAR	140	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
842	In between Km Stone 229 and 225,NH08, LHS while moving from Udaipur to Nathdwara	RAJSAMAND	REGULAR	200	OPEN	СС	35	45	1575	25	10	Bidding	30	5

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		Dimension (in site (in Sq. M	· · · · · · · · · · · · · · · · · · ·		be arranged applicant	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7		8		9a	9b	10	11	12
843	In b/w KM Stone 23 and 28 On NH162A LHS, While moving fromFatehnagar to Dariba	RAJSAMAND	REGULAR	190	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
844	IN BETWEEN MILESTONE 684-672 ON NH-27, ON LHS (WHILE MOVING FROM UDAIPUR TOWARDS PALANPUR)	SIROHI	REGULAR	160	SC CC 1	CFS	35	45	1575	0	0	Draw of Lots	0	3
845	On Tehsil Choraha Dungarpur to Aspur Road, Dungarpur City WML	DUNGARPUR	REGULAR	160	OBC CC 1	DC	18	15	270	25	45	Draw of Lots	15	4
846	On 100 ft Road in between Maharana Pratap Choraha and Collectorate, Kankroli City (WML)	RAJSAMAND	REGULAR	220	OPEN	СС	18	15	270	25	10	Bidding	30	5
847	ON SH61 BETWEEN KM STONE 41 TO 46	BHILWARA	REGULAR	120	OPEN PH	DC	35	35	1225	25	60	Draw of Lots	15	5
848	IN BETWEEN MILESTONE 68-59 ON EITHER SIDE OF SH-31,(Bhinmal - Barudi Road)	JALORE	REGULAR	120	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
849	On Sanwariya ji temple to Charliya road within 3km from Sanwariya ji temple towards Charliya LHS	CHITTORGARH	REGULAR	110	OBC	DC	35	35	1225	25	45	Draw of Lots	15	4
850	In B/w KM stone 208 and 210(either side) on NH927 A	DUNGARPUR	REGULAR	160	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
851	Between KM 42 to 45 on NH-158 near Brahmano ki Sareri	BHILWARA	REGULAR	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
852	ASPUR -SALUMBER ROAD , ASPUR ON SH-32	UDAIPUR	REGULAR	200	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
853	In B/w Km Stone 371 and 361, On NH08 LHS while moving from Bichhiwara to Kherwara	DUNGARPUR	REGULAR	220	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
854	In b/w Km Stone 254 and 251 on NH927 A, LHS while moving from Banswara to Dungarpur	BANSWARA	REGULAR	160	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
855	Between OML of Dausa and Dausa District border towards Jaipur on Dausa to Jaipur road NH-21(RHS)	DAUSA	REGULAR	159	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
856	WITHIN 2 KMS FROM RAMGARH CHOURAHA (SH 39 BIJAYNAGAR TO BEAWER ROAD)	AJMER	REGULAR	150	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
857	WITHIN KM STONE: 118 and 122 on NH 23 (OLD NH 11B)	DHOLPUR	REGULAR	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
858	In b/w Km Stone 182 and 186 on LHS,NH56 (old NH113) while moving from Banswara to Dahod	BANSWARA	REGULAR	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
859	From km stone 60 to km stone 65 on SH 26	AJMER	REGULAR	150	OPEN CC 1	DC	35	35	1225	25	60	Draw of Lots	15	5
860	Foy Sagar Road Ajmer City WML	AJMER	REGULAR	200	OBC	DC	18	15	270	25	60	Draw of Lots	15	4
861	Between KM Stone 289-293 on Udaipur Ahemdabad Road LHS	UDAIPUR	REGULAR	340	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
862	In B/w Km 199 and 204 on RHS,NH56 (old NH113) while moving from Banswara to Dahod	BANSWARA	REGULAR	180	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
863	Shanti Tower to Chaman Chouraha on Jalia road, Beawar city	AJMER	REGULAR	250	OBC	СС	18	15	270	25	10	Bidding	30	4
864	In b/w Km Stone 129 and 133 on NH113 LHS, While moving from Pratapgarh to Banswara	BANSWARA	REGULAR	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
865	In b/w Mohan Colony Chorha and Mahi Dam Tiraha (Ghatol Road), Banswara City (WML)	BANSWARA	REGULAR	180	OPEN	СС	18	15	270	25	10	Bidding	30	5
866	Village-Barani on Gendoli-Kapren Road	BUNDI	REGULAR	104	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
867	BETWEEN KM STONE 51 TO 55 ON NH 148D	BHILWARA	REGULAR	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		Dimension (in site (in Sq. M	· · · · · · · · · · · · · · · · · · ·		be arranged applicant	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7		8		9a	9b	10	11	12
868	Within 6 KM FROM SYPHON CHOURAHA TO KAVITA on SH 32	UDAIPUR	REGULAR	300	OPEN	сс	35	35	1225	25	10	Bidding	30	5
869	Bhuvana By pass Road to Sobhagpura chauraha	UDAIPUR	REGULAR	180	OPEN	СС	18	15	270	25	10	Bidding	30	5
870	SRINAGAR ROAD WITHIN MUNICIPAL LIMITS OF AJMER CITY	AJMER	REGULAR	200	SC	CFS	18	15	270	0	0	Draw of Lots	0	3
871	KISHANGARH CITY WITHIN MUNICIPAL LIMITS	AJMER	REGULAR	200	OBC	DC	18	15	270	25	45	Draw of Lots	15	4
872	FROM SAVINA CHAURAHA TO GOVARDHAN VILLAS 100 FEET ROAD.	UDAIPUR	REGULAR	280	OPEN	СС	18	15	270	25	10	Bidding	30	5
873	SAVINA CHAURAHA TO TITARDI , UDAIPUR CITY	UDAIPUR	REGULAR	250	OPEN	СС	18	15	270	25	10	Bidding	30	5
874	ON NH-89 PUSHKAR BYPASS (FROM BHAGWANT UNIVERSITY TO THE GATEWAY RESORT PUSHKAR BYPASS)	AJMER	REGULAR	200	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
875	BETWEEN KM STONE 37 & 42 ON NH 112 (OLD NH NO)(JODHPUR TO BILARA RHS)	JODHPUR	REGULAR	155	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
876	Between km stone 726-728 on NH 27 (Pindwada Udaipur Road)	UDAIPUR	REGULAR	175	OPEN	СС	35	45	1575	25	10	Bidding	30	5
877	Bhagat Chouraha to Ras Babra Tiraha within Municipal Limits of Beawar	AJMER	REGULAR	200	OPEN	DC	18	15	270	25	45	Draw of Lots	15	5
878	BANDHANWARA TO NASIRABAD ON NH-79 , LHS WHEN MOVING FROM BHILWARA TO AJMER	AJMER	REGULAR	210	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
879	Village-Gunsi on NH-52 (LHS) Tonk to Jaipur	TONK	REGULAR	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
880	Between KM stone 154-158 at NH 27 DISTRICT UDAIPUR	UDAIPUR	REGULAR	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
881	Udaipur Subsidy centre to tekri madri on 100 fit road	UDAIPUR	REGULAR	180	OPEN	СС	18	15	270	25	10	Bidding	30	5
882	Village Pula RK circle to Ahoka Hotel 80 feet road	UDAIPUR	REGULAR	250	OBC	DC	18	15	270	25	60	Draw of Lots	15	4
883	Between Ikling pura to Manyakhedi on ODR 12 Tehsil Rawatbhata	CHITTORGARH	REGULAR	174	OPEN	DC	35	35	1225	25	45	Draw of Lots	15	5
884	From Sri Dungargarh Ghoomchakkar Circle to Kitasar On NH 11 (Bikaner- Jaipur Road)	BIKANER	REGULAR	152	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
885	BETWEEN VIII DUNDHIYA TO VILLAGE MANGALWAD ON NH27 LHS udaipur chittorgarh road	UDAIPUR	REGULAR	150	OBC	СС	35	45	1575	25	10	Bidding	30	4
886	WITHIN 3 KMS OF BRAHMKUMARI'S HEADQUARTER AT MOUNT ABU	SIROHI	REGULAR	150	OPEN CC 1	DC	18	15	270	25	45	Draw of Lots	15	5
887	Between Village Kannoj TO ADITYA BIRLA CEMENT Works ON MDR 209 RHS	CHITTORGARH	REGULAR	440	OPEN	DC	35	35	1225	25	45	Draw of Lots	15	5
888	Chhaan on NH-52 (LHS) Deoli to Tonk	ТОЛК	REGULAR	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
889	IN BETWEEN MILESTONE 708-720 ON NH-62, ON LHS (WHILE MOVING FROM PINDWARA TOWARDS PALI)	SIROHI	REGULAR	150	OBC	СС	35	45	1575	25	10	Bidding	30	4
890	RAWATBHATA WML	CHITTORGARH	REGULAR	250	OPEN	СС	18	15	270	25	10	Bidding	30	5
891	IN BETWEEN MILESTONE 658-649 ON NH-27, ON LHS (WHILE MOVING FROM UDAIPUR TOWARDS PALANPUR)	SIROHI	REGULAR	160	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
892	Deshnok on NH 89 (Bikaner- Nagaur road) (New NH 62)	BIKANER	REGULAR	152	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*)imension (in site (in Sq. M	· · · · · · · · · · · · · · · · · · ·		be arranged applicant	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7		8		9a	9b	10	11	12
893	KALANDRI TOWN (NOT ON SH) TEHSIL SIROHI	SIROHI	REGULAR	100	OBC	DC	35	35	1225	25	45	Draw of Lots	15	4
894	FROM KRANTI CIRCLE TO CHANDANA(WITHIN MUNICIPAL LIMITS), SHEOGANJ	SIROHI	REGULAR	150	OPEN	DC	18	15	270	25	45	Draw of Lots	15	5
895	Kankarwa town Tehsil Bhupalsagar	CHITTORGARH	REGULAR	100	OPEN CC 2	DC	18	15	270	25	45	Draw of Lots	15	5
896	ON NH-79, FROM MANDAL TO NH-758 (GANGAPUR ROAD FLYOVER), ON LHS WHEN MOVING FROM AJMER TO BHILWARA	BHILWARA	REGULAR	200	OBC CC 1	DC	35	45	1575	25	75	Draw of Lots	15	4
897	WITHIN RANI MUNICIPAL LIMITS, DISTRICT PALI.	PALI	REGULAR	100	ST CC 1	CFS	18	15	270	0	0	Draw of Lots	0	3
898	BETWEEN KM STONE NO 255-260 ON SH-27, ON EITHER SIDE OF ROAD (FROM SIROHI TOWARDS MANDAR)	SIROHI	REGULAR	200	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
899	BETWEEN MILESTONE NO 198-208 ON SH-27, ON EITHER SIDE OF ROAD (FROM SIROHI TOWARDS MANDAR)	SIROHI	REGULAR	170	OPEN	сс	35	35	1225	25	10	Bidding	30	5
900	REODAR WITHIN TOWN AREA LIMITS (NOT ON SH)	SIROHI	REGULAR	160	OBC	DC	18	15	270	25	45	Draw of Lots	15	4
901	On LHS of Bikaner- Jaisalmer Road (NH no. 11) between 399 to 394 km stone	BIKANER	REGULAR	152	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
902	Shreenagar to Jilawara road RHS , 5 Km from Shreenagar Chouraha on SH 101	AJMER	REGULAR	150	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
903	ABUROAD(WITHIN MUNICIPAL LIMITS)	SIROHI	REGULAR	205	OPEN	СС	18	15	270	25	10	Bidding	30	5
904	RAMPURA CHAURAHA TO JHADOL	UDAIPUR	REGULAR	100	OBC	DC	18	15	270	25	45	Draw of Lots	15	4
905	BHINMAL CITY(WITHIN MUNICIPAL LIMITS)NOT ON SH	JALORE	REGULAR	120	OPEN	DC	18	15	270	25	45	Draw of Lots	15	5
906	BETWEEN KM STONE 45 & 55 ON NH 125 (JODHPUR-JAISALMER ROAD) ON EITHER SIDE	JODHPUR	REGULAR	160	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
907	Between Fatehpura to kavita bypass road within municipal limits VIA SIAPHON CHAURAHA.	UDAIPUR	REGULAR	330	OPEN	СС	18	15	270	25	10	Bidding	30	5
908	FROM ISSWAL to Haldighati road ,DISTRICT Udaipur	UDAIPUR	REGULAR	110	OBC	DC	35	35	1225	25	45	Draw of Lots	15	4
909	Bishangarh On SH-38 (Jalore-Siwana Road)	JALORE	REGULAR	105	OPEN CC 1	DC	35	35	1225	25	60	Draw of Lots	15	5
910	ON RHS BETWEEN KM STONE 550 & 560 ON NH 62 (JODHPUR TO PALI ROAD)	JODHPUR	REGULAR	152	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
911	SATHIN VILLAGE ON SH 86C (BHAVI-KHINWSAR MEGA HIGHWAY)	JODHPUR	REGULAR	102	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
912	DPS CIRCLE TO SHATABDI CIRCLE ON BRO (JODHPUR BYE PASS ROAD- RHS)	JODHPUR	REGULAR	360	OPEN	СС	18	15	270	25	10	Bidding	30	5
913	BETWEEN BASNI FLYOVER & PAL ROAD INTERSECTION ON AIIMS ROAD ON EITHER SIDE	JODHPUR	REGULAR	290	OPEN	СС	18	15	270	25	10	Bidding	30	5
914	Bidasar WML(Not on SH)	CHURU	REGULAR	106	OBC	СС	18	15	270	25	10	Bidding	30	4
915	BAAP ON NH 15 (PHALODI BIKANER ROAD)	JODHPUR	REGULAR	170	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
916	BETWEEN KM STONE 98 & 109 ON NH 112; (JODHPUR TO BILARA ROAD RHS)	JODHPUR	REGULAR	160	OPEN	СС	35	45	1575	25	10	Bidding	30	5

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		Dimension (in site (in Sq. M			be arranged applicant	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7		8		9a	9b	10	11	12
917	SOJAT CITY WML.	PALI	REGULAR	210	OPEN	СС	18	15	270	25	10	Bidding	30	5
918	L.H.S. on NH-14(NEW 162)between bar bypass and pipliakalan bypass(Bar-Pali road).	PALI	REGULAR	195	OBC	СС	35	45	1575	25	10	Bidding	30	4
919	BETWEEN KM STONE 265 & 270 ON NH 62 (JODHPUR NAGAUR ROAD RHS)	JODHPUR	REGULAR	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
920	BAORI ON NH 62 (JODHPUR-NAGAUR ROAD) ON EITHER SIDE	JODHPUR	REGULAR	155	OPEN	СС	35	45	1575	25	10	Bidding	30	5
921	BETWEEN KM STONE 110 & 117 ON NH 112 (JODHPUR TO BILARA- RHS)	JODHPUR	REGULAR	210	OPEN	СС	35	45	1575	25	10	Bidding	30	5
922	SANGARIA, WITHIN CITY LIMITS	HANUMANGARH	REGULAR	100	OBC PH	СС	18	15	270	25	10	Bidding	30	4
923	PUNASA TOWN TEHSIL BHINMAL	JALORE	REGULAR	100	SC PH	CFS	35	35	1225	0	0	Draw of Lots	0	3
924	BETWEEN KM STONE 85 & 95 ON NH 125 (JODHPUR JAISALMER ROAD)	JODHPUR	REGULAR	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
925	VILLAGE KHARADA(JODHPUR PALI ROAD) ON NH 62 ON EITHER SIDE.	PALI	REGULAR	165	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
926	BETWEEN AAYKAR BHAWAN & BZS CIRCLE ON PAOTA C ROAD; JODHPUR	JODHPUR	REGULAR	200	OBC	СС	18	15	270	25	10	Bidding	30	4
927	On LHS of Bikaner- Jaipur Road (NH 11) between 546 to 540 km stone	BIKANER	REGULAR	208	OPEN	СС	35	45	1575	25	10	Bidding	30	5
928	BETWEEN KM STONE NO. 33 TO 38 ON NH 68 ON LHS	JAISALMER	REGULAR	160	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
929	BETWEEN KM STONE 110 & 120 ON SH 61 (JODHPUR-OSIYAN ROAD) ON EITHER SIDE	JODHPUR	REGULAR	110	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
930	BETWEEN KM STONE 250 & 255 ON NH 62 (JODHPUR NAGAUR ROAD ON EITHER SIDE)	JODHPUR	REGULAR	157	OBC	СС	35	45	1575	25	10	Bidding	30	4
931	WITHIN 5 KM FROM BAJJU KRISHI UPAJ MANDI TOWARDS RANJITPURA ON EITHER SIDE OF SH-87A (OLD MDR-37)	BIKANER	REGULAR	111	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
932	On LHS of Bikaner-Jaisalmer Road(NH no. 11) between 357 to 349 km stone	BIKANER	REGULAR	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
933	BETWEEN KM STONE NUMBER 68 TO 73 ON RHS ON NH 25(BARMER- JODHPUR ROAD)	BARMER	REGULAR	160	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
934	BETWEEN KM STONE NO. 159 TO 164 ON RHS ON NH 125 (JODHPUR- POKARAN ROAD)	JAISALMER	REGULAR	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
935	BETWEEN KRISHNA HOSPITAL AND ANDARAM CIRCLE ON NEHAR ROAD; JODHPUR	JODHPUR	REGULAR	200	OPEN CC 1	DC	18	15	270	25	60	Draw of Lots	15	5
936	BETWEEN CHOHTAN CIRCLE TO BARMER RAILWAY STATION CIRCLE ON LHS IN BARMER	BARMER	REGULAR	200	OBC	СС	18	15	270	25	10	Bidding	30	4
937	Upto 6 Km from Saranu on Sindhari to Chawa Road on SH16	BARMER	REGULAR	130	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
938	IN PALI BETWEEN SURAJPOLE AND NEW HOUSING BOARD COLONY ON JODHPUR ROAD.	PALI	REGULAR	210	OPEN	СС	18	15	270	25	10	Bidding	30	5
939	On RHS of Bikaner- Jaisalmer Road (NH no. 11) between 391 to 385 km stone	BIKANER	REGULAR	223	OPEN	СС	35	45	1575	25	10	Bidding	30	5
940	ON RHS BETWEEN KM STONE 271 & 275 ON NH 62 (JODHPUR TO NAGAUR ROAD)	JODHPUR	REGULAR	160	OBC	CC	35	45	1575	25	10	Bidding	30	4

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		Dimension (in site (in Sq. M			be arranged applicant	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7		8		9a	9b	10	11	12
941	Gandwa Tehsil Simalwara	DUNGARPUR	REGULAR	123	ST	CFS	18	15	270	0	0	Draw of Lots	0	3
942	BETWEEN SHASTRI NAGAR POLICE STATION CIRCLE AND DPS CIRCLE ON PAL ROAD	JODHPUR	REGULAR	240	OPEN	СС	18	15	270	25	10	Bidding	30	5
943	BETWEEN BASNI FLYOVER CIRCLE & JHALAMAND CIRCLE ON NH 62 (JODHPUR-PALI ROAD LHS)	JODHPUR	REGULAR	250	OPEN	СС	18	15	270	25	10	Bidding	30	5
944	WITHIN 10 KMs FROM DPS CIRCLE TOWARDS BARMER ON NH-25 (JODHPUR BARMER ROAD -LHS)	JODHPUR	REGULAR	190	OPEN	сс	35	45	1575	25	10	Bidding	30	5
945	DASPAN TEHSIL BHINMAL	JALORE	REGULAR	100	OBC CC 1	DC	35	35	1225	25	45	Draw of Lots	15	4
946	NH-458(OLD NH 65A) BETWEEN KUSHALPURA AND AGEWA(RAIPUR MERTA CITY ROAD).	PALI	REGULAR	150	ST CC 1	CFS	35	45	1575	0	0	Draw of Lots	0	3
947	Within 5km from Mundawar Police Station towards Sodawas on Mundawar Sodawas road	ALWAR	REGULAR	105	OPEN PH	DC	35	35	1225	25	60	Draw of Lots	15	5
948	BETWEEN KM STONE NO. 235 TO 242 ON LHS ON NH 68 (BARMER- SANCHORE ROAD)	BARMER	REGULAR	160	OBC	СС	35	45	1575	25	10	Bidding	30	4
949	BETWEEN KM STONE 60 & 65 ON NH 125 (JODHPUR JAISALMER ROAD) ON EITHER SIDE	JODHPUR	REGULAR	160	OPEN	CC	35	45	1575	25	10	Bidding	30	5
950	BETWEEN KM STONE 5 & 15 ON SH 19 (PHALODI NAGAUR ROAD)	JODHPUR	REGULAR	105	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
951	Village- Gandhav on NH-15(New NH-68)	BARMER	REGULAR	157	OPEN	СС	35	45	1575	25	10	Bidding	30	5
952	LHS ON NH 62(PALI-JODHPUR ROAD)BETWEEN MANDIYA INDUSTRIAL AREA AND PANIHARI CIRCLE.	PALI	REGULAR	160	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
953	ON NH-62 FROM PALI TO SIROHI ON LHS B/W STONE 670 TO 676.	PALI	REGULAR	265	OPEN	СС	35	45	1575	25	10	Bidding	30	5
954	ON NH 62 IN GUNDOJ ON LHS FROM PALI TO SUMERPUR.	PALI	REGULAR	210	OPEN	СС	35	45	1575	25	10	Bidding	30	5
955	BETWEEN PALI NEW BUS STAND AND PANIHARI CHAURAHA ON SUMERPUR ROAD.	PALI	REGULAR	210	ST	CFS	18	15	270	0	0	Draw of Lots	0	3
956	ON NH-14(PALI SUMERPUR ROAD) BETWEEN STONE NO 606 AND 616 ON EITHER SIDES.	PALI	REGULAR	185	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
957	On either side of NH 15 (New NH 62)Bikaner- Sriganganagar Road from Kms Stone 17 to 21	BIKANER	REGULAR	157	OPEN	CC	35	45	1575	25	10	Bidding	30	5
958	BETWEEN KM STONE NUMBER 75 TO 78 ON LHS ON NH 25(BARMER- JODHPUR ROAD)	BARMER	REGULAR	150	OPEN CC 1	DC	35	45	1575	25	75	Draw of Lots	15	5
959	Deshnok WML (Not on NH and SH)	BIKANER	REGULAR	109	SC	CFS	18	15	270	0	0	Draw of Lots	0	3
960	BETWEEN NEHAR ROAD INTERSECTION & DALI BAI CIRCLE ON JHANWAR ROAD; JODHPUR	JODHPUR	REGULAR	210	OBC	DC	18	15	270	25	60	Draw of Lots	15	4
961	On either side of FATEHPUR - SUJANGARH ROAD (NH 58) FROM KM STONE 33 TO 39	CHURU	REGULAR	167	OPEN	CC	35	45	1575	25	10	Bidding	30	5
962	BETWEEN KM STONE 50 & 55 ON NH 112 (JODHPUR-BILARA ROAD: LHS)	JODHPUR	REGULAR	155	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
963	ON EITHER SIDE BETWEEN KM STONE NO. 160 TO 165 ON NH 68 (BARMER- SANCHORE ROAD)	BARMER	REGULAR	210	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
964	IN RAWATSAR ON BARMER-SINDHARI ROAD (SH 40)	BARMER	REGULAR	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		Dimension (in site (in Sq. M	· ·		be arranged applicant	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7		8		9a	9b	10	11	12
965	ON LHS FROM DC OFFICE TO INTERSECTION OF NH 68 ON CIRCUIT HOUSE ROAD IN BARMER	BARMER	REGULAR	200	OPEN	СС	18	15	270	25	10	Bidding	30	5
966	BETWEEN KM STONE NO. 112 TO 116 ON LHS ON NH 68 (JAISALMER- BARMER ROAD)	JAISALMER	REGULAR	160	OPEN	сс	35	45	1575	25	10	Bidding	30	5
967	BETWEEN KM STONE NO. 80 TO 88 ON NH 25	BARMER	REGULAR	160	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
968	BETWEEN KM STONE 540 TO 546 ON NH 62 (JODHPUR PALI ROAD) LHS	JODHPUR	REGULAR	225	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
969	LHS ON NH-162(BAR TO PALI ROAD) BETWEEN KM STONE 78 AND 72.	PALI	REGULAR	215	OPEN	CC	35	45	1575	25	10	Bidding	30	5
970	FROM PANCHARIYA CHOWK (NOKHA) TO GURUKUL SR SEC SCHOOL (NOKHA) ON EITHER SIDE OF NOKHA - RODA ROAD	BIKANER	REGULAR	124	OPEN	СС	18	15	270	25	10	Bidding	30	5
971	BETWEEN KM STONE NO. 201 TO 208 ON RHS ON NH 68(BARMER- SANCHORE ROAD)	BARMER	REGULAR	160	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
972	SURATGARH, WITHIN MUNICIPAL LIMITS	SRI GANGANAGAR	REGULAR	110	SC	CFS	18	15	270	0	0	Draw of Lots	0	3
973	From Rotary Circle upto Bikaner - Jaipur Road intersection on either side of Sadulgani Road	BIKANER	REGULAR	158	OPEN	DC	18	15	270	25	60	Draw of Lots	15	5
974	BETWEEN KM STONE NO. 125 TO 130 ON NH 68 (JAISALMER- BARMER ROAD)	BARMER	REGULAR	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
975	FROM PUGAL PHANTA UPTO MUKTA PRASAD POLICE STATION ON EITHER SIDE OF BIKANER-SATTASAR ROAD	BIKANER	REGULAR	193	OPEN	DC	18	15	270	25	60	Draw of Lots	15	5
976	WITHIN 10 KMs FROM DPS CIRCLE TOWARDS BARMER ON NH25 (JODHPUR-BARMER ROAD; RHS)	JODHPUR	REGULAR	210	OPEN	сс	35	45	1575	25	10	Bidding	30	5
977	TENA VILLAGE ON SH 95 (BALESAR-SHERGARH ROAD)ON EITHER SIDE	JODHPUR	REGULAR	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
978	BETWEEN KM STONE 172 TO 177 ON NH 68 (BARMER-SANCHORE ROAD)	BARMER	REGULAR	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
979	VILLAGE TINWARI ON SH 95 (KALIBERI-TINWARI ROAD)	JODHPUR	REGULAR	110	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
980	On Either side of Bikaner- Jaipur Road (NH11) between 553 to 548 km stone	BIKANER	REGULAR	158	OPEN	СС	35	45	1575	25	10	Bidding	30	5
981	ON LHS BETWEEN KM STONE 275 & 285 ON NH 62 (JODHPUR TO NAGAUR ROAD)	JODHPUR	REGULAR	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
982	LH.S. Between Km stone no. 54 and 56 on SH-67(Pali-Somesar Road).	PALI	REGULAR	112	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
983	BETWEEN NEW POWER HOUSE CIRCLE & ROTARY CIRCLE ON NEW POWER HOUSE ROAD	JODHPUR	REGULAR	210	OPEN	CC	18	15	270	25	10	Bidding	30	5
984	BETWEEN MEDIPULSE HOSPITAL AND SANGARIA BYEPASS CIRCLE ON SALAWAS MAIN ROAD; (JODHPUR)	JODHPUR	REGULAR	220	OPEN CC 1	DC	18	15	270	25	60	Draw of Lots	15	5
985	LHS ON NH-62(JODHPUR-PALI ROAD) WITHIN 5 KM FROM OM BANNA MANDIR.	PALI	REGULAR	175	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
986	Between Km stone No. 59 & Km Stone No.63 on SH-67 (New NH-162 Ext.),(Somesar-Nadol Road)	PALI	REGULAR	125	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*)imension (in site (in Sq. M	· · · · · · · · · · · · · · · · · · ·		be arranged applicant	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7		8		9a	9b	10	11	12
987	ON RHS FROM SHIV CIRCLE TO NH 62 INTERSECTION ON SURATGARH ROAD, GANGANAGAR CITY LIMITS	SRI GANGANAGAR	REGULAR	190	OPEN	сс	18	15	270	25	10	Bidding	30	5
988	SRI GANGANAGAR WML ON SSB ROAD FROM SUKHADIA CIRCLE TO BSF SECTOR HEADQUARTER	SRI GANGANAGAR	REGULAR	110	OPEN	сс	18	15	270	25	10	Bidding	30	5
989	BETWEEN JHALAMAND CIRCLE AND INDIABULLS MEGA MALL ON NH 62 (JODHPUR-PALI ROAD LHS)	JODHPUR	REGULAR	210	OBC	DC	18	15	270	25	60	Draw of Lots	15	4
990	Ratangarh WML (Not on NH and SH)	CHURU	REGULAR	102	ST	CFS	18	15	270	0	0	Draw of Lots	0	3
991	BETWEEN POKARAN BY PASS CHOURAHA TO PHALSUND CHAURAHA IN POKARAN CITY	JAISALMER	REGULAR	160	OPEN	DC	18	15	270	25	45	Draw of Lots	15	5
992	Between Km stone no. 33 & Km Stone No. 46 on SH-67(New NH-162 Ext.),(Pali to Somesar Road)	PALI	REGULAR	105	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
993	On either side of NH 911 Between Bikampur and Charanwala	BIKANER	REGULAR	153	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
994	PALI CITY WITHIN 2 KM FROM HEAD POST OFFICE PALI, PALI.	PALI	REGULAR	200	OPEN	СС	18	15	270	25	10	Bidding	30	5
995	Baif house 100ft road sec- 14 near CA circle	UDAIPUR	REGULAR	190	SC CC 1	CFS	18	15	270	0	0	Draw of Lots	0	3
996	BETWEEN NEW SANGANER ROAD & PATRAKAR COLONY ON MIN 24M WIDE ROAD	JAIPUR	REGULAR	180	OPEN CC 2	DC	18	15	270	25	60	Draw of Lots	15	5
997	Between km stone number 210 to 216 on NH11 on either side(Jaisalmer-Bikaner Road)	JAISALMER	REGULAR	150	OBC CC 1	DC	35	45	1575	25	75	Draw of Lots	15	4
998	ON EITHER SIDE OF NH-62 BETWEEN KM STONE 205 & 202(ON SRIGANGANAGAR-SURATGARH ROAD)	SRI GANGANAGAR	REGULAR	150	OPEN	СС	35	45	1575	25	10	Bidding	30	5
999	VILLAGE NAYANAGAR ON SH 28	BARMER	REGULAR	130	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1000	UMMEDNAGAR VILLAGE ON JODHPUR OSIYAN ROAD	JODHPUR	REGULAR	105	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1001	VILLAGE JHALA KI CHOWKI ON NH-25 ON LHS FROM BAR TO BEAWAR.	PALI	REGULAR	240	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
1002	VILLAGE ADSISAR (TEHSIL:SARDARSHAHAR)ON SH6A	CHURU	REGULAR	103	OPEN	СС	35	35	1225	25	10	Bidding	30	5
1003	On RHS of Bikaner- Jaisalmer Road (New NH no. 11) between 347 to 339 km stone	BIKANER	REGULAR	153	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
1004	Between Samdari bus stand & Siwana bus stand on SH-66	BARMER	REGULAR	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
1005	Village-Lahan on SH-37 A	BUNDI	REGULAR	105	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
1006	BETWEEN KM STONE NO. 214 TO 219 ON LHS ON NH 68	BARMER	REGULAR	160	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
1007	WITH IN 4 KM FROM LUNKARANSAR(NH 15 INTERSECTION) ON SH 6A TOWARDS KALOO	BIKANER	REGULAR	115	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1008	On Either side of NH52 (Rajgarh- Fatehpur Road) from Km stone 55 to 65	CHURU	REGULAR	153	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
1009	EITHER SIDE FROM KM STONE 284 TO 288 ON SH7 (SARDARSHAHAR TO PALLU ROAD)	CHURU	REGULAR	106	OPEN	СС	35	35	1225	25	10	Bidding	30	5
1010	ON NH-112 BETWEEN STONE 34 AND 30(JAITARAN-BAR ROAD) ON LHS.	PALI	REGULAR	170	OPEN CC 1	DC	35	45	1575	25	75	Draw of Lots	15	5

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*)imension (in site (in Sq. M	· ·		be arranged applicant	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7		8	-	9a	9b	10	11	12
1011	NH 158 between Ras fort and babri village(Ras beawar road).	PALI	REGULAR	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
1012	VILLAGE GHADSISAR (TEHSIL:SARDARSHAHAR)ON SH6A	CHURU	REGULAR	105	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1013	ON EITHER SIDE OF NH-54, FROM AGGARSEN CHOWK(HANUMANGARH JN.) TO JANDAWALI	HANUMANGARH	REGULAR	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
1014	FALNA CITY WML.	PALI	REGULAR	110	OPEN	DC	18	15	270	25	45	Draw of Lots	15	5
1015	On either side of NH 911 Between Godu and Ranjitpura	BIKANER	REGULAR	153	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
1016	ON EITHER SIDE OF NAYATHANA SHAHAR ROAD FROM JASSUSAR GATE UPTO BIKANER- JAISALMER ROAD INTERSECTION	BIKANER	REGULAR	156	OPEN	DC	18	15	270	25	60	Draw of Lots	15	5
1017	Village Koriya Patan,On SH 37A,Tehsil Manohar thana	JHALAWAR	REGULAR	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
1018	BETWEEN KM STONE 60 & 65 ON NH 112;(JODHPUR TO BILARA ROAD LHS)	JODHPUR	REGULAR	157	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
1019	On either side of NH 911 Between Pugal and Dantore	BIKANER	REGULAR	153	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
1020	LHS ON NH 62(SUMERPUR-PALI ROAD)IN VILLAGE DHOLA JAGIR .	PALI	REGULAR	165	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
1021	SADULPUR (RAJGARH) WML (NOT ON NH AND SH)	CHURU	REGULAR	128	ST PH	CFS	18	15	270	0	0	Draw of Lots	0	3
1022	SUMERPUR CITY BETWEEN BHAGAT SINGH CIRCLE AND NH 14 INTERSECTION ON SUMERPUR TAKHATGARH ROAD.	PALI	REGULAR	150	OBC PH	DC	18	15	270	25	45	Draw of Lots	15	4
1023	Balotra City (WML)	BARMER	REGULAR	200	OPEN	DC	18	15	270	25	45	Draw of Lots	15	5
1024	BETWEEN KM STONE NO. 99 TO 104 ON NH 25 ON LHS (BARMER- JODHPUR ROAD)	BARMER	REGULAR	160	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
1025	On either side of FATEHPUR - NAGAUR ROAD (NH 58) FROM KM STONE 52 TO 59	CHURU	REGULAR	151	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
1026	BETWEEN KM STONE NO. 112 TO 117 ON RHS ON NH 25	BARMER	REGULAR	160	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
1027	VILLAGE BHANIYANA ON SH 40	BARMER	REGULAR	105	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
1028	On either side of SH20 (Nokha-Bidasar Road) from km stone 0 to 5	BIKANER	REGULAR	105	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
1029	On RHS of Bikaner-Jaisalmer Road(NH no. 11) between 357 to 351 km stone	BIKANER	REGULAR	152	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
1030	Village Chhan,On SH 37A ,Tehsil Manoharthana	JHALAWAR	REGULAR	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
1031	with in 15 km from sangam chauraha On either side of Ratangarh - sujangarh road (SH 7 Mehahighway)	CHURU	REGULAR	103	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
1032	LHS ON NH 162(BAR-PALI ROAD)BETWEEN SOJAT AND CHANDAWAL.	PALI	REGULAR	170	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
1033	SRI GANGANAGAR WITHIN CITY LIMITS,ON MAIN ROAD FROM BIRBAL CHOWK TO SHIV CIRCLE	SRI GANGANAGAR	REGULAR	130	OPEN	DC	18	15	270	25	45	Draw of Lots	15	5
1034	On RHS of Bikaner- Jaisalmer Road (NH no. 11) between 365 to 360 km stone	BIKANER	REGULAR	152	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		Dimension (in site (in Sq. M	· ·		be arranged applicant	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7		8		9a	9b	10	11	12
1035	BETWEEN KM STONE 15 & 25 ON SH 28 (PHALODI SANCHORE MEGA HIGHWAY)	JODHPUR	REGULAR	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1036	either side of Bikaner-Nokha road from Kochar circle upto NH62 intersection(jaipur-jodhpur by pass)	BIKANER	REGULAR	155	OPEN CC 1	DC	18	15	270	25	60	Draw of Lots	15	5
1037	On RHS of Bikaner- Jaisalmer Road (NH no. 11) between 374 to 369 km stone	BIKANER	REGULAR	153	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
1038	LHS ON NH-62 BETWEEN STONE NUMBER 572 AND 576(JODHPUR- PALI ROAD).	PALI	REGULAR	165	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
1039	Between KM Stone 212 to 216 on Gangapur to Sikandara road (SH- 25)	SAWAIMADHOPUR	REGULAR	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
1040	ON EITHER SIDE OF BIKANER- JAIPUR ROAD FROM MUSEUM CIRCLE UPTO HALDI RAM PIYAU	BIKANER	REGULAR	153	OPEN	DC	18	15	270	25	60	Draw of Lots	15	5
1041	Village Beekasar on Nh89(Bikaner- Nagaur Road) New NH 62	BIKANER	REGULAR	155	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
1042	From Rotary Circle upto PawanPuri Post office on main road(Bikaner City)	BIKANER	REGULAR	194	OPEN	СС	18	15	270	25	10	Bidding	30	5
1043	WITHIN 5 KM FROM SANGAM CHAURAHA ON EITHER HAND SIDE OF RATANGARH-SARDARSHAHAR ROAD(SH7 Megahighway)	CHURU	REGULAR	108	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
1044	VILLAGE BHIKAMKOR ON SH 61 (OSIYAN-PHALODI ROAD)	JODHPUR	REGULAR	105	SC CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
1045		PALI	REGULAR	150	OBC CC 1	DC	35	45	1575	25	75	Draw of Lots	15	4
1046	BETWEEN KM STONE 65 & 70 ON NH 112;(JODHPUR TO BILARA ROAD RHS)	JODHPUR	REGULAR	155	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
1047	From Ramji Ka Gol Circle to Daabli on Barmer - Sanchore road on NH68 (Old NH15)- on Either Side	BARMER	REGULAR	210	OPEN PH	СС	35	45	1575	25	10	Bidding	30	5
1048	SRIKARANPUR, WITHIN CITY LIMITS	SRI GANGANAGAR	REGULAR	100	SC	CFS	18	15	270	0	0	Draw of Lots	0	3
1049	On LHS of Bikaner- Jaisalmer Road (NH no. 11) between 367 to 361 km stone	BIKANER	REGULAR	153	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
1050	BETWEEN KM STONE NO. 99 TO 104 ON NH 25 ON RHS (BARMER- JODHPUR ROAD)	BARMER	REGULAR	160	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
1051	On LHS of Bikaner- Jaisalmer Road (NH no. 11) between 377 to 370 km stone	BIKANER	REGULAR	153	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
1052	Between Km Stone no. 17 & 22 on NH-325 (Balotra-Siwana Road)	BARMER	REGULAR	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
1053	road)	BIKANER	REGULAR	162	OPEN	DC	18	15	270	25	60	Draw of Lots	15	5
1054	(GANGANAGAR SURATGARH ROAD)	SRI GANGANAGAR	REGULAR	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
1055	On RHS of Bikaner- Jaisalmer Road (NH no. 11) between 399 to 394 km stone	BIKANER	REGULAR	154	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
1056	JAITARAN CITY WML.	PALI	REGULAR	158	OBC	DC	18	15	270	25	45	Draw of Lots	15	4
1057	km stone no. 147 to 149 on NH 23 (OLD NH11B)	DHOLPUR	REGULAR	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
1058	BETWEEN 12TH ROAD CIRCLE AND SHASTRI NAGAR POLICE STATION ON PAL ROAD ON EITHER SIDE	JODHPUR	REGULAR	220	OPEN	СС	18	15	270	25	10	Bidding	30	5

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		limension (in site (in Sq. M	· · · · · · · · · · · · · · · · · · ·		be arranged applicant	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7		8		9a	9b	10	11	12
1059	On LHS of Bikaner- Jaisalmer Road (NH no. 11) between 406 to 402 km stone	BIKANER	REGULAR	157	OPEN CC 1	DC	35	45	1575	25	75	Draw of Lots	15	5
1060	On either side of FATEHPUR - NAGAUR ROAD (NH 58) FROM KM STONE 41 TO 49	CHURU	REGULAR	155	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
1061	Between Km stone no 234 & KM Stone no. 239 on SH-16,(Falna-Bali Road).	PALI	REGULAR	130	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1062	BETWEEN KM STONE 13 & 18 ON SH 95 (KALIBERI-TINWARI ROAD)	JODHPUR	REGULAR	105	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
1063	BETWEEN DPS CIRCLE AND DALI BAI CIRCLE ON JODHPUR BYE PASS (EITHER SIDE)	JODHPUR	REGULAR	295	OBC	СС	18	15	270	25	10	Bidding	30	4
1064	On LHS of Bikaner- Jaisalmer Road (NH no. 11) between 391 to 381 km stone	BIKANER	REGULAR	156	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
1065	Sujangarh WML(Not on NH and SH)	CHURU	REGULAR	152	OPEN	DC	18	15	270	25	45	Draw of Lots	15	5
1066	ON NH 62 WITHIN 5 KM FROM BIRAMI TOLL ON EITHER SIDE.	PALI	REGULAR	160	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
1067	BETWEEN KM STONE NO. 15 TO 20 ON NH 68 ON RHS	JAISALMER	REGULAR	160	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
1068	On LHS of Suratgarh-Hanumangarh bye pass road from hotel Vikramaditya to Medanta hospital	SRI GANGANAGAR	REGULAR	180	OPEN	DC	18	15	270	25	45	Draw of Lots	15	5
1069	SARDARSHAHAR WML ON SH7	CHURU	REGULAR	203	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
1070	VILLAGE GARABDESAR(TEHSIL LUNKARANSAR) ON SH 6A	BIKANER	REGULAR	102	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1071	Village- Mokulser on SH-38 , Barmer	BARMER	REGULAR	102	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1072	BETWEEN KM STONE 556 &560 ON NH 62 (JODHPUR- PALI ROAD LHS)	JODHPUR	REGULAR	210	OPEN	СС	35	45	1575	25	10	Bidding	30	5
1073	FROM KRP SUZUKI SHOWROOM TOBIKANER NOKHA ROAD INTERSECTION ON EITHER SIDE OF RIICO INDUSTRIAL ROAD 5	BIKANER	REGULAR	184	OPEN	DC	18	15	270	25	60	Draw of Lots	15	5
1074	SRI GANGANAGAR WITHIN CITY LIMITS, ON HINDUMALKOT ROAD	SRI GANGANAGAR	REGULAR	100	OBC	DC	18	15	270	25	45	Draw of Lots	15	4
1075	ON EITHER SIDE OF NH - 954 FROM LALGARH JATTAN TO 1 SPM	SRI GANGANAGAR	REGULAR	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
1076	FROM CHURU TO BHALERI ON SH 69	CHURU	REGULAR	104	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
1077	Village Parwa On NH 89 (Bikaner- Nagaur Road) (New NH no. 62)	BIKANER	REGULAR	153	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
1078	Between Bhakarwas and nimaj on NH-112(New NH-25),(Bar-Jaitaran Road.	PALI	REGULAR	152	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
1079	on NH 954, FROM LALGARH JATTAN TO BANWALI	SRI GANGANAGAR	REGULAR	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
1080	BETWEEN KM STONE 165 & 170 ON NH 25 (JODHPUR TO PACHPADRA ROAD ON LHS)	JODHPUR	REGULAR	180	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
1081	Between Km stone No. 07 & Km Stone No. 11 on SH-28A,(Balotra city- Bagundi Road)Â Â	BARMER	REGULAR	175	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
1082	Between Km stone 165 to 172 on Balotra Bypass SH-28 (Pachpadra- Jassol Road)	BARMER	REGULAR	128	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*)imension (in site (in Sq. M	· · · · · · · · · · · · · · · · · · ·		be arranged applicant	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7		8		9a	9b	10	11	12
1083	FROM JAISALMER-RAMGARH BY PASS JUNCTION TO TRANSPORT NAGAR CIRCLE IN JAISALMER CITY	JAISALMER	REGULAR	155	OPEN	DC	18	15	270	25	45	Draw of Lots	15	5
1084	FROM CHOPRA KATLA UPTO NAGNECHI TEMPLE ON INDUSTRIAL ROAD (BIKANER CITY)	BIKANER	REGULAR	157	SC	CFS	18	15	270	0	0	Draw of Lots	0	3
1085	On either side of SH20 (Nokha-Bidasar Road) from km stone 61 to 65	CHURU	REGULAR	230	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1086	BETWEEN KM STONE NO. 45 TO 50 ON NH 68 ON LHS	JAISALMER	REGULAR	160	OPEN CC 1	DC	35	45	1575	25	75	Draw of Lots	15	5
1087	On Shopat Singh Marg, from Karni Chowk to Sri GANGANAGAR road intersection, HANUMANGARH JN.	HANUMANGARH	REGULAR	170	OPEN	DC	18	15	270	25	45	Draw of Lots	15	5
1088	BETWEEN PAL ROAD INTERSECTION AND ITI CIRCLE ON ITI ROAD (JODHPUR CITY)	JODHPUR	REGULAR	220	ST	CFS	18	15	270	0	0	Draw of Lots	0	3
1089	SARDARSHAHAR WML(NOT ON NH AND SH)	CHURU	REGULAR	130	OBC	DC	18	15	270	25	45	Draw of Lots	15	4
1090	SRI GANGANAGAR UIT AREA FROM CHAHAL CHOWK TO NATHAWALI BYE PASS	SRI GANGANAGAR	REGULAR	175	OPEN	DC	18	15	270	25	45	Draw of Lots	15	5
1091	WML NOHAR,ON BHADRA ROAD FROM RAILWAY STATION TO RAILWAY CROSSING	HANUMANGARH	REGULAR	110	OPEN	DC	18	15	270	25	45	Draw of Lots	15	5
1092	BETWEEN PAYALKALAN AND KHUNDALA ON SH28 (MEGA HIGHWAY)	BARMER	REGULAR	132	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1093	ON NH-62 BETWEEN STONE 670 TO 676 ON LHS WHILE GOING FROM SUMERPUR TO PALI.	PALI	REGULAR	215	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
1094	Pali City Between Bangarh College & Transport Nagar on Sojat Road.	PALI	REGULAR	170	OPEN	DC	18	15	270	25	45	Draw of Lots	15	5
1095	BETWEEN NH62 INTERSECTION & NATIONAL HANDLOOM ON SARASWATI NAGAR MAIN ROAD; JODHPUR	JODHPUR	REGULAR	200	OPEN CC 2	DC	18	15	270	25	60	Draw of Lots	15	5
1096	ON NH-25(JODHPUR TO JAIPUR ROAD) BETWEEN STONE NO. 330 AND 336 ON EITHER SIDE.	PALI	REGULAR	330	OBC CC 1	DC	35	45	1575	25	75	Draw of Lots	15	4
1097	ANYWHERE IN RAJA PARK ON MIN 24M WIDE ROAD (JAIPUR CITY)	JAIPUR	REGULAR	400	ST CC 1	CFS	18	15	270	0	0	Draw of Lots	0	3
1098	ON SH-7B, VILLAGE Chak 7Z on RHS, within 4 km from railway crossing 112-B/2E towards Mirjewala	SRI GANGANAGAR	REGULAR	105	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
1099	Village- Harnawada,On SH-19A,Tehsil -Gangdhar	JHALAWAR	REGULAR	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
1100	BETWEEN KM STONE 37 & 45 ON NH 112 (JODHPUR TO BILARA LHS)	JODHPUR	REGULAR	155	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
1101	BETWEEN 12TH ROAD CIRCLE & ROTARY CIRCLE ON RESIDENCY ROAD -LHS (JODHPUR)	JODHPUR	REGULAR	220	SC	CFS	18	15	270	0	0	Draw of Lots	0	3
1102	BETWEEN KM STONE 85 & 90 ON NH 112 (BAR BILARA DANGIAWAS ROAD)ON EITHER SIDE	JODHPUR	REGULAR	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
1103	Between km stone number 189 to 195 on NH11 on either side (Jaisalmer-Bikaner Road)	JAISALMER	REGULAR	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
1104	(GANGANAGAR SURATGARH ROAD)	SRI GANGANAGAR	REGULAR	155	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
1105	DPS CIRCLE TO SANGARIYA BYPASS CIRCLE ON JODHPUR BYE PASS ROAD (LHS)	JODHPUR	REGULAR	360	OPEN	СС	18	15	270	25	10	Bidding	30	5

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*)imension (in site (in Sq. M			be arranged applicant	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7		8		9a	9b	10	11	12
1106	BETWEEN DEV NAGAR CIRCLE AND CENTRAL ACADEMY SCHOOL CIRCLE ON HOUSING BOARD ROAD (JODHPUR CITY)	JODHPUR	REGULAR	220	ST	CFS	18	15	270	0	0	Draw of Lots	0	3
1107	WEIR WML	BHARATPUR	REGULAR	100	OPEN	DC	18	15	270	25	45	Draw of Lots	15	5
1108	RAWATSAR, WITHIN CITY LIMITS	HANUMANGARH	REGULAR	100	OBC	DC	18	15	270	25	45	Draw of Lots	15	4
1109	PALI CITY BETWEEN MASTAN BABA MASJID AND MANDIYA ROAD.	PALI	REGULAR	180	OPEN CC 1	DC	18	15	270	25	45	Draw of Lots	15	5
1110	BETWEEN STONE NO. 685 AND 682 ON NH-62 ON LHS FROM PALI TO SIROHI.	PALI	REGULAR	262	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
1111	BETWEEN VEER TEJAJI OVERBRIDGE AND MATA KA THAN ON SURPURA BYEPASS ROAD;JODHPUR	JODHPUR	REGULAR	210	OBC	DC	18	15	270	25	60	Draw of Lots	15	4
1112	PINDWARA WITHIN CITY LIMITS	SIROHI	REGULAR	130	OPEN	DC	18	15	270	25	45	Draw of Lots	15	5
1113	SRI GANGANAGAR WML, FROM CHAHAL CHOWK TO ABOHAR FLY OVER ON MEERA MARG-MAHARISHI GAUTAM MARG	SRI GANGANAGAR	REGULAR	100	OPEN	DC	18	15	270	25	45	Draw of Lots	15	5
1114	BETWEEN KM STONE 35 & 40 ON SH63 (BANAR BHOPALGARH ROAD) ON EITHER SIDE	JODHPUR	REGULAR	110	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1115	Between Km stone no 337 & Km Stone 346 on NH-65 (New NH- 62),(Jodhpur-Rohat Road)	PALI	REGULAR	168	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
1116	R.H.S. Between Km stone 358 & Km stone 366 on NH-65 (New NH- 62),(Rohat -Pali Road)	PALI	REGULAR	175	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
1117	On RHS of Bikaner- Jaisalmer Road (NH no. 11) between 383 to 377 km stone	BIKANER	REGULAR	155	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
1118	Upto 3 km from Siwana on SH38	BARMER	REGULAR	138	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1119	BETWEEN MANDOR POLICE STATION AND NLU JODHPUR ON JODHPUR NAGAUR ROAD-RHS	JODHPUR	REGULAR	200	SC	CFS	18	15	270	0	0	Draw of Lots	0	3
1120	FROM KM STONE 129 TO 133 ON EITHER SIDE OF SH6 (SARDARSHAHAR - SRIDUNGARGARH ROAD)	CHURU	REGULAR	213	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
1121	BETWEEN AKHALIYA CIRCLE & MAYOOR CHOPASNI SCHOOL ON CHOPASNI ROAD (EITHER SIDE)	JODHPUR	REGULAR	250	OPEN	DC	18	15	270	25	60	Draw of Lots	15	5
1122	BETWEEN AKHALIYA CIRCLE & KAYLANA CIRCLE ON JAISALMER ROAD (RHS)	JODHPUR	REGULAR	220	OBC PH	DC	18	15	270	25	60	Draw of Lots	15	4
1123	Village Usarwas,On SH 49, Tehsil Khamnor	RAJSAMAND	REGULAR	100	SC PH	CFS	35	35	1225	0	0	Draw of Lots	0	3
1124	From CHOHTAN CIRCLE BARMER TO BEEBARA ON SH 40 (BARMER- MUNABAO ROAD)	BARMER	REGULAR	102	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
1125	On either side of NH 911A From Pugal Tiraha Upto khajuwala Rajeev Circle	BIKANER	REGULAR	158	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
1126	ON EITHER SIDE OF NH - 954 IN PAKKA SAHARNA	HANUMANGARH	REGULAR	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
1127	From Shiv Bari Chauraha upto Bikaner - Jaipur Road Intersection on Challana Hospital Road	BIKANER	REGULAR	168	OPEN	DC	18	15	270	25	60	Draw of Lots	15	5
1128	B/W Kms 358 and 360 LHS while moving from Bichhiwara to Udaipur	DUNGARPUR	REGULAR	165	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
1129	on SH 99(TIBBI ROAD), FROM HANUMANGARH TOWN WITHIN 10 km TOWARDS TIBBI	HANUMANGARH	REGULAR	110	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*)imension (in site (in Sq. M	· · · · · · · · · · · · · · · · · · ·		be arranged applicant	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7		8		9a	9b	10	11	12
1130	GAJSINGHPUR WITHIN MUMNICIPAL LIMITS	SRI GANGANAGAR	REGULAR	100	OBC	DC	18	15	270	25	45	Draw of Lots	15	4
1131	Sumerpur city between bhagat singh circle and sumeet motors.	PALI	REGULAR	150	OPEN	DC	18	15	270	25	45	Draw of Lots	15	5
1132	From Lal Ghanta Ghar to Churu Fort on Main road (Purani sadak)	CHURU	REGULAR	160	SC	CFS	18	15	270	0	0	Draw of Lots	0	3
1133	ON EITHER SIDE BETWEEN DALI BAI CIRCLE AND HOTEL GARH GOVIND ON JODHPUR BYE PASS ROAD	JODHPUR	REGULAR	295	OBC	сс	18	15	270	25	10	Bidding	30	4
1134	Pali City : Between jai Narayan vyas circle and bangarh college.	PALI	REGULAR	160	OPEN	DC	18	15	270	25	45	Draw of Lots	15	5
1135	VILLAGE THIRPALI BADI NH 709 EXT (RAJGARH - PILANI ROAD)	CHURU	REGULAR	153	OPEN CC 1	DC	35	45	1575	25	75	Draw of Lots	15	5
1136	VILLAGE 30 GG, CHUNAWAD, ON SH 03	SRI GANGANAGAR	REGULAR	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1137	ON SH-3, FROM PADAMPUR-SURATGARH BYEPASS CHOWK TO CHUNAWADH	SRI GANGANAGAR	REGULAR	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1138	EITHER SIDE FROM KM STONE 73 TO 93 ON SH6 (SRIDUNGARGARH TO SARDARSHAHAR ROAD)	BIKANER	REGULAR	105	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
1139	On EITHER side of Bikaner - Sriganganagar road (NH 15 new NH no 62) from 13 to 17 km stone	BIKANER	REGULAR	154	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
1140	SADULSHAHAR, WITHIN MUNICIPAL LIMITS	SRI GANGANAGAR	REGULAR	110	OBC	DC	18	15	270	25	45	Draw of Lots	15	4
1141	Within 10KM from Pratapgarh on SH-81/14 Pratapgarh to Mandsaur RHS	PRATAPGARH	REGULAR	125	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
1142	FROM GOKUL CIRCLE TO VICTORIOUS PUBLIC SCHOOL ON SURYA MANDIR ROAD (BIKANER CITY)	BIKANER	REGULAR	154	OPEN	DC	18	15	270	25	60	Draw of Lots	15	5
1143	BETWEEN KM STONE NO. 70 TO 72 ON SH 40 ON LHS (KANOD)	BARMER	REGULAR	120	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
1144	FROM GADISAR CIRCLE TO TRANSPORT NAGAR CIRCLE IN JAISALMER	JAISALMER	REGULAR	200	OPEN	СС	18	15	270	25	10	Bidding	30	5
1145	On either side of NH 911 Between JAGGASAR and GOKUL	BIKANER	REGULAR	152	OBC CC 1	DC	35	45	1575	25	75	Draw of Lots	15	4
1146	ANYWHERE IN PATRAKAR COLONY ON 24M WIDE ROAD	JAIPUR	REGULAR	165	ST CC 1	CFS	18	15	270	0	0	Draw of Lots	0	3
1147	Kankroli City WML	RAJSAMAND	REGULAR	130	OPEN PH	СС	18	15	270	25	10	Bidding	30	5
1148	FROM JN VYAS CIRCLE TO BSNL TELEPHONE EXCHANGE IN POKARAN CITY	JAISALMER	REGULAR	130	OBC	сс	18	15	270	25	10	Bidding	30	4
1149	Village sendara on either side of NH-25(Bar-Beawar)	PALI	REGULAR	195	OPEN	СС	35	45	1575	25	10	Bidding	30	5
1150	on SH 3, IN VILLAGE CHAK 23 PS(C)	SRI GANGANAGAR	REGULAR	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1151	Between stone no. 649 and 653 on NH 62 on LHS while going from pali to sumerpur.	PALI	REGULAR	172	OPEN	СС	35	45	1575	25	10	Bidding	30	5
1152	ON EITHER SIDE OF SH 20 FROM KM STONE 28 TO 38(NOKHA- BIDASAR ROAD)	BIKANER	REGULAR	104	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1153	BETWEEN KM STONE 160 & 165 ON NH 25 (JODHPUR TO PACHPADRA ROAD ON LHS)	JODHPUR	REGULAR	180	OPEN	СС	35	45	1575	25	10	Bidding	30	5
1154	Garnia village on NH 25(Jodhpur- Jaipur road).	PALI	REGULAR	152	OPEN	СС	35	45	1575	25	10	Bidding	30	5

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		Dimension (in site (in Sq. M	· ·		be arranged applicant	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7		8		9a	9b	10	11	12
1155	BETWEEN KM STONE NO 6-10 ON EITHER SIDE OF SH-31 (JALORE- BHINMAL ROAD)	JALORE	REGULAR	120	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
1156	Vilage rohat on NH 62 on RHS from Pali to jodhpur.	PALI	REGULAR	165	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
1157	ON EITHER SIDE OF SH 7B(MIRZEWALA TO SRI GANGANAGAR) BETWEEN KM STONE NO. 47 TO 44	SRI GANGANAGAR	REGULAR	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
1158	Banswara City WML	BANSWARA	REGULAR	150	OPEN CC 1	DC	18	15	270	25	45	Draw of Lots	15	5
1159	BETWEEN CHOHTAN CIRCLE TO BARMER RAILWAY STATION CIRCLE ON RHS IN BARMER	BARMER	REGULAR	170	SC	CFS	18	15	270	0	0	Draw of Lots	0	3
1160	VILLAGE DHUNDHARA ON SH 68 (KANKANI-LUNI-SAMDARI ROAD)	JODHPUR	REGULAR	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1161	L.H.S Between Mauriya & Jaitpur on SH-64 (Rohat-Jalor Road).	PALI	REGULAR	105	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
1162	BETWEEN KM STONE 133 & 138 ON SH 61 (JODHPUR SARDAR SAMAND ROAD ON EITHER SIDE)	JODHPUR	REGULAR	105	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
1163	FROM AMBEDKAR CIRCLE TO DRDA COLONY ON GADISAR ROAD IN JAISALMER	JAISALMER	REGULAR	200	OBC	DC	18	15	270	25	45	Draw of Lots	15	4
1164	SALEMPURA, ON EITHER SIDE OF SH-3	SRI GANGANAGAR	REGULAR	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1165	ON RHS FROM DC OFFICE TO INTERSECTION OF NH 68 ON CIRCUIT HOUSE ROAD IN BARMER	BARMER	REGULAR	160	OPEN	DC	18	15	270	25	45	Draw of Lots	15	5
1166	NEW BYE PASS ROAD HANUMANGARH TOWN, FROM HISARIYA HOSPITAL TO ADARSH ENCLAVE	HANUMANGARH	REGULAR	100	OPEN	DC	18	15	270	25	45	Draw of Lots	15	5
1167	Pushkar to Tilora on NH-89	AJMER	REGULAR	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
1168	ON SH 91 B/W KMS 2 AND 4 LHS WHILE GOING FROM SABLA TO RICHA	DUNGARPUR	REGULAR	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
1169	ON SH 76, SANGARIA TO SADULSHAHAR, BETWEEN KM STONE NO. 20 TO 15	HANUMANGARH	REGULAR	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
1170	ON EITHER SIDE OF NH-62 BETWEEN KM STONE 200 & 195(ON SRIGANGANAGAR-SURATGARH ROAD)	SRI GANGANAGAR	REGULAR	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
1171	BETWEEN SILORA TO SREENAGAR ON NH 79A , LHS WHEN MOVING FROM KISHANGARH TO NASIRABAD	AJMER	REGULAR	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
1172	On either side of NH 15 (New NH 62)Bikaner- Sriganganagar Road from Kms Stone 79 to 83	BIKANER	REGULAR	152	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
1173	VILLAGE DHANNASAR ON SH-7	HANUMANGARH	REGULAR	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
1174		RAJSAMAND	REGULAR	180	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
1175	SRIGANGANAGAR CITY LIMITS ON VRIDH ASHRAM ROAD(ACHARYA SHRI RAM SHARMA MARG)	SRI GANGANAGAR	REGULAR	105	OPEN	DC	18	15	270	25	45	Draw of Lots	15	5
1176	ON LHS FROM SHIV CIRCLE TO ORBIT INN RESORT ON SURATGARH ROAD, GANGANAGAR CITY LIMITS	SRI GANGANAGAR	REGULAR	100	OPEN	DC	18	15	270	25	45	Draw of Lots	15	5
1177	VILLAGE JAISINGHPURA, ON MAIN ROAD CONNECTING MUHANA TO BHAKROTA	JAIPUR	REGULAR	150	ST	CFS	18	15	270	0	0	Draw of Lots	0	3
1178	UPTO 4 KM FROM PARBATPURA CHOURAHA ON NASIRABAD MAIN ROAD TOWARDS NASIRABAD WITHIN AJMER CITY LIMITS	AJMER	REGULAR	170	OBC	СС	18	15	270	25	10	Bidding	30	4

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		Dimension (in site (in Sq. M			be arranged applicant	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7		8		9a	9b	10	11	12
1179	SURATGARH CITY LIMITS FROM MAHARANA PRATAP CHOWK TO ALL INDIA RADIO ON BIKANER ROAD	SRI GANGANAGAR	REGULAR	105	OPEN	DC	18	15	270	25	45	Draw of Lots	15	5
1180	ANOOPGARH CITY LIMITS FROM AMBEDKAR CHOWK TO RAILWAY STATION ON RHS	SRI GANGANAGAR	REGULAR	100	OPEN	DC	18	15	270	25	45	Draw of Lots	15	5
1181	BETWEEN KM STONE 228 & 232 ON NH 62 (JODHPUR-NAGAUR ROAD; LHS)	JODHPUR	REGULAR	155	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
1182	On NH 8 LHS while moving from Udaipur to Bhim b/w Kms 116 and 118	RAJSAMAND	REGULAR	170	OBC	СС	35	45	1575	25	10	Bidding	30	4
1183	BSF CAMPUS TO 20-PS ON RAISINGHNAGAR-PADAMPUR ROAD	SRI GANGANAGAR	REGULAR	100	OPEN	DC	18	15	270	25	45	Draw of Lots	15	5
1184	Village Haripura on SH-9A Bhilwara Modak Road	CHITTORGARH	REGULAR	167	OPEN CC 1	DC	35	35	1225	25	60	Draw of Lots	15	5
1185	Within 10KM from Pratapgarh on Paratpgarh Banswara Road (NH- 113/56) RHS	PRATAPGARH	REGULAR	169	OBC	СС	35	45	1575	25	10	Bidding	30	4
1186	UPTO 7 KMS OF NASIRABAD BUS STAND ON SH-102 TOWARDS MANGLIAWAS	AJMER	REGULAR	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1187	ON SH-3, PADAMPUR RAISINGHNAGAR ROAD BETWEEN KM STONE 42 TO 46	SRI GANGANAGAR	REGULAR	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
1188	KESRISINGHPUR WML, FROM UDHAM SINGH CHOWK TO GANGANAGAR-KARANPUR ROAD INTERSECTION	SRI GANGANAGAR	REGULAR	100	OPEN	DC	18	15	270	25	45	Draw of Lots	15	5
1189	Within 10KM from Pratapgarh on SH-81/14 Pratapgarh to Mandsaur LHS	PRATAPGARH	REGULAR	138	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1190	ON MAHAL ROAD B/W RAMCHANDPURA MOD AND RING ROAD INTERSECTION	JAIPUR	REGULAR	150	ST	CFS	18	15	270	0	0	Draw of Lots	0	3
1191	ON EITHER SIDE OF GS ROAD FROM GOGA GATE CIRCLE UPTO KOCHAR CIRCLE	BIKANER	REGULAR	179	OPEN	DC	18	15	270	25	60	Draw of Lots	15	5
1192	ON EITHER SIDE OF SH-7, FROM KM STONE NO. 310 TO 305	HANUMANGARH	REGULAR	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
1193	Asind WML	BHILWARA	REGULAR	150	OBC	DC	18	15	270	25	45	Draw of Lots	15	4
1194	SRI VIJAYNAGAR WML ON NEW DHAN MANDI ROAD	SRI GANGANAGAR	REGULAR	100	OPEN	DC	18	15	270	25	45	Draw of Lots	15	5
1195	Bherunda SH-60	NAGAUR	REGULAR	101	SC CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
1196	Between Nada to Damana, Dudu-Phagi Road, on SH02	JAIPUR	REGULAR	110	OPEN CC 2	DC	35	35	1225	25	60	Draw of Lots	15	5
1197	Within 2km radius of Village-Mundawara on Narayanpur to Kushalgarh road,SH13	ALWAR	REGULAR	102	OBC CC 1	DC	35	35	1225	25	60	Draw of Lots	15	4
1198	HANUMANGARH WITIHN CITY LIMITS FROM GURU NANAK NAGAR GATE TO BHAGAT SINGH CHOWK ON SANGARIA ROAD	HANUMANGARH	REGULAR	100	OPEN	DC	18	15	270	25	45	Draw of Lots	15	5
1199	IN BETWEEN KM STONE 184-186 ON LHS OF NH-8 WHILE MOVING FROM AJMER TO RAJSAMAND Road	RAJSAMAND	REGULAR	180	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
1200	Between KM stone 52 to 54 on SH 09 RHS when moving from Udaipur to Chittorgarh	CHITTORGARH	REGULAR	131	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1201	CIVIL LINES, HANUMANGARH JUNCTION	HANUMANGARH	REGULAR	100	OPEN	DC	18	15	270	25	45	Draw of Lots	15	5

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		Dimension (in site (in Sq. M	· ·		be arranged applicant	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7		8		9a	9b	10	11	12
1202	ON LHS OF SH-94 FROM PILIBANGA TOWARDS SURATGARH BETWEEN KM STONES 27 AND 29	HANUMANGARH	REGULAR	105	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
1203	Between Rohida to Bhoola on SH-10 (SWAROOPGANJ TO DUNGARPUR HIGHWAY)	SIROHI	REGULAR	120	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1204	On main road (MIN 24M WIDE), Between Gujjar Ki Thadi to Sodala (Jaipur City)	JAIPUR	REGULAR	200	ST	CFS	18	15	270	0	0	Draw of Lots	0	3
1205	SURATGARH WML, FROM KARNI MATA MANDIR TO UNDER PASS NO, C- 95	SRI GANGANAGAR	REGULAR	100	OPEN	DC	18	15	270	25	45	Draw of Lots	15	5
1206	FROM HALDI RAM PIYAU UPTO BIKANER HERITAGE RESORT HOTEL ON EITHER SIDE OF BIKANER-JAIPUR ROAD	BIKANER	REGULAR	159	OPEN	DC	18	15	270	25	60	Draw of Lots	15	5
1207	On NH 148-D Between KM Stone 118 to 122	BHILWARA	REGULAR	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
1208	Within 3KM from Rawatbhata on SH-9A towards Bhainsrorgarh	CHITTORGARH	REGULAR	167	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1209	Vilage rohat on NH 62 on LHS from Pali to jodhpur.	PALI	REGULAR	152	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
1210	Bijaynagar Within Municipal Limits	AJMER	REGULAR	160	OPEN CC 1	DC	18	15	270	25	45	Draw of Lots	15	5
1211	Between km stone no 26-30 on either side on SH-38 (Ramseen Sirohi road)	SIROHI	REGULAR	120	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1212	Within 5 KM FROM JASSA KHERAÂ TO BHIM ROAD on NH 8, LHS	RAJSAMAND	REGULAR	180	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
1213	Between stone number 612 and 616 NH-62(Pali-Sumerpur road) on LHS going from pali to sumerpur.	PALI	REGULAR	175	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
1214	Village Kusumdesar on SH 7 (Ratangarh- Salasar Road)	CHURU	REGULAR	105	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
1215	JASWANTPURA TO LAMBIYA TOLL PLAZA ON NH-79 , LHS - WHEN MOVING FROM BHILWARA TO AJMER	BHILWARA	REGULAR	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
1216	Village mandawas on NH-62(Pali-Jodhpur road) on LHS while going from Pali to Jodhpur	PALI	REGULAR	165	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
1217	WITHIN 1 KM OF ROPADA MOD ON GONER ROAD	JAIPUR	REGULAR	160	ST	CFS	18	15	270	0	0	Draw of Lots	0	3
1218	Village sojat road on SH 61, (tehsil sojat)	PALI	REGULAR	110	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
1219	VILLAGE DEVGAON TO VILLAGE KHOLDI UDAIPUR BANSWARA ROAD SH-32	UDAIPUR	REGULAR	170	OBC	СС	35	35	1225	25	10	Bidding	30	4
1220	Village Sidhmukh on SH 106 (Rajgarh - Bhadra Road)	CHURU	REGULAR	116	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
1221	Village: Akoda (On SH57)	JAIPUR	REGULAR	130	ST PH	CFS	35	35	1225	0	0	Draw of Lots	0	3
1222	SAHARA WML	BHILWARA	REGULAR	110	OBC PH	DC	18	15	270	25	45	Draw of Lots	15	4
1223	Village Randhisar on SH7C Megahighway (Ratangarh - Sujangarh road)	CHURU	REGULAR	105	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
1224	Village somesar on SH 67(Pali nadol road).	PALI	REGULAR	102	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
1225	BETWEEN KM STONE 23 TO 28 ON NH 148D	BHILWARA	REGULAR	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
1226	Between KM stone 91 to 93 on SH 09 LHS when moving from Udaipur to Chittorgarh	CHITTORGARH	REGULAR	131	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*)imension (in site (in Sq. M	· ·		be arranged applicant	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7		8		9a	9b	10	11	12
1227	Village Indasi On SH6(Sardarshahar- Rajgarh Road)	CHURU	REGULAR	113	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
1228	Mandal Chouraha to Nanakpura on NH-79 , LHS MOVING FROM BHILWARA TO AJMER	BHILWARA	REGULAR	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
1229	SANTPUR CENSUS TOWN TEHSIL ABU ROAD	SIROHI	REGULAR	110	OBC	DC	35	35	1225	25	45	Draw of Lots	15	4
1230	Within 4 Kms of Intersection of Toonga -Lalsot Road on SH-24	JAIPUR	REGULAR	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
1231	Aatoon to Pur on LHS when moving from Aatoon to Pur on NH-79	BHILWARA	REGULAR	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
1232	Village-Makheeda, Tehsil-Indergarh, on SH-1	BUNDI	REGULAR	105	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
1233	Within 3 KMs of Tej Singh Circle on 200 ft Ring road , Bhilwara WML.	BHILWARA	REGULAR	160	OPEN	сс	18	15	270	25	10	Bidding	30	5
1234	DHANSA , TEHSIL BHINMAL	JALORE	REGULAR	100	OBC	DC	35	35	1225	25	45	Draw of Lots	15	4
1235	On NH 927 A In b/w kms 160 and 165 RHS while moving from Dungarpur to Kherwara	DUNGARPUR	REGULAR	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
1236	Within 5km of Crossing of Rajgarh Tehla road and Alwar Sikandra road, on RAJGRAH TEHLA ROAD	ALWAR	REGULAR	101	OPEN CC 1	DC	35	35	1225	25	60	Draw of Lots	15	5
1237	On NH 162 A b/w village Kuraj and Mora	RAJSAMAND	REGULAR	200	OBC	СС	35	45	1575	25	10	Bidding	30	4
1238	On NH113 (New NH 56) LHS b/w kms 173 and 175 while moving from Banswar to sagrod	BANSWARA	REGULAR	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
1239	Between Chaksu to Kotkhawda on SH-2	JAIPUR	REGULAR	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
1240	Village Barodiya on NH 113(New NH 56) BYE PASS road ON LHS from padi to barodiya	BANSWARA	REGULAR	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
1241	Neemrana(Within RIICO limits anywhere in Phase 1 or Phase 2 or Japanese Zone)	ALWAR	REGULAR	130	OBC	DC	35	35	1225	25	45	Draw of Lots	15	4
1242	ON SH 49 Kumbhalgarh to Majhera Road on LHS b/w kms 22 and 24	RAJSAMAND	REGULAR	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
1243	Daurai-Beawar road within City Limits of Ajmer City	AJMER	REGULAR	160	OPEN	СС	18	15	270	25	10	Bidding	30	5
1244	FROM KM STONE 67 TO 69 ON NH 113, LHS , NIMBAHERA- PRATAPGARH ROAD	PRATAPGARH	REGULAR	190	SC CC 1	CFS	35	45	1575	0	0	Draw of Lots	0	3
1245	Between Papurna and Mavanda Khurd on SH 13	JHUNJHUNU	REGULAR	100	OBC CC 1	DC	35	35	1225	25	60	Draw of Lots	15	4
1246	Within 10KM from Chotisadri on Chotisadri Neemuch Road (SH-15)	PRATAPGARH	REGULAR	162	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
1247	BETWEEN KM STONE 171 TO 174 ON RHS FROM ALWAR TO KISHANGARH BAS ON SH-25	ALWAR	REGULAR	104	OPEN PH	DC	35	35	1225	25	60	Draw of Lots	15	5
1248	FROM SHAHSTRI CIRCLE TO DELHI GATE CHAURAHA RHS DISTRICT UDAIPUR	UDAIPUR	REGULAR	250	SC	CFS	18	15	270	0	0	Draw of Lots	0	3
1249	ANYWHERE IN JAGATPURA ON 24 M WIDE ROAD, WITHIN JAIPUR CITY MUNICIPAL LIMITS	JAIPUR	REGULAR	200	OBC	СС	18	15	270	25	10	Bidding	30	4
1250	Bhilwara Kota Byepass on NH 758 between KM STONE 93 TO KM STONE 103- LHS When moving towards Ladpura	BHILWARA	REGULAR	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
1251	ON MAIN TONK ROAD, B/W B2 BYPASS CHAURAHA & HALDIGHATI GATE,JAIPUR	JAIPUR	REGULAR	300	OBC	СС	18	15	270	25	10	Bidding	30	4

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		Dimension (in site (in Sq. M	· ·		be arranged Ipplicant	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7		8		9a	9b	10	11	12
1252	FROM INOX MALL TO SHOBHAGPURA CIRCLE LEFT HAND SIDE UDAIPUR CITY	UDAIPUR	REGULAR	280	SC	CFS	18	15	270	0	0	Draw of Lots	0	3
1253	Within 10KM from Pratapgarh on Paratpgarh Banswara Road (NH- 113/56) LHS	PRATAPGARH	REGULAR	169	OPEN	СС	35	45	1575	25	10	Bidding	30	5
1254	BETWEEN KM STONE 970 TO 974 ON NH 27 (LHS WHILE MOVING FROM CHITTORGARH TO KOTA)	BHILWARA	REGULAR	250	OPEN	CC	35	45	1575	25	10	Bidding	30	5
1255	On SH 54 Village Peeth on Dungarpur Sarthuna Road	DUNGARPUR	REGULAR	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
1256	Between km stone no. 160-166 on LHS(Travelling from Delhi to Jaipur) on NH8	JAIPUR	REGULAR	200	OBC	СС	35	45	1575	25	10	Bidding	30	4
1257	Bassi on Tunga Road upto 5 km from NH-11	JAIPUR	REGULAR	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
1258	BETWEEN MILESTONE 264-268 ON SH-27, ON EITHER SIDE OF ROAD (FROM SIROHI TOWARDS MANDAR)	SIROHI	REGULAR	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
1259	Merta city By pass on NH-458	NAGAUR	REGULAR	155	OPEN CC 1	DC	35	45	1575	25	75	Draw of Lots	15	5
1260	Between km stone no. 201 to 212 on LHS(While travelling from Delhi to Jaipur) on NH8	JAIPUR	REGULAR	200	OBC	CC	35	45	1575	25	10	Bidding	30	4
1261	Between KM Stone 325-332 on Udaipur Ahemdabad Road RHS	UDAIPUR	REGULAR	230	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
1262	Within 5 kms from Ahore towards Bhadrajun on SH-64 (Ahore-Rohat highway)	JALORE	REGULAR	140	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
1263	Upto 5KMs from Govindi toll plaza towards Nagaur (On Jaipur-Nawa Highway)	NAGAUR	REGULAR	105	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1264	Between KM stone 181 to 183 on NH 79 LHS when moving from Nimbahera to Bhilwara	CHITTORGARH	REGULAR	161	OPEN	СС	35	45	1575	25	10	Bidding	30	5
1265	Within 5 KM FROM JASSA KHERAÂ TO BHIM ROAD on NH 8, RHS	RAJSAMAND	REGULAR	180	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
1266	Between KM stone 200 t0 207 on Agra Road (NH21), RHS while moving from Jaipur to Agra	JAIPUR	REGULAR	170	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
1267	Between Km stone 127 to 130 on SH-59	NAGAUR	REGULAR	110	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1268	Between KM stone 27 to 29 on SH 98 LHS when moving from Akola to Fatahnagar	CHITTORGARH	REGULAR	128	OPEN	СС	35	35	1225	25	10	Bidding	30	5
1269	In B/w Km Stone 358 and 362, On NH08 LHS while moving from Kherwara to Bichhiwara	RAJSAMAND	REGULAR	210	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
1270	Village Uncha on SH-26	BHILWARA	REGULAR	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1271	Between Km stone 115 to 117 on SH-60 (On Didwana -Mukundgarh Highway)	NAGAUR	REGULAR	110	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1272	On NH 148-D Between KM Stone 126 to 131 on LHS When Moving from Pander to Gulabpura	BHILWARA	REGULAR	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
1273	Within 5 kms from Ramseen Tiraha on SH-38 towards Sirohi	JALORE	REGULAR	120	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
1274	Between Km stone 129 to 132 on NH-58 (Ladnun-Nagaur highway)	NAGAUR	REGULAR	160	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
1275	BETWEEN KM STONE 73 & 78 ON NH 112(JODHPUR TO BILARA ROAD RHS)	JODHPUR	REGULAR	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*)imension (in site (in Sq. M	· · · · · · · · · · · · · · · · · · ·		be arranged applicant	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7		8		9a	9b	10	11	12
1276	Between KM Stone 312-325 on Udaipur Ahemdabad Road RHS ON NH8/48.	UDAIPUR	REGULAR	160	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
1277	Betweek km stone no 80-85 on either side of SH-31(Bhinmal- Raniwara road)	JALORE	REGULAR	120	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
1278	Nagaur city on Tausar road (WML)	NAGAUR	REGULAR	130	OBC	DC	18	15	270	25	45	Draw of Lots	15	4
1279	From Andhi to Dausa (On Right Hand Side) (On NH148) (In Jaipur District)	JAIPUR	REGULAR	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
1280	Between KM stone 76-80 on NH-758, LHS when moving from Bhilwara to Rajsamand	BHILWARA	REGULAR	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
1281	BETWEEN MILESTONE 218-222 ON SH-27, ON EITHER SIDE OF ROAD (FROM SIROHI TOWARDS MANDAR)	SIROHI	REGULAR	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
1282	Between Km stone 85 to 88 on NH-458 (on Degana -Nimbijodha highway)	NAGAUR	REGULAR	160	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
1283	Within 2 kms from Sheoganj police station towards NH-62 on Sirohi- Sheoganj road	SIROHI	REGULAR	100	OPEN	DC	18	15	270	25	45	Draw of Lots	15	5
1284	Upto 4KMs from Tankla toll plaza towards Jodhpur either side on NH- 62	NAGAUR	REGULAR	160	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
1285	Between KM stone 80 to 82 on NH-89(Ajmer-Bikaner Highway)	NAGAUR	REGULAR	155	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
1286	Makrana SH-2D	NAGAUR	REGULAR	105	OPEN CC 1	DC	35	35	1225	25	60	Draw of Lots	15	5
1287	Within 5 kms from intersection of Baba Darshan Singh marg with NH 325 towards Ahore on NH 325	JALORE	REGULAR	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
1288	FROM DUDU TO PADASOLI, RHS WHILE MOVING FROM DUDU TO PADASOLI ON NH48 (NH08)	JAIPUR	REGULAR	250	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
1289	Between KM stone-176 to 178 on NH-89 (Ajmer -Bikaner Highway)	NAGAUR	REGULAR	160	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
1290	VILLAGE JAGAT TEHSIL GIRWA DISTRICT UDAIPUR	UDAIPUR	REGULAR	100	OPEN	DC	35	35	1225	25	45	Draw of Lots	15	5
1291	FROM KM STONE 903 TO 905 LHS ON NH-27/76 (CHITTORGARH - KOTA ROAD)	CHITTORGARH	REGULAR	161	OPEN	СС	35	45	1575	25	10	Bidding	30	5
1292	Between Kuchetiya and Mandookara (on Kuchaman-Khatu highway)including both villages	NAGAUR	REGULAR	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1293	Gudha Bhagwan on SH-19 (5KM either side)	NAGAUR	REGULAR	105	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1294	VILLAGE KOSHITHAL ON SH-75, GANGAPUR KAREDA ROAD	BHILWARA	REGULAR	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
1295	DUNGARPUR CITY WML -ON DUNGARPUR SIMALWARA ROAD	DUNGARPUR	REGULAR	160	OPEN CC 2	СС	18	15	270	25	10	Bidding	30	5
1296	KM Stone No. 9 to 12 on Sikar Nawalgarh Marg	SIKAR	REGULAR	110	OBC CC 1	DC	35	35	1225	25	60	Draw of Lots	15	4
1297	Between Gudha Gorji and Seethal on SH 37 B on RHS while going from Udaipurwati	JHUNJHUNU	REGULAR	100	ST CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
1298	JALORE CITY(WITHIN MUNICIPAL LIMITS)	JALORE	REGULAR	200	OPEN	СС	18	15	270	25	10	Bidding	30	5
1299	Eklingpura chauraha to Ballicha on NH 8 Byepass, DISTRICT UDAIPUR	UDAIPUR	REGULAR	260	OPEN	СС	18	15	270	25	10	Bidding	30	5
1300	Nagaur City WML(on Bikaner road upto 3 Km from railway crossing)	NAGAUR	REGULAR	190	OBC	DC	18	15	270	25	45	Draw of Lots	15	4

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*)imension (in site (in Sq. M	· ·		be arranged applicant	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7		8		9a	9b	10	11	12
1301	Peeplad on SH-21A	NAGAUR	REGULAR	110	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1302	Between KM stone 91 to 93 on SH 09 RHS when moving from Udaipur to Chittorgarh	CHITTORGARH	REGULAR	131	OPEN	сс	35	35	1225	25	10	Bidding	30	5
1303	Within 10KM from Rawatbhata on Rawatbhata Kota Road (SH-33)	CHITTORGARH	REGULAR	162	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
1304	On Nagaur ring road between Jodhpur Highway and Ajmer highway	NAGAUR	REGULAR	130	OBC	DC	18	15	270	25	45	Draw of Lots	15	4
1305	Upto 2 km of Village Rajpura on SH 37B	SIKAR	REGULAR	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
1306	Between Kothun and Lalsot, LHS while moving kothun to lalsot on NH23	JAIPUR	REGULAR	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
1307	Between Ghora Pher Circle to Tisha Resort on Alwar Umren Road	ALWAR	REGULAR	155	OPEN	DC	18	15	270	25	60	Draw of Lots	15	5
1308	between Km stone-66 to 68 on NH-58 (old NH-65)	NAGAUR	REGULAR	160	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
1309	Between Manda Bhim Singh to Bheslana on SH-2C	JAIPUR	REGULAR	150	OPEN CC 1	DC	35	35	1225	25	60	Draw of Lots	15	5
1310	On Nagaur ring road b/w Ladnun highway and Didwana highway	NAGAUR	REGULAR	130	SC	CFS	18	15	270	0	0	Draw of Lots	0	3
1311	Merta city WML on Gotan road	NAGAUR	REGULAR	150	OBC	DC	18	15	270	25	45	Draw of Lots	15	4
1312	Anywhere in Transport Nagar, Alwar City(Within UIT Limits of Alwar)	ALWAR	REGULAR	155	OPEN	DC	18	15	270	25	60	Draw of Lots	15	5
1313	Tijara (Within Municipal Limits)	ALWAR	REGULAR	110	OPEN	DC	18	15	270	25	45	Draw of Lots	15	5
1314	Nagaur City WML	NAGAUR	REGULAR	190	OBC	DC	18	15	270	25	45	Draw of Lots	15	4
1315	Between Kothun and Lalsot, RHS while moving kothun to lalsot on NH23	JAIPUR	REGULAR	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
1316	Between km stone no. 228 to 240 on RHS(While travelling from Delhi to Jaipur) on NH8	JAIPUR	REGULAR	155	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
1317	Bhiwadi(Within UIT Limits) on SH-25	ALWAR	REGULAR	150	OPEN	DC	18	15	270	25	45	Draw of Lots	15	5
1318	Khabriyana NH-58 (old NH-65) on Nagaur-Ladnun highway	NAGAUR	REGULAR	160	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
1319	On Nagaur ring road b/w bikaner highway and Jodhpur highway	NAGAUR	REGULAR	130	SC	CFS	18	15	270	0	0	Draw of Lots	0	3
1320	Between KM stone no. 90-95 on LHS on SH 25	ALWAR	REGULAR	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
1321	Anywhere in Jaipur city (ON MINIMUM 24M WIDE ROAD)	JAIPUR	REGULAR	300	OPEN	СС	18	15	270	25	10	Bidding	30	5
1322	GAUTAM MARG (B/W GANDHI PATH & SIRSI ROAD),JAIPUR CITY	JAIPUR	REGULAR	260	OBC PH	DC	18	15	270	25	60	Draw of Lots	15	4
1323	Village Nechwa on Nechwa Nani Road SH 20	SIKAR	REGULAR	100	SC PH	CFS	35	35	1225	0	0	Draw of Lots	0	3
1324	Within 1KM radius of Elements Mall on Ajmer road in Jaipur city	JAIPUR	REGULAR	300	OPEN	СС	18	15	270	25	10	Bidding	30	5
1325	On DIGGI MALPURA ROAD EX MALPURA GATE(WITHIN JAIPUR CITY LIMITS)	JAIPUR	REGULAR	260	OPEN	СС	18	15	270	25	10	Bidding	30	5
1326	Sanjoo on NH-458 (Nimbijodha-Merta Highway)	NAGAUR	REGULAR	165	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		Dimension (in site (in Sq. M	· · · · · · · · · · · · · · · · · · ·		be arranged applicant	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7		8		9a	9b	10	11	12
1327	NEW SANGANER ROAD,B/W KISAN DHARAM KANTA & B2-BYPASS INTERSECTION LHS WHILE MOVING TOWARD B2BYPASS	JAIPUR	REGULAR	280	OPEN	сс	18	15	270	25	10	Bidding	30	5
1328	Within 10 KM From Sadwa Mode towards Andhi, On SH55	JAIPUR	REGULAR	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
1329	ANYWHERE IN MANSAROVAR (JAIPUR CITY-ON 24 M WIDE ROAD)	JAIPUR	REGULAR	400	OPEN	СС	18	15	270	25	10	Bidding	30	5
1330	Between km stone 94 to 96 on NH-89 (Ajmer -Bikaner highway)	NAGAUR	REGULAR	160	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
1331	WITHIN 4 KMS FROM AMBER TOWARDS KUKAS ON NH 11C, LHS WHILE MOVING FROM AMBER TO KUKAS	JAIPUR	REGULAR	185	OPEN	сс	35	45	1575	25	10	Bidding	30	5
1332	Ratau NH-458 (old NH-65A) (Nimbijodha -Merta Highway)	NAGAUR	REGULAR	160	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
1333	Jayal on SH-60 (Nagaur -Didwana Highway)	NAGAUR	REGULAR	120	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1334	From Chomu to Govindgarh (On Left hand Side) on NH 52	JAIPUR	REGULAR	250	OPEN	СС	35	45	1575	25	10	Bidding	30	5
1335	Between Ganeri and Deedwana on SH 60 within Sikar district	SIKAR	REGULAR	100	OPEN CC 1	DC	35	35	1225	25	60	Draw of Lots	15	5
1336	Anywhere in Degana WML	NAGAUR	REGULAR	160	OBC	DC	18	15	270	25	45	Draw of Lots	15	4
1337	Upto 5Kms from Burdi Phanta towards Naguar on NH-58 (old NH-65) (Ladnun-Nagaur Highway)	NAGAUR	REGULAR	160	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
1338	From Chomu to Udaipuria Mod (Right Hand Side on NH52)	JAIPUR	REGULAR	250	OPEN	СС	35	45	1575	25	10	Bidding	30	5
1339	FROM DUDU TO PADASOLI, LHS WHILE MOVING FROM DUDU TO PADASOLI ON NH48 (NH08)	JAIPUR	REGULAR	250	OPEN	сс	35	45	1575	25	10	Bidding	30	5
1340	Choti Khatu on NH-458(old NH-65A)	NAGAUR	REGULAR	185	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
1341	On Jaipur Ring Road, Within 7 KM from Tonk Road and Ringroad Intersection (Towards Vatika Road)	JAIPUR	REGULAR	150	ST	CFS	18	15	270	0	0	Draw of Lots	0	3
1342	Village:Rampura, On Rampura to Jahota Road, Tehsil: Amer	JAIPUR	REGULAR	200	OPEN	СС	18	15	270	25	10	Bidding	30	5
1343	Between KM stone 283 to 288, On LHS while moving from Jaipur to Ajmer on NH08 (NH48)	JAIPUR	REGULAR	250	OPEN	СС	35	45	1575	25	10	Bidding	30	5
1344	Between Pink Pearl Resort to Theekariya Toll Plaza, On NH08 (NH48)	JAIPUR	REGULAR	230	OPEN	СС	35	45	1575	25	10	Bidding	30	5
1345	Within 1 KM on either side from Balaji Stand SH-37 (Jhunjhunu Udaipurwati Marg)	JHUNJHUNU	REGULAR	160	OBC CC 1	DC	35	35	1225	25	60	Draw of Lots	15	4
1346	Within 2kms of Naswari on Ramgarh to Govindgarh road(SH45)	ALWAR	REGULAR	108	ST CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
1347	Between Ganeri and Salasar on (Salasar to Lakshmangarh Road)	SIKAR	REGULAR	100	OPEN PH	DC	35	35	1225	25	60	Draw of Lots	15	5
1348	ANYWHERE ON AMER ROAD EX JORAWAR SINGH GATE OR IN AMER, JAIPUR WML (MIN 24M WIDE ROAD)	JAIPUR	REGULAR	170	OBC	DC	18	15	270	25	60	Draw of Lots	15	4
1349	Between km stone no. 163 to 172 on RHS(While Travelling from Delhi to Jaipur) on NH8	JAIPUR	REGULAR	205	OPEN	СС	35	45	1575	25	10	Bidding	30	5

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		Dimension (in site (in Sq. M	· ·		be arranged applicant	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7		8		9a	9b	10	11	12
1350	JAKHERA ON NH-458 (OLD NH-65A)	NAGAUR	REGULAR	165	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
1351	From Bijlighar Chauraha to railway station in Alwar city(within UIT Limits)	ALWAR	REGULAR	205	OPEN	СС	18	15	270	25	10	Bidding	30	5
1352	ON MAIN ROAD, CONNECTING KESAR NAGAR CHAURAHA & 200ft BYPASS ROAD, JAIPUR CITY	JAIPUR	REGULAR	150	OBC	DC	18	15	270	25	60	Draw of Lots	15	4
1353	BETWEEN KM stone 70-76(LHS) on NH 248A(Jaipur-Alwar road)	ALWAR	REGULAR	200	OPEN	СС	35	45	1575	25	10	Bidding	30	5
1354	Betweem km stone no 76-79 onSH-7 (Kuchman -Didwana Highway)	NAGAUR	REGULAR	180	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
1355	Between Udaipurwati and Gudha Gorji on SH 37 on RHS while going from Udaipurwati	JHUNJHUNU	REGULAR	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
1356	Anywhere in Mansarover RIICO Industrial Area, JAIPUR	JAIPUR	REGULAR	250	OBC	DC	18	15	270	25	60	Draw of Lots	15	4
1357	between burdi phanta and Jhareli on NH-58 (Nagaur -Ladnun highway)	NAGAUR	REGULAR	160	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
1358	Anywhere in Sikar City (WML)	SIKAR	REGULAR	150	OPEN CC 1	DC	18	15	270	25	45	Draw of Lots	15	5
1359	Bamna on NH-458 (on Merta -Nimbijodha highway)	NAGAUR	REGULAR	155	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
1360	ON B2 BYPASS ROAD, JAIPUR CITY	JAIPUR	REGULAR	220	OBC	DC	18	15	270	25	60	Draw of Lots	15	4
1361	Between Km stone 16 to 20 on NH-458 (old NH-65A - Degana- Nimbijodha Highway)	NAGAUR	REGULAR	160	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
1362	Village Nimbola on Nagaur Phalodi Road	NAGAUR	REGULAR	105	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
1363	ON TONK ROAD WITHIN MUNICIPAL LIMITS, JAIPUR	JAIPUR	REGULAR	240	OBC	DC	18	15	270	25	60	Draw of Lots	15	4
1364	Budsoo on SH-90 (5 kms either sides)	NAGAUR	REGULAR	102	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1365	Between KM stone 72 to 74 on NH-58 (old NH-65) (Ladnun-Nagaur highway)	NAGAUR	REGULAR	160	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
1366	Shribalaji on NH-89 (5 kms either side)	NAGAUR	REGULAR	160	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
1367	ANYWHERE ON SAARTHI MARG, CHITRAKOOT, JAIPUR CITY (MIN 24M WIDE ROAD)	JAIPUR	REGULAR	180	OBC	DC	18	15	270	25	60	Draw of Lots	15	4
1368	Within 5 km from NH 52 junction on Laxmangarh - Salasar Road SH (Lakshmangarh- Salasar Road SH83)	SIKAR	REGULAR	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
1369	upto 5Km from Badi Ghati toll plaza towards Nagaur on NH-89 (LHS)	NAGAUR	REGULAR	180	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
1370	Anywhere in Khinvsar WML (not on NH-62)	NAGAUR	REGULAR	130	OPEN	DC	18	15	270	25	45	Draw of Lots	15	5
1371	ANYWHERE IN BINDAYAKA RIICO INDUSTRIAL AREA, WITHIN JAIPUR MUNICIPAL LIMITS	JAIPUR	REGULAR	200	OBC	DC	18	15	270	25	60	Draw of Lots	15	4
1372	SANJU ON SH 60	NAGAUR	REGULAR	113	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1373	Between Surpaliya and Jhareli on NH-58(old NH-65)(Ladnun-Nagaur Highway)	NAGAUR	REGULAR	160	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
1374	ON SHIKARPURA ROAD,BETWEEN HALDIGHATI T-POINT & SANGANER ROAD INTERSECTION,(ON MIN 24 M WIDE ROAD)	JAIPUR	REGULAR	150	OBC	DC	18	15	270	25	60	Draw of Lots	15	4
1375	Village Koliya on SH-60(Nagaur-Didwana highway)	NAGAUR	REGULAR	120	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		Dimension (in site (in Sq. M	· ·		be arranged applicant	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7		8		9a	9b	10	11	12
1376	upto 5Km from Badi Ghati toll plaza towards Nagaur on NH-89 (RHS)	NAGAUR	REGULAR	180	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
1377	Between Jhunjhunu to Jeewa ka Bas on SH 37 (Jhunjhunu Churu Marg)	липниип	REGULAR	130	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
1378	ANYWHERE WITHIN 2KM OF HOTEL DIANA PALACE ON AJMER ROAD	JAIPUR	REGULAR	240	OBC	DC	18	15	270	25	60	Draw of Lots	15	4
1379	Between KM stone -121 to 123 on NH-458(old NH-65A) (Merta - Nibijodha highway)	NAGAUR	REGULAR	165	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
1380	Kuchaman WML (on Nagaur -Kuchaman road)	NAGAUR	REGULAR	100	OPEN	DC	18	15	270	25	45	Draw of Lots	15	5
1381	BADI KHATU (ON NAGAUR ROAD UPTO 5 KM)	NAGAUR	REGULAR	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1382	SITAPURA OR SITAPURA INDUSTRIAL AREA (ON MIN 24M WIDE ROAD WML)	JAIPUR	REGULAR	170	OBC	DC	18	15	270	25	60	Draw of Lots	15	4
1383	LADNUN CITY WML	NAGAUR	REGULAR	150	OPEN	DC	18	15	270	25	45	Draw of Lots	15	5
1384	Village Khoor on SH 8A	SIKAR	REGULAR	100	OPEN CC 1	DC	35	35	1225	25	60	Draw of Lots	15	5
1385	ON GANDHI PATH WEST B/W 200 FT BYPASS & SILVERCROWN APARTMENT(LHS WHILE MOVING TOWARDS APARTMENT)	JAIPUR	REGULAR	300	OBC	DC	18	15	270	25	60	Draw of Lots	15	4
1386	Harsor on SH21A (5 kms either side from SH-59 intersection)	NAGAUR	REGULAR	110	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1387	DIDWANA WML	NAGAUR	REGULAR	135	OPEN	DC	18	15	270	25	45	Draw of Lots	15	5
1388	Maulasar to Kichak on Kuchaman -Didwana highway(SH-7D)	NAGAUR	REGULAR	105	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
1389	ANYWHERE BETWEEN CHOMU PULIA & HARMADA POLICE STATION	JAIPUR	REGULAR	180	OBC	DC	18	15	270	25	60	Draw of Lots	15	4
1390	WITHIN 2KM FROM CHALA TIRAHA ON SH37B TOWARDS NIM KA THANA	SIKAR	REGULAR	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
1391	Between Harsor to Bherunda on SH-21A	NAGAUR	REGULAR	108	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
1392	Shankhwas on Asop - Bhopalgarh road(SH-63)	NAGAUR	REGULAR	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
1393	ON NEW SANGANER ROAD B/W B2 BYPASS ROAD & MALPURA GATE ,JAIPUR CITY	JAIPUR	REGULAR	250	OBC	DC	18	15	270	25	60	Draw of Lots	15	4
1394	Upto 5Km from Merta road railway crossing towards merta city on SH- 39	NAGAUR	REGULAR	150	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
1395	Revenue Village Sewa on SH 37-A	JAIPUR	REGULAR	120	SC CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
1396	Village Sandera on SH25, TehSil Nadhoti	KARAULI	REGULAR	100	OPEN CC 2	DC	35	35	1225	25	60	Draw of Lots	15	5
1397	ON Madhyam Marg, Mansarovar, JAIPUR CITY	JAIPUR	REGULAR	210	OBC CC 1	DC	18	15	270	25	60	Draw of Lots	15	4
1398	Village Senani SH-87C (on Manakpur-Roon Highway)	NAGAUR	REGULAR	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
1399	Banthari on SH-60 upto 5 KM on either side towards Jayal (from NH- 458)	NAGAUR	REGULAR	115	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1400	ANYWHERE ON MAHAL ROAD FROM BALAJI MOD TO RAMCHAND PURA MOD , WITHIN JAIPUR MUNICIPAL LIMITS	JAIPUR	REGULAR	150	OBC	DC	18	15	270	25	60	Draw of Lots	15	4

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		Dimension (in site (in Sq. M	· ·		be arranged applicant	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7		8		9a	9b	10	11	12
1401	Village Bhakri on SH-21A (Harsore -Bagot highway)	NAGAUR	REGULAR	105	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
1402	Village Rohina SH-60	NAGAUR	REGULAR	110	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
1403	ANYWHERE IN JHOTWARA ON ROAD CONNECTING KHATIPURA ROAD AND JHOTWARA FLYOVER, JAIPUR WML	JAIPUR	REGULAR	170	OBC	DC	18	15	270	25	60	Draw of Lots	15	4
1404	Village Dantaramgarh On SH 8 A	SIKAR	REGULAR	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
1405	Merta city on Merta-Ren road (WML)	NAGAUR	REGULAR	150	OPEN	DC	18	15	270	25	45	Draw of Lots	15	5
1406	Kuchaman city (WML)	NAGAUR	REGULAR	150	OPEN	DC	18	15	270	25	45	Draw of Lots	15	5
1407	Revenue Village Khudiyala on SH 37-A	JAIPUR	REGULAR	150	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1408	Dev Fanta upt 5KM either side on SH-19 Tehsil Khinvsar	NAGAUR	REGULAR	120	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1409	from 101 mile chauraha upto 3 KM either side towards Didwana (On Nagaur -Didwana Highway)	NAGAUR	REGULAR	120	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
1410	BETWEEN KM STONE NO 35 & 39 ON SH -13, SIKAR	SIKAR	REGULAR	110	OPEN CC 1	DC	35	35	1225	25	60	Draw of Lots	15	5
1411	Village: Majipura (Samod to Ajitgarh) (On SH37), Tehsil: Shahpura, Jaipur	JAIPUR	REGULAR	120	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1412	Khajwana on SH-39	NAGAUR	REGULAR	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1413	Parbatsar City (WML)	NAGAUR	REGULAR	120	OPEN	DC	18	15	270	25	45	Draw of Lots	15	5
1414	Lampolai on NH-89 (on Ajmer -Bikaner Highway)	NAGAUR	REGULAR	180	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
1415	Village: Jodhpura, Kishangarh-Renwal Bypass Road	JAIPUR	REGULAR	150	OBC	DC	18	15	270	25	45	Draw of Lots	15	4
1416	Between KM stone 123 to 126 on NH-58(old NH-89) (Ajmer-Bikaner highway)	NAGAUR	REGULAR	167	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
1417	Between km stone no. 187 to 193 on LHS(While travelling from Delhi to Jaipur) on NH8	JAIPUR	REGULAR	155	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
1418	ANYWHERE WITHIN 2 KM OF MUHANA MANDI GATE NO. 2, ON MIN 24M WIDE ROAD,JAIPUR CITY	JAIPUR	REGULAR	150	OPEN	DC	18	15	270	25	60	Draw of Lots	15	5
1419	Village Chak Tankarda on SH19 (KM Stone from 4KM to 6KM)	JAIPUR	REGULAR	180	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1420	AMYWHERE ON VAISHALI MARG WEST OF 200FT BYPASS ON MIN 24M WIDE ROAD	JAIPUR	REGULAR	240	OPEN	DC	18	15	270	25	60	Draw of Lots	15	5
1421	FROM PANKHA CIRCLE TO SUBASH CHOWK ON MAIN ROAD	CHURU	REGULAR	105	ST PH	CFS	18	15	270	0	0	Draw of Lots	0	3
1422	Village Mundiagarh on Chomu-Renwal Road	JAIPUR	REGULAR	150	OBC PH	DC	35	35	1225	25	60	Draw of Lots	15	4
1423	ANYWHERE IN JAIPUR CITY WML ON MIN 24M WIDE ROAD	JAIPUR	REGULAR	300	OPEN	DC	18	15	270	25	60	Draw of Lots	15	5
1424	WITHIN 3 KMS FROM STATUE CIRCLE ON MIN 24M WIDE ROAD	JAIPUR	REGULAR	170	OPEN	DC	18	15	270	25	60	Draw of Lots	15	5
1425	Mandha Industrial area, Kaladera - Renwal Road (SH19), Tehsil Phulera	JAIPUR	REGULAR	160	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1426	ANYWHERE IN KUKAS RIICO INDUSTRIAL AREA	JAIPUR	REGULAR	300	SC	CFS	18	15	270	0	0	Draw of Lots	0	3

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*)imension (in site (in Sq. M	· · · · · · · · · · · · · · · · · · ·		be arranged opplicant	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7		8		9a	9b	10	11	12
1427	On NH-8 within Jaipur Municipal limits	JAIPUR	REGULAR	250	OPEN	DC	20	20	400	25	60	Draw of Lots	15	5
1428	On Benad Road, within Jaipur Municipal Limits	JAIPUR	REGULAR	150	OPEN	DC	18	15	270	25	60	Draw of Lots	15	5
1429	Village Dhola, (From Tala Mod to Pratapgarh), Tehsil Jamwa Ramgarh on SH 52	JAIPUR	REGULAR	150	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1430	Between km stone no. 214-219 on LHS(While travelling from Delhi to Jaipur) on NH8	JAIPUR	REGULAR	155	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
1431	ANYWHERE IN AMBABARI OR AMBABARI-VIDYADHAR NAGAR CONNECTING ROAD (MIN 24 M WIDE ROAD), JAIPUR	JAIPUR	REGULAR	200	OPEN	DC	18	15	270	25	60	Draw of Lots	15	5
1432	On 200ft bypass road, between Ajmer road intersection & Sirsi road intersection	JAIPUR	REGULAR	300	OPEN	DC	18	15	270	25	60	Draw of Lots	15	5
1433	ON GANDHI PATH WEST B/W 200 FT BYPASS & SILVERCROWN APARTMENT(RHS WHILE MOVING TOWARDS APARTMENT)	JAIPUR	REGULAR	250	OPEN	DC	18	15	270	25	60	Draw of Lots	15	5
1434	Upto 5 km from Naraina towards Sambhar (SH-2)	JAIPUR	REGULAR	150	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1435	ON JAWAHAR LAL NEHRU MARG, JAIPUR CITY	JAIPUR	REGULAR	250	SC	CFS	18	15	270	0	0	Draw of Lots	0	3
1436	Village Malkera on NH-52 LHS moving from Sikar to Jaipur	SIKAR	REGULAR	150	OPEN CC 1	DC	35	45	1575	25	75	Draw of Lots	15	5
1437	Within 5 KM radius of Phulera Junction, Phulera	JAIPUR	REGULAR	120	OBC	DC	18	15	270	25	45	Draw of Lots	15	4
1438	WITHIN 3 KM FROM APEX CIRCLE (LOCATED IN MALVIYA NAGAR) ON 24M WIDE ROAD, JAIPUR CITY	JAIPUR	REGULAR	360	OPEN	DC	18	15	270	25	60	Draw of Lots	15	5
1439	Between km stone no. 18 - 22 on Rajgarh-Tehla road,SH25A	ALWAR	REGULAR	105	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
1440	ANYWHERE WITHIN 2 KMs of HOTEL THE JAIPUR CLASSIC(IN PATRAKAR COLONY), ON MIN 24 M WIDE ROAD WML	JAIPUR	REGULAR	180	OPEN	DC	18	15	270	25	60	Draw of Lots	15	5
1441	From Radha Swami Bagh to Chomu Thana, Chomu	JAIPUR	REGULAR	140	OBC	DC	18	15	270	25	45	Draw of Lots	15	4
1442	WITHIN 5 KM RADIUS FROM JECRC UNIVERSITY ON ROAD CONNECTING TONK ROAD & GONER ROAD,JAIPUR WML	JAIPUR	REGULAR	150	OPEN	DC	18	15	270	25	60	Draw of Lots	15	5
1443	New Sanganer Road,B/W Kisan Dharam Kanta & B2 Bypass intersection, RHS while moving toward B2Bypass	JAIPUR	REGULAR	260	OPEN	DC	18	15	270	25	60	Draw of Lots	15	5
1444	ANYWHERE IN MALVIYA NAGAR ON MIN 24 M WIDE ROAD (JAIPUR CITY)	JAIPUR	REGULAR	250	SC CC 1	CFS	18	15	270	0	0	Draw of Lots	0	3
1445	ANYWHERE IN SHASHTRI NAGAR OR SUBASH NAGAR ON MIN 24M WIDE ROAD, JAIPUR CITY	JAIPUR	REGULAR	200	OBC CC 1	DC	18	15	270	25	60	Draw of Lots	15	4
1446	ANYWHERE IN VKI ON 24 M WIDE ROAD	JAIPUR	REGULAR	250	OPEN	DC	18	15	270	25	60	Draw of Lots	15	5
1447	Between km stone no. 1120 and 1150 on NH-27 (LHS) Kota to Shivpuri	BARAN	REGULAR	150	OPEN PH	DC	35	45	1575	25	75	Draw of Lots	15	5
1448	ANYWHERE IN JHOTWARA ON MIN 24 M WIDE ROAD, JAIPUR CITY	JAIPUR	REGULAR	180	SC	CFS	18	15	270	0	0	Draw of Lots	0	3
1449	Within 4 KM radius of Sheetla Mata Mandir, Chaksu	JAIPUR	REGULAR	110	OBC	DC	18	15	270	25	45	Draw of Lots	15	4

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		Dimension (in site (in Sq. M	· ·		be arranged Ipplicant	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7		8		9a	9b	10	11	12
1450	PRATAP NAGAR ON 24M WIDE ROAD Within Municipal Limits	JAIPUR	REGULAR	240	OPEN	DC	18	15	270	25	60	Draw of Lots	15	5
1451	Anywhere in Sambhar (WML), Jaipur	JAIPUR	REGULAR	120	OBC	DC	18	15	270	25	45	Draw of Lots	15	4
1452	Anywhere in Mahesh Nagar on 24m wide road (Jaipur City WML)	JAIPUR	REGULAR	200	SC	CFS	18	15	270	0	0	Draw of Lots	0	3
1453	ON ESI ROAD CONNECTING KHATIPURA ROAD & AJMER ROAD,JAIPUR CITYÂ (MIN 24M WIDE ROAD)	JAIPUR	REGULAR	150	OPEN	DC	18	15	270	25	60	Draw of Lots	15	5
1454	ANYWHERE ON NEWARU ROAD WML(24M wide road)	JAIPUR	REGULAR	150	OPEN	DC	18	15	270	25	60	Draw of Lots	15	5
1455	ANYWHERE ON KALWAD ROAD B/W GUPTA CHEST & GENERAL HOSPITAL & HATHOJ	JAIPUR	REGULAR	150	OPEN	DC	18	15	270	25	60	Draw of Lots	15	5
1456	Within 3 KM from Kalwar Main Bus Stand Tiraha towards Jobner, On SH2C	JAIPUR	REGULAR	130	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1457	Within 2km radius of Police Station Bhangarh on Bhangarh-Ajabgarh road, SH55	ALWAR	REGULAR	105	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
1458	BETWEEN TONK ROAD INTERSECTION AND RIDDHI SIDDHI INTERSECTION ON GOPALPURA BY PASS	JAIPUR	REGULAR	250	OPEN	DC	18	15	270	25	60	Draw of Lots	15	5
1459	AMRAPALI MARG (B/W QUEENS ROAD & 200 FEET BYPASS ROAD), JAIPUR CITY	JAIPUR	REGULAR	220	OPEN CC 1	DC	18	15	270	25	60	Draw of Lots	15	5
1460	Between Udaipuriya and Itawa Bhopji on SH37C	JAIPUR	REGULAR	130	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1461	Kotkhawda (Within 2 KM on Kotkhawda to Tunga Road)	JAIPUR	REGULAR	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1462	WITHIN 2 KM FROM NH-8 INTERSECTION ON MAIN ROAD TOWARDS LOHA MANDI,WML ON MIN 24M WIDE ROAD,JAIPUR	JAIPUR	REGULAR	200	OPEN	DC	18	15	270	25	60	Draw of Lots	15	5
1463	Within 5 KM from Sambhar towards Nairaina on SH02	JAIPUR	REGULAR	110	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1464	ON GONER ROAD CONNECTING AGRA ROAD & VIJAY MARG INTERSECTION , WITHIN JAIPUR MUNICIPAL LIMITS	JAIPUR	REGULAR	165	OPEN	DC	18	15	270	25	60	Draw of Lots	15	5
1465	GOPALPURA BYPASS ROAD, FROM RIDDHI SIDDHI CIRLE TO MANSAROVAR METRO STATION	JAIPUR	REGULAR	250	OPEN	DC	18	15	270	25	60	Draw of Lots	15	5
1466	Between km stone no. 166 to 169 on Behror Narnaul road(SH14) Beyond Behror Municipal limits	ALWAR	REGULAR	105	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
1467	Between Chaksu and Niwai on Tonk Road (NH52), RHS while moving from Jaipur to Tonk, Jaipur District	JAIPUR	REGULAR	200	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
1468	BETWEEN KISAN DHARAM KANTA TO AJMER ROAD,ON 200FT BYPASS/NEW SANGANER ROAD,JAIPUR CITY	JAIPUR	REGULAR	260	OPEN	DC	18	15	270	25	60	Draw of Lots	15	5
1469	ANYWHERE WITHIN 5 KM RADIUS OF HOTEL CLARKS AMER ON 24 M WIDE ROAD ,JAIPUR CITY	JAIPUR	REGULAR	400	OPEN	DC	18	15	270	25	60	Draw of Lots	15	5
1470	Village Dudu, (Within 3KM from Dudu on SH37A)	JAIPUR	REGULAR	120	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1471	Between KM stone 105 to 108 on SH02, LHS while moving from Phagi to Dudu	JAIPUR	REGULAR	110	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1472	ANYWHERE IN MUHANA ON 24M WIDE ROAD, WITHIN JAIPUR MUNICIPAL LIMITS	JAIPUR	REGULAR	180	OPEN	DC	18	15	270	25	60	Draw of Lots	15	5
1473	ANYWHERE IN MURLIPURA ON 24 M WIDE ROAD (WITHIN JAIPUR MUNICIPAL LIMITS)	JAIPUR	REGULAR	180	OPEN	DC	18	15	270	25	60	Draw of Lots	15	5

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		Dimension (in site (in Sq. M	· · · · · · · · · · · · · · · · · · ·		be arranged applicant	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7		8		9a	9b	10	11	12
1474	Between Dhod and Losal, (including both villages) on Dhod Losal State Highway (SH 7)	SIKAR	REGULAR	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1475	Village: Mokhampura (5 KM from Mokhampura on SH57)	JAIPUR	REGULAR	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1476	ON AIRPORT ROAD CONNECTING TONK ROAD & MAHAL ROAD(MIN 24M WIDE ROAD,WML)	JAIPUR	REGULAR	150	OPEN	DC	18	15	270	25	60	Draw of Lots	15	5
1477	ANYWHERE IN OLD JAIPUR CITY(PINK CITY) BETWEEN GALTA GATE & CHANDPOLE ON 24 M WIDE ROAD	JAIPUR	REGULAR	180	OPEN	DC	18	15	270	25	60	Draw of Lots	15	5
1478	Within 3 km of Golyana Circle towards Piprali	SIKAR	REGULAR	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1479	Within 2km of Police Chowki Garhi Sawairam on Garhi Sawairam - Rajgarh raod(SH25A),Dist-Alwar	ALWAR	REGULAR	110	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
1480	ANYWHERE WITHIN 4 KM RADIUS OF SHYAM NAGAR POLICE STATION (ON 24M WIDE ROAD),JAIPUR CITY	JAIPUR	REGULAR	200	OPEN	DC	18	15	270	25	60	Draw of Lots	15	5
1481	ANYWHERE ON KUMBHA MARG,JAIPUR CITY (ON MIN 24M WIDE ROAD)	JAIPUR	REGULAR	250	OPEN	DC	18	15	270	25	60	Draw of Lots	15	5
1482	Within 10 km of Sanwali Chauraha on Jaipur Bikaner Highway NH52 towards Bikaner	SIKAR	REGULAR	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
1483	SHIKARPURA ROAD, B/W HALDIGHATI T-POINT & RAILWAY TRACK(ON MIN 24M WIDE ROAD)	JAIPUR	REGULAR	150	OPEN	DC	18	15	270	25	60	Draw of Lots	15	5
1484	Within 3 KM from Shree Shantinath Digamber Jain Mandir to Mozmabad on SH02 (RHS)	JAIPUR	REGULAR	120	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1485	Between Km stone no. 17 and 20 on NH 58 on RHS while going from Fatehpur to Salasar	SIKAR	REGULAR	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
1486	ANYWHERE ON QUEENS ROAD, BETWEEN JHARKHAND MOD AND AJMER ROAD INTERSECTION	JAIPUR	REGULAR	350	OPEN CC 1	DC	18	15	270	25	60	Draw of Lots	15	5
1487	ANYWHERE ON VAISHALI MARG BETWEEN QUEENS ROAD AND 200FT BYEPASS(JAIPUR CITY ON 24M WIDE ROAD)	JAIPUR	REGULAR	200	OPEN	DC	18	15	270	25	60	Draw of Lots	15	5
1488	Between km stone no. 30 - 32 on Dausa-Alwar road (SH29A)	ALWAR	REGULAR	105	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
1489	B/w KM stone 15 and 25 on NH-58	SIKAR	REGULAR	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
1490	ANYWHERE ON SHIPRA PATH, JAIPUR CITY	JAIPUR	REGULAR	350	OPEN	DC	18	15	270	25	60	Draw of Lots	15	5
1491	ANYWHERE ON GANDHI PATH BETWEEN QUEENS ROAD AND 200 FT ROAD BY PASS (WML)	JAIPUR	REGULAR	200	OPEN	DC	18	15	270	25	60	Draw of Lots	15	5
1492	Kaladera on Chomu Road	JAIPUR	REGULAR	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1493	B/w KM stone 313 to 317 on NH-52	SIKAR	REGULAR	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
1494	ANYWHERE IN KANAPURA ON MIN 24M WIDE ROAD,JAIPUR MUNICIPAL LIMITS	JAIPUR	REGULAR	250	OPEN	DC	18	15	270	25	60	Draw of Lots	15	5
1495	B/w Maharana Raj Singh Choraha and Rajnagar Police Station ,Kankroli City WML	RAJSAMAND	REGULAR	130	OPEN CC 2	DC	18	15	270	25	45	Draw of Lots	15	5
1496	ANYWHERE ON KHATIPURA ROAD (B/W NORTH WESTERN RAILWAY HOSPITAL & 200 FT BYPASS ROAD)	JAIPUR	REGULAR	250	OBC CC 1	DC	18	15	270	25	60	Draw of Lots	15	4

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		Dimension (in site (in Sq. M			be arranged applicant	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7		8		9a	9b	10	11	12
1497	Village Ayana,Block-Itawa,On SH-1	КОТА	REGULAR	100	ST CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
1498	SIRSI ROAD, WITHIN MUNICIPAL LIMIT(ON WEST SIDE OF 200 FEET BY PASS ROAD),JAIPUR	JAIPUR	REGULAR	250	OPEN	DC	18	15	270	25	60	Draw of Lots	15	5
1499	ANYWHERE IN VIDYADHAR NAGAR ON 24m WIDE ROAD, JAIPUR CITY	JAIPUR	REGULAR	275	OPEN	DC	18	15	270	25	60	Draw of Lots	15	5
1500	Anywhere in Mandawa WML (Mandawa Jhunjhunu Road)	JHUNJHUNU	REGULAR	100	OBC	DC	18	15	270	25	45	Draw of Lots	15	4
1501	Anywhere on Jaipur Ring Road (From Agra Road to Tonk Road), LHS	JAIPUR	REGULAR	170	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
1502	Between Gopalpura and Bhankrota on Phagi-Chaksu Road (SH02)	JAIPUR	REGULAR	160	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
1503	Between Archarawala and Balawala on Diggi-Malpura Road	JAIPUR	REGULAR	160	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
1504	Village Malnagar on Neem ka Thana Bypass towards Kothputli	SIKAR	REGULAR	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1505	Between Balawala and Dabla Khurd on SH12, Jaipur	JAIPUR	REGULAR	160	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
1506	Between km stone no. 20 to 23 on Bhangarh-Thanagazi road	ALWAR	REGULAR	105	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
1507	WITHIN 2 KM ON EITHER SIDE OF MADHORAJPURA, ON SH02	JAIPUR	REGULAR	150	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
1508	Between Khetri to Gothara on SH 13	ІНИЛІНИЛИ	REGULAR	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1509	Within 2km radius of Sub Post Office Govindgarh on Jalukhi- Govindgarh road(SH45),Dist-Alwar	ALWAR	REGULAR	101	OPEN CC 1	DC	35	35	1225	25	60	Draw of Lots	15	5
1510	Jobner (Within Muncipal Limit)	JAIPUR	REGULAR	130	SC	CFS	18	15	270	0	0	Draw of Lots	0	3
1511	Village Katrathal on SH-8	SIKAR	REGULAR	125	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1512	WITHIN 2 KM RADIUS OF RENWAL, ON SH8A/SH19, TEHSIL KISHANGARH-RENWAL	JAIPUR	REGULAR	150	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
1513	Between KM Stone 318 and 321, LHS while moving from Jaipur to Ajmer on NH48 (NH08)	JAIPUR	REGULAR	250	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
1514	On SH 37B B/w Piprali Choraha and Kurli Mod	SIKAR	REGULAR	150	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1515	Between km stone no. 28 to 30 on Garhi Sawairam to Mandawar road	ALWAR	REGULAR	104	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
1516	Village: Dhodsar on NH 52, LHS moving from Sikar to Jaipur (Between KM Stone 284-287)	JAIPUR	REGULAR	200	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
1517	Between KM stone 15 to 19 on NH 148 (NH 11A), RHS while moving from Manoharpur to Dausa, Jaipur	JAIPUR	REGULAR	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
1518	On SH 37B B/w Veer Teja Circle & Piprali Choraha	SIKAR	REGULAR	150	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1519	Between Jobner and Pachkodia on SH2C	JAIPUR	REGULAR	130	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1520	Between Chipli Mod to Raisar, LHS while moving from Chilpli mod to Raiser on NH 148 (NH11A)	JAIPUR	REGULAR	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
1521	From Bagrana to Kanota, RHS while moving from Bagrana to Kanota	JAIPUR	REGULAR	250	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
1522	AJITGARH ON SRI MADHOPUR ROAD	SIKAR	REGULAR	100	OBC PH	DC	35	35	1225	25	60	Draw of Lots	15	4

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		Dimension (in site (in Sq. M	· · · · · · · · · · · · · · · · · · ·		be arranged applicant	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7		8		9a	9b	10	11	12
1523	Molasar on SH-7 upto 5 kms towards Kuchaman City	NAGAUR	REGULAR	105	SC PH	CFS	35	35	1225	0	0	Draw of Lots	0	3
1524	Between KM stone 287 to 290, On RHS while moving from Jaipur to Ajmer on NH08 (NH48)	JAIPUR	REGULAR	200	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
1525	Between Ninder to Tantiyawas on NH52 (Jaipur-Sikar Road)	JAIPUR	REGULAR	200	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
1526	Between KM stone 301 and 304 on NH 52, LHS while going from Sikar to Jaipur	SIKAR	REGULAR	180	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
1527	Between Bagichi Wale Balaji Ka Mandir (Phagi) and Neemera, On SH 12	JAIPUR	REGULAR	150	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
1528	Between km stone no. 2 to 8 on NH148 (Manoharpur Dausa Road)	JAIPUR	REGULAR	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
1529	Within 5 KM from Kalwar Main Bus Stand Tiraha towards Hathoj, On SH2C (RHS)	JAIPUR	REGULAR	130	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
1530	Village Bagora on SH-37	JHUNJHUNU	REGULAR	130	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1531	Within 5 KM from Kalwar Main Bus Stand Tiraha towards Hathoj, On SH2C (LHS)	JAIPUR	REGULAR	130	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
1532	Village Mandawra on Udaipurwati to Sirohi SH 37B	SIKAR	REGULAR	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1533	Jhunjhunu WML	JHUNJHUNU	REGULAR	200	OBC	DC	18	15	270	25	45	Draw of Lots	15	4
1534	Anywhere in Bagru (Within Municipal Limit)	JAIPUR	REGULAR	130	OPEN	DC	18	15	270	25	45	Draw of Lots	15	5
1535	Shahpura(Within Municipal Limits)	JAIPUR	REGULAR	105	OPEN CC 1	DC	18	15	270	25	45	Draw of Lots	15	5
1536	Within 2 Km from Neelkanth Bagar Inn Resort on Bagar Bypass (SH-8)	липниип	REGULAR	200	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1537	THOI ON AJITGARH - KAWAT ROAD	SIKAR	REGULAR	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1538	Anywhere in Chomu (Within Municipal Limit)	JAIPUR	REGULAR	130	OPEN	DC	18	15	270	25	45	Draw of Lots	15	5
1539	Village Dola Ka Baas, On SH19	JAIPUR	REGULAR	150	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
1540	From Sonkhari mod to crossing of Kherli-Kathoomer road & Lathki- Garoo road, on Kherli-Kathoomer road	ALWAR	REGULAR	105	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1541	From Machadi Mode to Pinan on SH 25A	ALWAR	REGULAR	109	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
1542	Within 2 KM from Ramjipura Bus Stand on Renwal Road towards Pachkodia (On SH08A)	JAIPUR	REGULAR	120	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
1543	Between KM Stone 300 to 304 on NH08, LHS while moving from Jaipur to Ajmer	JAIPUR	REGULAR	250	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
1544	From Kanota to Rajadhok Toll Plaza, LHS while moving from Jaipur to Agra on Agra Road NH11(new NH21)	JAIPUR	REGULAR	200	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
1545	Kota to Mandana RHS on NH-52 (Outside Muncipal Limit -Kota)	КОТА	REGULAR	160	OBC CC 1	DC	35	45	1575	25	75	Draw of Lots	15	4
1546	BETWEEN DALLEY KHAN CIRCLE AND SN MEDICAL COLLEGE CIRCLE ON MEDICAL COLLEGE ROAD; JODHPUR	JODHPUR	REGULAR	240	ST CC 1	CFS	18	15	270	0	0	Draw of Lots	0	3
1547	WITHIN 2 KMS OF RTO OFFICE BHILWARA WML	BHILWARA	REGULAR	150	OPEN PH	СС	18	15	270	25	10	Bidding	30	5

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*)imension (in site (in Sq. M	· ·		be arranged applicant	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7		8		9a	9b	10	11	12
1548	Within 3km from Junction of NH248A with Ramgarh-Govindgarh road, on Ramgarh-Govindgarh road,SH45	ALWAR	REGULAR	105	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1549	Within 3 KM from Harsoliya Mod towards Phagi on SH 12	JAIPUR	REGULAR	110	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
1550	SINGHANA WITHIN 3KM ON KHETRI ROAD (SH-13)	ІНИЛІНИЛИ	REGULAR	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1551	Within 8 kms from Shridhar University towards Pilani on Chirawa Pilani Marg	JHUNJHUNU	REGULAR	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
1552	Between km stone no. 54 to 57 on JALUKHI LAXMANGARH ROAD	ALWAR	REGULAR	104	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1553	Within 12 km from Shri Do Jatti Balaji Mandir towards Ramgarh Shekhawati on NH 52(old NH 65)	SIKAR	REGULAR	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
1554	Within 5 km of Jhunjhunu DTO office on RHS while going from Jhunujhunu to Sikar on SH 8	JHUNJHUNU	REGULAR	110	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
1555	KM NO. 65 TO 70 ON NH 21 (OLD NH 11) LHS FROM AGRA TO JAIPUR	BHARATPUR	REGULAR	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
1556	Between km stone no. 10 to 15 on RHS on NH148 (Manoharpur Dausa Road in Jaipur district)	JAIPUR	REGULAR	153	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
1557	Within 5 km of Khetri More on Sikar Khetri State Highway (SH 13)	SIKAR	REGULAR	110	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
1558	Between Shahpura(Beyond Municipal Limits) and Ajitgarh,(In Jaipur District)	JAIPUR	REGULAR	110	OPEN CC 1	DC	35	35	1225	25	60	Draw of Lots	15	5
1559	Between Khetri Nagar & Singhana on SH-13	JHUNJHUNU	REGULAR	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1560	Between km stone no. 118-124 on LHS(While travelling from Delhi to Jaipur) on NH8	ALWAR	REGULAR	205	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
1561	Sikar City WML on Jagmalpura Road	SIKAR	REGULAR	100	OPEN	DC	18	15	270	25	45	Draw of Lots	15	5
1562	Between Km stone 171 and 174 on Losal Kuchaman Marg SH 7 within Sikar district	SIKAR	REGULAR	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
1563	Between km stone no. 122-128 on RHS(While travelling from Delhi to Jaipur) on NH8	ALWAR	REGULAR	200	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
1564	Losal on Kuchaman Road SH-7 within Sikar Distt	SIKAR	REGULAR	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1565	Losal City WML	SIKAR	REGULAR	100	OPEN	DC	18	15	270	25	45	Draw of Lots	15	5
1566	Within 4 km of Agrasen Circle on Jhunjhunu Chirawa Road towards Chirawa	JHUNJHUNU	REGULAR	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
1567	Between km stone no. 221 to 240 on LHS(While travelling from Delhi to Jaipur) on NH8	JAIPUR	REGULAR	155	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
1568	Nagar Fort on SH-34	ТОМК	REGULAR	98	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
1569	Within 5 km of Jhunjhunu DTO office on LHS while going from Jhunujhunu to Sikar on SH 8	JHUNJHUNU	REGULAR	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
1570	Surajgarh WML	ІНИЛІНИЛИ	REGULAR	100	OPEN	DC	18	15	270	25	45	Draw of Lots	15	5
1571	Behror town (Within Municipal Limits)	ALWAR	REGULAR	138	OBC	DC	18	15	270	25	45	Draw of Lots	15	4
1572	B/w KM stone 26-30 on SH-37, (LHS moving from Jhunjhunu towards Churu)	JHUNJHUNU	REGULAR	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1573	Anywhere in Shri Madhopur WML	SIKAR	REGULAR	100	OPEN	DC	18	15	270	25	45	Draw of Lots	15	5

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		Dimension (in site (in Sq. M	· ·		be arranged applicant	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7		8		9a	9b	10	11	12
1574	Upto 10KM from Malakhera, Laxmangarh Mod, on Alwar-Sikandara Mega Highway towards Sikandara	ALWAR	REGULAR	125	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1575	Within 3 km of Jhunjhunu Railway Crossing on SH37 (LHS while going from Jhunjhunu to Udaipurwati)	илинии	REGULAR	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
1576	Sikar WML on Palwas Road	SIKAR	REGULAR	100	OPEN	DC	18	15	270	25	45	Draw of Lots	15	5
1577	Chainage No. 147 to 152 on Dausa to Bharatpur (NH-21),LHS	DAUSA	REGULAR	160	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
1578	From Kotputli to Nareda on SH37B, Jaipur Rural	JAIPUR	REGULAR	105	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1579	Anywhere in Mukundgarh WML	ІНИЛІНИЛИ	REGULAR	100	OPEN	DC	18	15	270	25	45	Draw of Lots	15	5
1580	Within 8 km from Chirawa Railway Station on Chirawa Khetri Marg	JHUNJHUNU	REGULAR	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
1581	Within 2 KM from Jalpali Mod, moving towards Ajitgarh on SH-37	SIKAR	REGULAR	130	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1582	BETWEEN KM STONE 198 TO 201 ON LHS ON SH 25 FROM ALWAR TOWARDS BHIWADI	ALWAR	REGULAR	120	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1583	Anywhere in Lakshmangarh WML, Sikar	SIKAR	REGULAR	150	OPEN	DC	18	15	270	25	45	Draw of Lots	15	5
1584	Village Alawara on SH-1, Tehsil Hindaun City	KARAULI	REGULAR	145	OPEN CC 1	DC	35	35	1225	25	60	Draw of Lots	15	5
1585	Between km stone no. 31-33 on Behror-Kund road	ALWAR	REGULAR	118	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1586	Within Behror Municipal limits on Behror-Alwar road(Towards Alwar from NH8)	ALWAR	REGULAR	102	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1587	Anywhere in Neem Ka Thana town (WML)	SIKAR	REGULAR	150	OPEN	DC	18	15	270	25	45	Draw of Lots	15	5
1588	Anywhere in Jhunjhunu city WML on Chirawa Road (Road No.3)	ІНИЛІНИЛИ	REGULAR	150	OPEN	DC	18	15	270	25	45	Draw of Lots	15	5
1589	Between km stone no. 131-134 on RHS on SH25	ALWAR	REGULAR	145	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1590	WML of Sawaimadhopur	SAWAIMADHOPUR	REGULAR	180	ST	CFS	18	15	270	0	0	Draw of Lots	0	3
1591	Between KM Stone 292 to 298 on NH 52 on RHS while going to Sikar from Jaipur oposite lane BP Sargoth	SIKAR	REGULAR	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
1592	Khandela on Udaipurwati Road upto 5 kms	SIKAR	REGULAR	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
1593	KOTA CITY WML,LHS ON BORKHEDA BYPASS ROAD(LINK ROAD)TOWARDS KOTA RAILWAY STATION	КОТА	REGULAR	200	OBC	сс	18	15	270	25	10	Bidding	30	4
1594	Between Ajeetgarh and Nathwala on SH 13	SIKAR	REGULAR	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
1595	From Renwal Choraha to Ramjipura Khurd (On SH 8A)	JAIPUR	REGULAR	150	SC CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
1596	WML from Mahtama Gandhi chowk ,Dausa City toward Lalsot	DAUSA	REGULAR	205	OPEN CC 2	DC	18	15	270	25	45	Draw of Lots	15	5
1597	Hindaun City Bypass Road	KARAULI	REGULAR	135	OBC CC 1	DC	18	15	270	25	45	Draw of Lots	15	4
1598	Within 2 km of Shahid BhagatSingh Circle on Piprali Road Sikar WML on RHS towards Piprali from Sikar	SIKAR	REGULAR	150	OPEN	DC	18	15	270	25	45	Draw of Lots	15	5
1599	Anywhere in Khushkhera RIICO Industrial Area	ALWAR	REGULAR	105	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		Dimension (in site (in Sq. M	· · · · · · · · · · · · · · · · · · ·	Finance to I by the a	be arranged pplicant	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7		8		9a	9b	10	11	12
1600	Chainage no 127 to 131 on Dausa to Bharatpur Road (NH-21), LHS	DAUSA	REGULAR	180	OBC	СС	35	45	1575	25	10	Bidding	30	4
1601	Village Gokulpura on NH-52 (Bikaner Bypass)	SIKAR	REGULAR	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
1602	Within 5 km from junction of Rolsabsar Ramgarh Road on NH 11	SIKAR	REGULAR	180	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
1603	Village-Choru on NH-116	TONK	REGULAR	175	OBC	СС	35	45	1575	25	10	Bidding	30	4
1604	Within 3 KM of Village Gudhachandraji Bus stop, on Bandikui to Nadoti Road	KARAULI	REGULAR	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
1605	B/w KM stone 336 to 338 on NH-52 LHS moving from Sikar to Jaipur	SIKAR	REGULAR	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
1606	On SH 37B B/w Gokulpura Powerhouse & Veer Teja Circle	SIKAR	REGULAR	150	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
1607	Tonk City WML	TONK	REGULAR	210	OBC	СС	18	15	270	25	10	Bidding	30	4
1608	Between km stone no. 1 to 6 on LHS on NH 248A(Shahpura-Alwar road)	JAIPUR	REGULAR	155	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
1609	Between Km stone no. 9 and 14 on NH 58 from Fatehpur to Salasar	SIKAR	REGULAR	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
1610	between Basai Nawab and Saipau on SH42	DHOLPUR	REGULAR	85	OPEN CC 1	DC	35	35	1225	25	60	Draw of Lots	15	5
1611	KAITHOON TO SANGOD ROAD WITHIN 4 KMS FROM GALANA TOLL TOWARDS SANGOD (SH-51)	КОТА	REGULAR	110	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1612	VILLAGE ARANDKHERA ON SH 51	КОТА	REGULAR	110	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1613	Within 2 KM from Jalpali Mod, moving towards Shri Madhopur on SH 37	SIKAR	REGULAR	130	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
1614	Nawalgarh (WML)	ІНИЛІНИЛИ	REGULAR	160	OPEN	DC	18	15	270	25	45	Draw of Lots	15	5
1615	Between village Dubbi Banas and Village Ajnoti on Sawaimadhopur to Lalsot SH-1	SAWAIMADHOPUR	REGULAR	120	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1616	Naman hotel to Hanuman Circle on RHS while coming from Bhiwadi to Rajgarh(Within UIT Limits,Alwar)	ALWAR	REGULAR	175	OPEN	DC	18	15	270	25	60	Draw of Lots	15	5
1617	Within 2 KM of Police station Village Langra on Mandrayal to Karauli Road SH-22	KARAULI	REGULAR	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
1618	From Junction of NH248A with Ramgarh-Govindgarh road to Naugaon Police Station on Alwar Delhi road	ALWAR	REGULAR	155	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
1619	Within Skens of entry gate (Mangalam Cement Factory to Navodaya Vidvalava on SH9A. Teh:Khairabad)	КОТА	REGULAR	110	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1620	Within 3kms of Harsana mod towards Garhi Sawairam on Harsana Garhi Sawairam road,SH35	ALWAR	REGULAR	105	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
1621	SATIPURA BYEPASS ROAD, on SH-7, towards HANUMANGARH TOWN	HANUMANGARH	REGULAR	105	ST PH	CFS	35	35	1225	0	0	Draw of Lots	0	3
1622	Behror Town on Behror-Narnaul road(Within Municipal Limits)	ALWAR	REGULAR	105	OBC PH	DC	18	15	270	25	45	Draw of Lots	15	4
1623	Within 4kms From Dadar Toll plaza on Alwar - Sikandara Mega Highway SH25	ALWAR	REGULAR	125	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
1624	Between Ghora Pher Circle to RR College Circle(Within UIT Limits of Alwar)	ALWAR	REGULAR	160	OPEN	DC	18	15	270	25	60	Draw of Lots	15	5

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		Dimension (in site (in Sq. M	· · · · · · · · · · · · · · · · · · ·		be arranged applicant	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7		8		9a	9b	10	11	12
1625	Jastana (on Lalsot-SawaiMadhopur Road) Towards Lalsot	SAWAIMADHOPUR	REGULAR	120	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1626	NH-52 NEW FOUR LANE B/W RAWNTHA CROSSING & HPCL LPG GAS PLANT MANDANA,ON LHS FROM JHALAWAR TO KOTA	КОТА	REGULAR	210	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
1627	Ranjeet Nagar Samudayik Bhawan to NEB Police Station(Within UIT Limits of Alwar)	ALWAR	REGULAR	155	OPEN	DC	18	15	270	25	60	Draw of Lots	15	5
1628	Anywhere in Alwar city (Within UIT Limits)	ALWAR	REGULAR	210	OPEN	DC	18	15	270	25	60	Draw of Lots	15	5
1629	Village Shahar On Gangapur City to Nadhoti Road	KARAULI	REGULAR	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1630	Village Phulwara on SH-1, Tehsil Hindaun	KARAULI	REGULAR	135	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
1631	Bhiwadi(Within UIT Limits) not on SH	ALWAR	REGULAR	125	OPEN	DC	18	15	270	25	45	Draw of Lots	15	5
1632	Kotputli(Within Municipal Limits)	JAIPUR	REGULAR	120	OPEN	DC	18	15	270	25	45	Draw of Lots	15	5
1633	Kishangarh Bas(Within Municipal Limits)	ALWAR	REGULAR	101	OPEN	DC	18	15	270	25	45	Draw of Lots	15	5
1634	BHUSAWAR WML ON SH 45.	BHARATPUR	REGULAR	120	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1635	on SH 44, within 8 kms of Reliance petrol pump while travelling from Kaman towards Deeg	BHARATPUR	REGULAR	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1636	Village Pipali on NH-11 B	SAWAIMADHOPUR	REGULAR	150	OPEN CC 1	DC	35	45	1575	25	75	Draw of Lots	15	5
1637	Within 4 KM of Karmoda Mosque on Sawaimadhopur to Lalsot Road, SH-1	SAWAIMADHOPUR	REGULAR	120	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1638	Between km stone no. 201 to 207 on RHS(While travelling from Delhi to Jaipur) on NH8	JAIPUR	REGULAR	175	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
1639	Within 3 Kms of Bagri Tollplaza on Lalsot to Sawaimadhopur Road	DAUSA	REGULAR	120	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
1640	Between km stone no. 173 to 187 on RHS(While travelling from Delhi to Jaipur) on NH8	JAIPUR	REGULAR	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
1641	VILLAGE GOPALGARH ON SH22	BHARATPUR	REGULAR	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1642	Between km stone no. 49-52 on RHS on SH52(Bansur Narayanpur road)	ALWAR	REGULAR	105	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
1643	Hanuman Circle to Bhugor Byepass road in Alwar city(Within UIT Limits of Alwar)	ALWAR	REGULAR	173	OPEN	DC	18	15	270	25	60	Draw of Lots	15	5
1644	KOTA BYPASS FROM HANGING BRIDGE TO BPCL OIL DEPOT(LHS)	КОТА	REGULAR	160	SC CC 1	CFS	35	45	1575	0	0	Draw of Lots	0	3
1645	On NH-44 (Old NH-3) within 4 km of Dholpur NH-123 Bypass Intersection (LHS) towards Gwalior	DHOLPUR	REGULAR	150	OBC CC 1	DC	35	45	1575	25	75	Draw of Lots	15	4
1646	From Bhagat Singh circle to Naman Hotel road within UIT limits of Alwar	ALWAR	REGULAR	153	OPEN	DC	18	15	270	25	60	Draw of Lots	15	5
1647	BETWEEN TIGER HILLS UDAIPUR TO T B HOSIPITAL	UDAIPUR	REGULAR	160	OPEN PH	DC	18	15	270	25	45	Draw of Lots	15	5
1648	Village Shivsinghpura on NH-11A Extn (Lalsot to Kothun road)	DAUSA	REGULAR	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
1649	Within 3 Kms from NH-123 Crossing on Rudawal - Rupbas Road (SH 45)	BHARATPUR	REGULAR	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		Dimension (in site (in Sq. M			be arranged applicant	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7		8		9a	9b	10	11	12
1650	From Bagar Tiraha to junction of Ramgarh-Govindgarh(SH45) road on Alwar Delhi road, NH248A	ALWAR	REGULAR	160	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
1651	on SH 43, between SH1 crossing (at Uchain) and Jai Shree Maderna HP center petrol pump.	BHARATPUR	REGULAR	95	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1652	Chainage No 183 to 190 on Dausa to Jaipur (NH-21) , LHS	DAUSA	REGULAR	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
1653	Between km stone no. 6-10 on Alwar Dausa road(SH29A)	ALWAR	REGULAR	108	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
1654	Between km stone no. 10-12 on Malakheda to Natni Ka Bara road(SH44)	ALWAR	REGULAR	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
1655	From Nangli Circle to Jail Circle in Alwar City(Within UIT Limits) on Alwar Behror road	ALWAR	REGULAR	160	OPEN	DC	18	15	270	25	60	Draw of Lots	15	5
1656	Bayana-Wier Rd (Within 2 Kms from SH-1 Crossing)	BHARATPUR	REGULAR	105	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1657	KOTA CITY WML-1	КОТА	REGULAR	200	ST	CFS	18	15	270	0	0	Draw of Lots	0	3
1658	Between km stone no. 193 and 196 on NH-52 (LHS) Bundi to Deoli	BUNDI	REGULAR	190	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
1659	WML Gangapur City	SAWAIMADHOPUR	REGULAR	105	OPEN CC 1	DC	18	15	270	25	45	Draw of Lots	15	5
1660	Village-Ramnagar on Bundi-Bijolia Road, SH-29	BUNDI	REGULAR	140	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1661	WITHIN 4 KMS OF DEEG BUS STAND ON BHARATPUR - ALWAR ROAD WHILE TRAVELLING FROM DEEG TO BHARATPUR.	BHARATPUR	REGULAR	110	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1662	Within 3 Km of Village Malarna Chour on Lalsot- Sawai Madhopur-SH 24	SAWAIMADHOPUR	REGULAR	120	OPEN	СС	35	35	1225	25	10	Bidding	30	5
1663	Village- Sunder Nagar on SH-29	BUNDI	REGULAR	98	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1664	Within 4 kms from Mahwa Police station on Mahwa to Mandavar road	DAUSA	REGULAR	135	OPEN	СС	35	35	1225	25	10	Bidding	30	5
1665	KOTA CITY WML(ON DEVLI ARAB ROAD B/W RAIPURA CIRCLE & BORKHEDA)	КОТА	REGULAR	200	OPEN	СС	18	15	270	25	10	Bidding	30	5
1666	Between KM stone 76 to 81 on NH-11 B	KARAULI	REGULAR	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
1667	LHS ON NH 52 B/W KMS 273 AND 275 TOWARDS JHALAWAR (KASAR)	КОТА	REGULAR	185	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
1668	NH 27, BETWEEN KMS.1093-1091, ON LHS WHILE MOVING FROM BARAN TO KOTA	КОТА	REGULAR	180	OPEN	сс	35	45	1575	25	10	Bidding	30	5
1669	LHS ON NEW PROPOSED 6 LANE(NH 52) B/W KMS 67 & 69, Village Deengsi	JHALAWAR	REGULAR	170	OPEN	СС	35	45	1575	25	10	Bidding	30	5
1670	Village-Pachala on NH-116	ТОЛК	REGULAR	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
1671	BUSAWAR WML (NOT ON SH)	BHARATPUR	REGULAR	120	OBC	DC	18	15	270	25	45	Draw of Lots	15	4
1672	KOTA CITY WML (Within 1km from Bhimganj mandi police station, on Station main road)	КОТА	REGULAR	200	OPEN	СС	18	15	270	25	10	Bidding	30	5
1673	Village-Mamoni on NH-27 (LHS) Devri to Baran	BARAN	REGULAR	170	OPEN	CC	35	45	1575	25	10	Bidding	30	5
1674	WITHIN 5KM FROM VISHV NATH SHIV TEMPLE (AKLERA) TOWARDS PARVAN RIVER ON NH 90	JHALAWAR	REGULAR	160	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
1675	BHAWANIMANDI WML	JHALAWAR	REGULAR	100	SC	CFS	18	15	270	0	0	Draw of Lots	0	3

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		Dimension (in site (in Sq. M			be arranged applicant	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7		8		9a	9b	10	11	12
1676	Dausa Railway over bridge to NH-21 crossing toward Jaipur in Dausa City	DAUSA	REGULAR	205	OPEN	СС	18	15	270	25	10	Bidding	30	5
1677	Chainage no 137 to 141 on Bharatpur to Dausa (NH-21), LHS	DAUSA	REGULAR	150	OPEN	СС	35	45	1575	25	10	Bidding	30	5
1678	LHS between Village Darah and Village Mandana (on NH-52)	КОТА	REGULAR	158	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
1679	Village Mandawari on NH-11B	DAUSA	REGULAR	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
1680	WML of Hindaun City	KARAULI	REGULAR	145	OPEN	CC	18	15	270	25	10	Bidding	30	5
1681	Dausa City to Khuri on NH148(NH11A) (Manoharpur to Dausa road), LHS	DAUSA	REGULAR	150	OPEN	СС	35	45	1575	25	10	Bidding	30	5
1682	WML of Dausa City on NH-21 (ON Dausa to Jaipur), LHS	DAUSA	REGULAR	215	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
1683	Mahwa (Within 1.5 Km from Mahwa Police Station on Old Agra-Jaipur Raod)	DAUSA	REGULAR	150	OPEN	сс	18	15	270	25	10	Bidding	30	5
1684	BARI WML	DHOLPUR	REGULAR	100	SC	CFS	18	15	270	0	0	Draw of Lots	0	3
1685	WML OF Dausa City	DAUSA	REGULAR	205	OBC	DC	18	15	270	25	45	Draw of Lots	15	4
1686	Village-Barana on NH-90	BARAN	REGULAR	150	OPEN CC 1	DC	35	45	1575	25	75	Draw of Lots	15	5
1687	Tonk City WML-1	ТОЛК	REGULAR	160	OPEN	CC	18	15	270	25	10	Bidding	30	5
1688	Village Sudarshanpura on Dausa to Shahpura road (NH148)	DAUSA	REGULAR	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
1689	Within 5 Kms from Dausa City on Dausa to Manoharpur Road (NH- 148), LHS	DAUSA	REGULAR	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
1690	Between km stone no. 163 to 168 on NH 23 (Old NH11B)	DHOLPUR	REGULAR	150	OPEN	CC	35	45	1575	25	10	Bidding	30	5
1691	Dholpur WML	DHOLPUR	REGULAR	125	OPEN	CC	18	15	270	25	10	Bidding	30	5
1692	On Dholpur Bypass Road (connecting NH-123 to NH-44 (Old NH-3))	DHOLPUR	REGULAR	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
1693	KAMAN, WML	BHARATPUR	REGULAR	100	OBC	DC	18	15	270	25	45	Draw of Lots	15	4
1694	BHARATPUR CITY, WML 1	BHARATPUR	REGULAR	110	OPEN	СС	18	15	270	25	10	Bidding	30	5
1695	Between km stone no. 160-163 on RHS on Alwar Bhiwadi road,SH25	ALWAR	REGULAR	105	OPEN CC 2	DC	35	35	1225	25	60	Draw of Lots	15	5
1696	Village-Bohra,on SH 1,Tehsil-Sangod	КОТА	REGULAR	100	OBC CC 1	DC	35	35	1225	25	60	Draw of Lots	15	4
1697	Sri Dungargarh WML (Not on NH and SH)	BIKANER	REGULAR	102	ST CC 1	CFS	18	15	270	0	0	Draw of Lots	0	3
1698	BHARATPUR CITY, WML 2	BHARATPUR	REGULAR	110	OPEN	СС	18	15	270	25	10	Bidding	30	5
1699	ON NH-11, LHS WHILE GOING TO AGRA FROM JAIPUR (between Sewar road intersection and saras choraha)	BHARATPUR	REGULAR	150	OPEN	СС	35	45	1575	25	10	Bidding	30	5
1700	WITHIN 3 KMS OF VEERAMPURA TOLL BOOTH ON SH - 1 (Bayana- Bharatpur Road)	BHARATPUR	REGULAR	95	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1701	Village-Jaisinghpura on SH-12	ТОЛК	REGULAR	140	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1702	Between Uniara and Aligarh on NH-116	толк	REGULAR	150	OPEN	СС	35	45	1575	25	10	Bidding	30	5

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		Dimension (in site (in Sq. M	· ·		be arranged applicant	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7		8		9a	9b	10	11	12
1703	Between km stone no. 1129 to 1137 on NH-27(LHS) Baran to Kota	BARAN	REGULAR	160	OPEN	СС	35	45	1575	25	10	Bidding	30	5
1704	Bada Zere Qila, on NH-52 (LHS) Kota to Tonk	TONK	REGULAR	190	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
1705	Village-Pech ki Bavri on NH-52 (LHS) Bundi to Tonk	BUNDI	REGULAR	150	OPEN	СС	35	45	1575	25	10	Bidding	30	5
1706	WML of Lalsot	DAUSA	REGULAR	140	ST	CFS	18	15	270	0	0	Draw of Lots	0	3
1707	Village-Gulkhedi on NH-90	BARAN	REGULAR	160	OPEN	СС	35	45	1575	25	10	Bidding	30	5
1708	Village-Ardana on NH-90	BARAN	REGULAR	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
1709	Within 5 Kms from NH 44 (Old NH-3) Crossing on NH 23 (OLD NH 11B)	DHOLPUR	REGULAR	150	OPEN CC 1	DC	35	45	1575	25	75	Draw of Lots	15	5
1710	Village Kethooni,On Panwar - Khanpur Road(ON SH 74)	JHALAWAR	REGULAR	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1711	Village-Mandola on NH-90 (LHS) Baran to Atru	BARAN	REGULAR	160	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
1712	Village-Jajawar on NH-148D	BUNDI	REGULAR	155	OPEN	СС	35	45	1575	25	10	Bidding	30	5
1713	Village-Budhpura on NH-27 (LHS) Kota to Chittorgarh	BUNDI	REGULAR	210	OPEN	СС	35	45	1575	25	10	Bidding	30	5
1714	Newai WML	TONK	REGULAR	160	OBC	DC	18	15	270	25	45	Draw of Lots	15	4
1715	WML Karauli city	KARAULI	REGULAR	150	ST	CFS	18	15	270	0	0	Draw of Lots	0	3
1716	Indergarh WML	BUNDI	REGULAR	120	OPEN	СС	18	15	270	25	10	Bidding	30	5
1717	Baran City WML	BARAN	REGULAR	220	OPEN	СС	18	15	270	25	10	Bidding	30	5
1718	Shahabad on NH-27 (LHS) Baran to Shivpuri	BARAN	REGULAR	180	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
1719	on NH 23 (Old NH 11 B), within 3 kms of Reliance Petrol Station, Bari	DHOLPUR	REGULAR	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
1720	Todarai Singh WML	TONK	REGULAR	140	OPEN	СС	18	15	270	25	10	Bidding	30	5
1721	Between km stone no. 212 and 216 on NH-52 (LHS) Hindoli to Kota	BUNDI	REGULAR	190	OPEN	СС	35	45	1575	25	10	Bidding	30	5
1722	KOTA CITY WML-2	КОТА	REGULAR	200	OBC PH	DC	18	15	270	25	60	Draw of Lots	15	4
1723	ANYWHERE WITHIN 5KM RADIUS OF SHYAM NAGAR METRO STATION ON 24M WIDE ROAD	JAIPUR	REGULAR	150	SC PH	CFS	18	15	270	0	0	Draw of Lots	0	3
1724	Bundi City WML 2	BUNDI	REGULAR	220	OPEN	CC	18	15	270	25	10	Bidding	30	5
1725	Between km stone no. 1170 and 1172 on NH-27 (LHS) Baran to Shivpuri	BARAN	REGULAR	180	OPEN	CC	35	45	1575	25	10	Bidding	30	5
1726	Village-Uniari on NH-148 D (LHS) Uniara to Nainwa	TONK	REGULAR	160	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
1727	KOTA CITY WML -3 (80 FEET LINK ROAD-BETWEEN AHLUWALIA MALL AND SHUBHAM RESIDENCY)	КОТА	REGULAR	200	OPEN	СС	18	15	270	25	10	Bidding	30	5
1728	Within 3 Km of Kudgoan Police Chowki on Karauli to Gangapur city Road (NH 11 B)	KARAULI	REGULAR	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
1729	KOTA CITY WML -4(WITHIN 3 KMS FROM CAD CIRCLE ON RHS WHILE MOVING TOWARDS RANGBARI ROAD)	КОТА	REGULAR	300	OPEN	сс	18	15	270	25	10	Bidding	30	5

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		Dimension (in site (in Sq. M			be arranged applicant	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7		8		9a	9b	10	11	12
1730	SANGOD WML	КОТА	REGULAR	104	OBC	DC	18	15	270	25	45	Draw of Lots	15	4
1731	BETWEEN KM STONE NO 35 AND 38 ON NH 44 (OLD NH 3), LHS FROM DHOLPUR TO AGRA	DHOLPUR	REGULAR	150	OPEN	СС	35	45	1575	25	10	Bidding	30	5
1732	ROOPWAS WML	BHARATPUR	REGULAR	100	SC	CFS	18	15	270	0	0	Draw of Lots	0	3
1733	RAMGANJMANDI WML	КОТА	REGULAR	158	OBC	DC	18	15	270	25	45	Draw of Lots	15	4
1734	Village-Chhatarganj on NH-52 (LHS) Kota to Jaipur	BUNDI	REGULAR	190	OPEN	CC	35	45	1575	25	10	Bidding	30	5
1735	Village Didwana on SH24 Towards Toonga	DAUSA	REGULAR	100	OPEN CC 1	DC	35	35	1225	25	60	Draw of Lots	15	5
1736	Bundi WML 3	BUNDI	REGULAR	110	OBC	DC	18	15	270	25	45	Draw of Lots	15	4
1737	Village-Chardana on NH-90	BARAN	REGULAR	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
1738	Village-Hanotiya, Tehsil-Shahbad on NH-27 (LHS) Shivpuri to Baran	BARAN	REGULAR	160	OPEN	сс	35	45	1575	25	10	Bidding	30	5
1739	Village-Kasba Thana on NH-27 (LHS) Baran to Shivpuri	BARAN	REGULAR	180	OPEN	CC	35	45	1575	25	10	Bidding	30	5
1740	JHALAWAR WML-1	JHALAWAR	REGULAR	200	OBC	DC	18	15	270	25	45	Draw of Lots	15	4
1741	From village Kushtala to Village Pachala on NH-116 (in district sawaimadhopur)	SAWAIMADHOPUR	REGULAR	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
1742	Village Kheda Rudhda,ON SH 9A ,Tehsil- Ramganj Mandi	КОТА	REGULAR	110	OPEN	CC	35	35	1225	25	10	Bidding	30	5
1743	Within 2 km from Central bank of India(Kunadi, on Nanta Road towards Kota thermal power plant	КОТА	REGULAR	150	OPEN	СС	18	15	270	25	10	Bidding	30	5
1744	Within 5km from Teendhar Chouraha towards Jhalawar ,On NH 52	JHALAWAR	REGULAR	150	OPEN	СС	35	45	1575	25	10	Bidding	30	5
1745	L.H.S. between Pali and Sojat on NH-14 (New NH-162),(Pali to Bar Road).	PALI	REGULAR	175	OBC CC 1	DC	35	45	1575	25	75	Draw of Lots	15	4
1746	ON EITHER SIDE OF SH 3 FROM KM STONE NO. 27 TO 33	SRI GANGANAGAR	REGULAR	100	ST CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
1747	Between KM Stone 310-315 on Udaipur Ahemdabad Road LHS ON NH8/48	UDAIPUR	REGULAR	150	OPEN PH	СС	35	45	1575	25	10	Bidding	30	5
1748	Malpura WML	TONK	REGULAR	120	OBC	DC	18	15	270	25	45	Draw of Lots	15	4
1749	Village Lawan on SH-2	DAUSA	REGULAR	100	OPEN	CC	35	35	1225	25	10	Bidding	30	5
1750	ON SH-26, BETWEEN 8 KM to 12 KMS FROM KOTA CHOWRAHA TOWARDS SARWAR	AJMER	REGULAR	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1751	Village Kachroli on Hindaun city to Karauli road (SH-22)	KARAULI	REGULAR	110	OPEN	CC	35	35	1225	25	10	Bidding	30	5
1752	RAJAKHEDA WML	DHOLPUR	REGULAR	100	OBC	DC	18	15	270	25	45	Draw of Lots	15	4
1753	Village-Kelwara on NH-27 (LHS) Baran to Shivpuri	BARAN	REGULAR	180	OPEN	CC	35	45	1575	25	10	Bidding	30	5
1754	BETWEEN KM STONE 1102 TO 1104 ON NH 27 , BARAN TO KOTA LHS	КОТА	REGULAR	150	OPEN	СС	35	45	1575	25	10	Bidding	30	5
1755	Village Barh Rooppura On NH-11A Extn (Lalsot-Kothun Road)	DAUSA	REGULAR	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
1756	Village Singwara on SH2, Tehsil Dausa	DAUSA	REGULAR	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		Dimension (in site (in Sq. M	· · · · · · · · · · · · · · · · · · ·		be arranged applicant	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7		8		9a	9b	10	11	12
1757	Village Toksi On Gangapur to Hindaun Road	SAWAIMADHOPUR	REGULAR	100	OPEN	СС	35	35	1225	25	10	Bidding	30	5
1758	Village Chechat ,On SH 9A,Teshil Ramganjmandi	КОТА	REGULAR	150	OPEN CC 1	DC	35	35	1225	25	60	Draw of Lots	15	5
1759	From lakhasar toll upto Sri dungargarh Ghoomchakar circle on LHS of NH11 (Bikaner- jaipur Road)	BIKANER	REGULAR	153	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
1760	ON NH21 (old NH11), between Sewar road intersection and saras choraha (LHS) towards Jaipur	BHARATPUR	REGULAR	155	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
1761	ON KANWAS TO DHULET BUS STAND ROAD ,ON SH 74(B/W CHAMAN CHOWRAHA & HP GAS AGENCY)	КОТА	REGULAR	115	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
1762	ITAWA TO GENTA ON GENTA ROAD (ON SH 1)	КОТА	REGULAR	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
1763	BETWEEN KM STONE NO 35 AND 38 ON NH 44 (OLD NH 3), LHS FROM AGRA TO DHOLPUR	DHOLPUR	REGULAR	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
1764	WITHIN 2 KM FROM TAN SINGH CIRCLE ON GEHOON ROAD IN BARMER CITY	BARMER	REGULAR	120	SC	CFS	18	15	270	0	0	Draw of Lots	0	3
1765	VILLAGE KHATOLI ON SH-70	КОТА	REGULAR	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
1766	VILLAGE ANWALI,ON SH 33(KOTA TO RAWATBHATA)	КОТА	REGULAR	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
1767	VILLAGE SALEMPUR, TEHSIL SAPOTARA ON NH 11B	KARAULI	REGULAR	160	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
1768	Uniara WML	TONK	REGULAR	115	ST	CFS	18	15	270	0	0	Draw of Lots	0	3
1769	WITHIN 3KM OF INTERSECTION OF BRIJNAGAR VILLAGE ROAD ON SH 51 TOWARDS SANGOD.	КОТА	REGULAR	110	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
1770	Village-Mayeja on SH-34	BUNDI	REGULAR	99	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
1771	On NH 123 towards Roopwas (within 3 kms of Dholpur bypass cut)	BHARATPUR	REGULAR	155	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
1772	BETWEEN AMAR SHAHEED RAJARAM CIRCLE AND RIDIYA CIRCLE ON SOORSAGAR ROAD: JODHPUR	JODHPUR	REGULAR	160	SC	CFS	18	15	270	0	0	Draw of Lots	0	3
1773	Village-Dangahedi on SH-29	BUNDI	REGULAR	106	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
1774	Nadbai WML	BHARATPUR	REGULAR	100	OBC	DC	18	15	270	25	45	Draw of Lots	15	4
1775	Village-Silor on SH-29B	BUNDI	REGULAR	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
1776	Village-Hathgi on Malpura to Ajmer Road	ТОЛК	REGULAR	120	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
1777	Village-Kachrawata on NH-148 D, Tehsil-Uniara	ТОЛК	REGULAR	180	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
1778	Kumher WML	BHARATPUR	REGULAR	110	OBC	DC	18	15	270	25	45	Draw of Lots	15	4
1779	Between km stone no. 141 to 144 on Kota-Lalsot Mega Highway	BUNDI	REGULAR	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
1780	Village-Sakatpur on SH-51	BARAN	REGULAR	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
1781	FROM KM STONE 10 TO 25 ON EITHER SIDE OF SH 20 (NOKHA- BIDASAR ROAD)	BIKANER	REGULAR	104	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1782	NAGAR WML	BHARATPUR	REGULAR	100	OBC	DC	18	15	270	25	45	Draw of Lots	15	4

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		Dimension (in site (in Sq. M	· · · · · · · · · · · · · · · · · · ·		be arranged applicant	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7		8		9a	9b	10	11	12
1783	Village-Gopalpura on SH-12	ТОЛК	REGULAR	140	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
1784	Village-Pachewar on SH-37 A	ТОЛК	REGULAR	120	OPEN CC 1	DC	35	35	1225	25	60	Draw of Lots	15	5
1785	on NH 123, (within 5 kms of NH 21 intersection at Ucha Nagla)	BHARATPUR	REGULAR	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
1786	BETWEEN KM STONE 13-15 ON SH 99(TIBBI ROAD)	HANUMANGARH	REGULAR	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1787	BETWEEN KM STONE 8 and 13 ON SH 2A (Dholpur to Rajakheda Road)	DHOLPUR	REGULAR	105	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
1788	Bayana WML	BHARATPUR	REGULAR	115	OPEN	DC	18	15	270	25	45	Draw of Lots	15	5
1789	Within 3 Kms of Sainthal police Station on SH55 (In Dausa Dsitrict)	DAUSA	REGULAR	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1790	Village-Kelwara on NH-27 (LHS) Shivpuri to Baran	BARAN	REGULAR	160	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
1791	within 3 kms of Rudawal Bus Stand on SH 45.	BHARATPUR	REGULAR	105	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
1792	village Chak Balrampur on Uchain - Baseri Road	BHARATPUR	REGULAR	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
1793	BETWEEN BADAGAON AND NAUGAON ON HINDAUN TO MAHWA ROAD	DAUSA	REGULAR	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1794	Bandikui Bypass (on SH-25, Alwar-Sikandra Road)	DAUSA	REGULAR	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
1795	VILLAGE THOB ON SH 28 ON RHS ON PACHPADRA-PHALODI ROAD	BARMER	REGULAR	111	SC CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
1796	Village Guradiya Joga, On SH 19A, Tehsil Pachpahar	JHALAWAR	REGULAR	100	OPEN CC 2	DC	35	35	1225	25	60	Draw of Lots	15	5
1797	SRI GANGANAGAR WITHIN CITY LIMITS ON MAHARAJA JASSA SINGH MARG	SRI GANGANAGAR	REGULAR	100	OBC CC 1	СС	18	15	270	25	10	Bidding	30	4
1798	between Indra circle, Nagar and Police Chouki, Gulpara on SH45	BHARATPUR	REGULAR	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
1799	SRI VIJAYNAGAR WML On SH 94	SRI GANGANAGAR	REGULAR	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1800	Village-Khelniya on NH-116	ТОЛК	REGULAR	160	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
1801		BHARATPUR	REGULAR	105	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
1802	Within 4 Kms from Baseri-jagner crossing on Bari or Bayana Rd(on SH- 43)	BHARATPUR	REGULAR	145	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
1803	Anta WML	BARAN	REGULAR	120	OBC	DC	18	15	270	25	45	Draw of Lots	15	4
1804	Between km stone no. 155 and 165 on NH-52 (LHS) Bundi to Tonk	τονκ	REGULAR	160	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
1805	Village-Dheerpur on SH-34	BUNDI	REGULAR	98	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
1806	Village-Chosla on SH-12	ТОЛК	REGULAR	110	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
1807	Village Deoli Kalan ,On SH 9A,Tehsil- Ramganj Mandi	КОТА	REGULAR	101	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1808	BETWEEN KM STONE 160 & 170 ON NH 25 (JODHPUR TO PACHPADRA ROAD-RHS)	JODHPUR	REGULAR	180	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
1809	Village-Ganeta on SH-37 A	ТОЛК	REGULAR	130	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		Dimension (in site (in Sq. M	· · · · · · · · · · · · · · · · · · ·		be arranged applicant	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7		8		9a	9b	10	11	12
1810	WITHIN 3 KM OF TIJWADA CHOURAHA ON DUNGARPUR BANSWARA ROAD VIA SAGWRA, DUNGARPUR CITY WML	DUNGARPUR	REGULAR	160	OPEN CC 1	сс	18	15	270	25	10	Bidding	30	5
1811	Village Shahpura,On SH 70,Tehsil-Digod	КОТА	REGULAR	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1812	ON SURATGARH PADAMPUR BYE PASS ROAD FROM BRIGHTLAND CONVENT SCHOOL TO SHAURYAGARH PALACE	SRI GANGANAGAR	REGULAR	100	SC	CFS	18	15	270	0	0	Draw of Lots	0	3
1813	Village-Siswali on SH-37 A	BARAN	REGULAR	108	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
1814	JHALAWAR WML	JHALAWAR	REGULAR	200	OPEN	DC	18	15	270	25	45	Draw of Lots	15	5
1815	PIPAR CITY; WML (NOT ON SH)	JODHPUR	REGULAR	120	OBC	DC	18	15	270	25	45	Draw of Lots	15	4
1816	DEEG, WML	BHARATPUR	REGULAR	100	OPEN	DC	18	15	270	25	45	Draw of Lots	15	5
1817	PHALODI CITY WML (BETWEEN JAGDISH CHAMDRA BASU PARK & AMBEDKAR CIRCLE ON JODHPUR ROAD)	JODHPUR	REGULAR	120	ST	CFS	18	15	270	0	0	Draw of Lots	0	3
1818	LHS Between Km Stone NH 165 to 171 on NH-21(Agra to Jaipur Road)	DAUSA	REGULAR	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
1819	VILLAGE RORA ON SH 87-A (TEHSIL NOKHA)	BIKANER	REGULAR	106	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1820	Within 4 Kms from outside municipal limit of Lalsot on Kothun Road (NH-11A Extn)	DAUSA	REGULAR	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
1821	ON either SIDE OF SH-7B, VILLAGE KAMINPURA	SRI GANGANAGAR	REGULAR	100	ST PH	CFS	35	35	1225	0	0	Draw of Lots	0	3
1822	Deoli WML	TONK	REGULAR	150	OBC PH	DC	18	15	270	25	45	Draw of Lots	15	4
1823	VILLAGE ARAUNDA ON NH 21(OLD NH 11), LHS WHILE TRAVELING FROM JAIPUR TO AGRA	BHARATPUR	REGULAR	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
1824	IN MALIA IN THE ALEMAN STROM RUDAWAL ROAD (SH 45) INTERSECTION)	BHARATPUR	REGULAR	155	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
1825	Village Nayapura,ON SH 51,Tehsil Sangod	КОТА	REGULAR	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1826	Village dujana on NH-325.	PALI	REGULAR	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
1827	Village-Basoli on NH-148 D	BUNDI	REGULAR	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
1828	Bundi City WML 1	BUNDI	REGULAR	220	OPEN	DC	18	15	270	25	45	Draw of Lots	15	5
1829	GOYALI TOWN TEHSIL SIROHI	JALORE	REGULAR	100	OBC	DC	35	35	1225	25	45	Draw of Lots	15	4
1830	With in 4 km From Ganganagar Circle on either side of Bikaner- SriGanganagar Road	BIKANER	REGULAR	169	ST	CFS	18	15	270	0	0	Draw of Lots	0	3
1831	KOTA CITY WML (BETWEEN RAIPURA CIRCLE TO KOTA CLUB)	КОТА	REGULAR	200	OPEN	DC	18	15	270	25	60	Draw of Lots	15	5
1832	BETWEEN KM STONE NO 103 AND 108 ON NH 21(OLD NH 11), LHS WHILE TRAVELING FROM JAIPUR TO AGRA	BHARATPUR	REGULAR	160	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
1833	Newai WML-1	ТОЛК	REGULAR	160	OPEN	DC	18	15	270	25	45	Draw of Lots	15	5

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*)imension (in site (in Sq. M	· · · · · · · · · · · · · · · · · · ·		be arranged applicant	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7		8		9a	9b	10	11	12
1834	BETWEEN KM STONE 20 & 25 ON SH 19 (PHALODI NAGAUR ROAD) ON EITHER SIDE	JODHPUR	REGULAR	105	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1835	WITHIN 5 KM FROM SANKHLA PHANTA TOWARDS BAJJU TEJPUTA ON SH 87- A (OLD MDR 37)	BIKANER	REGULAR	103	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1836	Vill. Mundri (SH-10)	BANSWARA	REGULAR	160	OPEN CC 1	CC	35	35	1225	25	10	Bidding	30	5
1837	FROM GOKUL CIRCLE UPTO BIKANER- JAISALMER ROAD INTERSECTION ON EITHER SIDE OF PUSHKARAN STADIUM ROAD	BIKANER	REGULAR	172	OBC	DC	18	15	270	25	60	Draw of Lots	15	4
1838	Village-Kharkhada Ramlothan on SH-51	BARAN	REGULAR	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
1839	FROM UNION CICLE TO GADISAR CIRCLE IN JAISALMER	JAISALMER	REGULAR	200	ST	CFS	18	15	270	0	0	Draw of Lots	0	3
1840	Between km stone no. 48 and 50 on SH-34	BUNDI	REGULAR	110	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
1841	BETWEEN SOORSAGAR BYEPASS TRISECTION AND RIDIYA CIRCLE ON SOORSAGAR BYEPASS ROAD	JODHPUR	REGULAR	160	OBC	DC	18	15	270	25	60	Draw of Lots	15	4
1842	Between km stone no. 91 and 94 on SH-12	ТОЛК	REGULAR	140	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
1843	Deoli WML-1	ТОЛК	REGULAR	150	OPEN	DC	18	15	270	25	45	Draw of Lots	15	5
1844	ON EITHER SIDE OF SH 20A FROM BIDASAR TO SUJANGARH (BIDASAR GOPALPURA-SUJANGARH ROAD)	CHURU	REGULAR	111	SC CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
1845	Village Mugena, On SH 70 , Tehsil- Digod	КОТА	REGULAR	100	OBC CC 1	DC	35	35	1225	25	60	Draw of Lots	15	4
1846	Within 3km from CFCL main gate towards Baran on RHS.	КОТА	REGULAR	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
1847	On NH-44 (Old NH-3) within 4 km of Dholpur NH-123 Bypass Intersection (LHS) towards Agra	DHOLPUR	REGULAR	150	OPEN PH	DC	35	45	1575	25	75	Draw of Lots	15	5
1848	BETWEEN GIRWAR AND MUNGTHALA ON SH-11	SIROHI	REGULAR	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1849	PHALODI CITY WML (BETWEEN NAGAR PALIKA CIRCLE AND TRIPOLIYA BAZAR ROAD INTERSECTION ON STATION ROAD)	JODHPUR	REGULAR	120	OBC	DC	18	15	270	25	45	Draw of Lots	15	4
1850	on NH123, (From Roopwas bypass towards dholpur)	BHARATPUR	REGULAR	155	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
1851	FROM SRIGANGANAGAR CHAURAHA UPTO BHUTTA CHAURAHA ON BIKANER - JAISALMER ROAD	BIKANER	REGULAR	192	OBC	DC	18	15	270	25	60	Draw of Lots	15	4
1852	FROM JN VYAS CIRCLE TO RTDC MOTEL POKARAN IN POKARAN CITY	JAISALMER	REGULAR	130	SC	CFS	18	15	270	0	0	Draw of Lots	0	3
1853	Nainwa on NH-148 D	BUNDI	REGULAR	155	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
1854	on NH21(Old NH11), within 4 kms of Ludhavai Toll plaza (RHS) towards Jaipur	BHARATPUR	REGULAR	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
1855	on NH 21(Old NH 11) LHS, (From Bhusawar Road intersection at Chhokarwada towards Jaipur)	BHARATPUR	REGULAR	140	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
1856	From Medical Chauraha upto Nagnechi temple on either side of Gaurav path (Bikaner city)	BIKANER	REGULAR	153	OBC	DC	18	15	270	25	60	Draw of Lots	15	4

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	Minimum D the	imension (in site (in Sq. M	· · · · · · · · · · · · · · · · · · ·		be arranged	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7		8		9a	9b	10	11	12
1857	VILLAGE BITHNOKH ON SH 87-A (TEHSIL : KOLAYAT)	BIKANER	REGULAR	102	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3

Volumes indicated are based on market conditions and may undergo change. Applicants are advised to make their own assessment of potential.

* The site should either be Owned or on lease with applicant for minimum 19 years and 11 months or Applicant should have firm offer for the same.

The explanation of the columns in the table is given in the Brochure which also contains detailed guidelines of selection procedure for dealership along with Application form and other relevant details. The Brochure is available at a cost of Rs. 100/- from the Corporation Offices at the addresses mentioned below. It is also hosted in the Corporation Website (www.bharatpetroleum.in/www.hindustanpetroleum.com/www.iocl.com/ www.petrolpumpdealerchayan.in) and can be downloaded free of cost.

APPLICANTS, IN THEIR OWN INTEREST, SHOULD CAREFULLY GO THROUGH THE "BROCHURE" AND UNDERSTAND CONDITIONS OF SELECTION BEFORE SUBMITTING THEIR APPLICATION.

Type of RO	Type of Site	Category	Applicati on fee in Rs.	Type of RO	Type of Site	Category	Applicati on fee in Rs.
Regular Ros	CFS	SC/ST	3000		CFS	SC/ST	2500
	CC	OBC	5000	Dunal	CC	OBC	4000
	CC	Open	10000	Rural ROs	CC	Open	8000
	DC	OBC	5000	1.03	DC	OBC	4000
	DC	Open	10000		DC	Open	8000

The facility for submission of on-line application will be withdrawn immediately after the cut-off date as mentioned above.

The tenure of the dealership shall be for an initial period of 15 years and renewable every 5 years thereafter.

This is only a notice inviting application for allotment of RO dealership and not an offer of RO dealership.

The Corporation reserves the right to cancel/withdraw/ amend this advertisement or extend the due date at its sole discretion without assigning any reason.

In case of any discrepancy in advertisement published in English Newspapers vis a vis vernacular dailies, the direction/information indicated in English paper would prevail. Similarly, contents of Brochure in English will be final and will prevail upon in case of any dispute.

For purchase of Brochure and any information with regard to the advertisement, candidates may contact the following address:-

Territory	Districts Covered	Address	Contact No.
JAIPUR	Jaipur Jhunjhunu Nagaur	Territory Coordinator (Retail) BPCL - Jaipur, Sanganer Installation Sitapura Industrial Area Sanganer , Jaipur 302022	9130042001 0141-2771994

JODHPUR	Barmer Bikaner Churu, Hanumangarh, Jaisalmer Jodhpur Pali Sri Ganganagar	Territory Coordinator (Retail) BPCL-Jodhpur, Salawas Installation Near Salawas Railway Station Vill- Salawas, Jodhpur -342013	7410888078 0291-2659565
КОТА	Baran Bharatpur Bundi Dausa Dholpur Jhalawar Karauli Kota Sawai Madhopur Tonk	Territory Coordinator (Retail) BPCL – Kota, Kota Oil Installation Vill. Brijeshpura, Tathed Baran Road - Nh 27, Kota – 325201	8872494999 0744-2863232
UDAIPUR	Ajmer Banswara Bhilwara Chittorgarh, Dungarpur Jalore Pratapgarh Rajsamand Sirohi	Territory Coordinator (Retail) BPCL-Udaipur, Madri Industrial Area, Near Rana Pratap Nagar Railway Station, Udaisagar Road, Udaipur 313001	9414004641 0294-2493147